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Section A

ART A INTd Al D
(Cost Accounting in India)

AT oRIIF @ gad 8¢ Wecd Pl UM H @ gY 9 1994 H & gRLICYT 3T De
TS gR] UHTSUCIeH M e (ICWA) @) SITOHT & TS| UG RITUET TRUEN §RT
AT HO FOH D BT H Dl TR ol | TG UHE IQYT AR oGidh BT YT <A,
QRIETT 9T dT UHIOT U ORI BRAT 7| 39 ARAT Bl 3fds TdadT Ug &R+ & fo1¢ e
ST oI@UTl @1 HHI BT RN B D folT A 1959 H BRE YUS gad UHISUSUCH M
SIN] B3IT| 9 HLRAT B Y BRI BIADBIAT H ¢ | AN oIl H AR I§ I KR
BT UHATH el B |

AT oRIIh & Hecd Bl AT U $HRd §U ST MATIH 1956 § FHY FHI WX
faf= s fpd T € R 9 @ deayel e 9 geR @

1. 99 1965 H ARd WRGR ® I8 FMHR foar T fh a8 feeft W Suvr & fore arvra org
AT AR EIffd dR Fadll © | ds ARBR A $9 ABR BT YA IRA g AP
YT & foIv anTd oig g7 A =iftg fhar ®) 59 sl & odntd oEl b
DL BRI B 7T ) YRT TRBN MY TR B Fehdl 2 |

2. faf=1 Sar & forg omTa <ifderar M (Cost Accounting Rules) 911 T | Y& &¥aeiT
& o D IR & W AIRY |

3. RT 209 (i) (d) # SR oGl B I@AT dT=6 ®U A Afard wx faar |

4. NI oGl Bl 3HfSfd IUARN 91 & 1T $HBT JHeT0 B & Yda 991 T | a9
1968 H oA ideoT Ufrdas 9% (Cost Audit Report Rules) 9/ 13 | 1T &1 €RT 227
(4A) H afid MAOCARO # #f} dT ol@ic | FHid  f[dwgail &1 Sl 13T o7 | 319 1
ST, 2004 ¥ MAOCARQ. &1 ST &#+1 3fifee Ruld ek (CARO) o] &1 T ¢ |

RTd SITd DX &l 3raldddr  (Need for Finding out Costs)

Th BIC W ORI FEAT § ofd) g8d WR R IR AT FHAT B dTell dwern
T® & oIy I8 adsd © & IR 9%g &1 N &I gdl oY | Iaexened |, Udh uare!
TP UM BT 4% MR TR BT 5 B AR AR B 625 © F TTEHI BT <l 2| T 98 39 <A
W UH < ¥ Ugd I8 AR T8 w0 & uH @ and ®&7 9€T SEH U @ ud fhae |
RIS, 9@ Ty fhda &1 deer, g1, GuR), gardel w97 3Nfe % fhy gam fha foem
R I, b oy B A fhad 999 WR @I, SHE & UBY WR o a A snfq | a8
SRT FIeY ST AT, T8 98 ST AJAM AIRGD o of IT b Ala BRTSl IR o[ o,
FIfh NG A0 B D I &1 98 IfT—3T UbR & Udl & AT —AT fdshd oI
iR & Faar — RR, S/ AUR FATd o™ HAMT &, B 8] Sl 2|




@ Wl §8 falier ual & aRwrend
(Definition of Some Specific Terms Related to Cost)
nra srerar yRega (Cost) -

TS TR H AN BT 1 AN W BT © | AN Rl A A1 G B U R B
fou fod T =gg a1 Aifed T B Fad bRl & | AN B 3 S b frg e aRemd
SYART B

AL UL, FTAvs & IqAR R ¥ R Td & I9 ART (@RS 37d]
HIAMD) I &, AT fHd a&] fORe W 31 AR © 1 IEY GG 8kl 3§ |

[rfefr @t oft. & SITaR aFT 39 ARl & 891dd &, e @ falre saeal o
Ul B B Y fbar war 8 A1 fhar S =ey |

IUYdd URAIRAT I I8 ST Bl © [P fHll avg &1 AT -1 A TR Tl 9
3T | BT YT IR B dTel W AN H A R I B

CIRGICECICEEC I I C A
(Nature of Cost Accounting)

AN AEdhd ® Udfd S & oy SREIRYT i DT U8 JIa UHISUcueH,
$TIU8 §RT ANTA i@ (Cost Accountancy) @1 <1 T8 URWIRIT BT SUIT &A1 B8R | 89
AT 7 NI @RS 1GR9 &7 & SffaRdad $HD! Yaplcl &I AT B g Pal & (b

AT TGRS, AN @I &l IS Hell Yd FaeR &8l Sfdl © | aNd @il &
FIER H TR & d=1i+ep ARl &1 UINT 37U+l HRIeTc | Rl 2 |

S & FaRed Ud WIST HHE Bl & a9 Bel Gl & | dNTd oERE & AT 3=
fgm=i @1 Af fd B8 ey Rigrd Ua 7199 & 3R I8 @I olhis aTd iR qer anrd
=T anfe &1 F9fed 3 81 39 MR R ARTd. UR oIFTd. oiRa¥TRS &1 fasia & Jof o
T AT 2 |

oRTd GRS ®ell W) 2, Hife sad. fafdre Afcat va gifafei fAfea € e sfa
TANT TS B HITAr W B R BRAT 81 AT U B AN AT DI AN D
JMERYT Gl & 4 8F & MRS TS URETT YT HRAT W AT ¢ |

AT OGRS FdeR 41 2 Filfp oNTd oiRgMITel 09 $hddd Ul & Tr+ H Jad
YA BT X877 | 596 U S AgT~ae 9 & F—A1 ARG 1, YRR Ua gy
0 aeas ©, 99 98 arg. e, arTa J@ied g anTd A= a] sifeadril a1
AT FH T |

faeHe (Wilmot) ¥ INTd RIS &1 Udhfd &l auie &Rd gy $9a bl H fFifa
®I AAT HAT & AN BT fazeryor, yaa erRor qaigam o 1, o -1, |qd Afefad
qAT IMALIH W QAT MM | AN oIl Bl AGT U SENSR, FHEREM g
qfosrgedT @ dR W 8l & | 99 SfAERIeR & dig |de el uRse uq e g = =nfiu |
HATGRTAT B i FoWT, T Ua ARG ol Hia—add] & dRe SHBT 9 9 A+d
@ AI—4TeT GRET g |red! BT AP ¢ |

CINGRCICICE R
(Scope of Cost Accounting)

I @RI BT &3 e I 81 S & BRI & AN o™i &I & 1 37fersh
MYF BT AT & | SHHT UG HROT I & b NI G o A7 379 Gl §aeb bl 9 e




wY H @ aragarfe Suhal, g fFamh, aaiRe  wHa uRagd Sushd Ardsifae SuUAR
e TRemy e IR Gk Firedl der JYARiue are sRudrd 9 fdeafdurerdl § ted
S & fOT9® SMER WR A dael FfFd avgell T UaH &1 S dTell Jargl &1 dNTar Ua o™l
DI AFANT Ya &1 fbar e § IR fafr=T fadedi 9 4 S f[Adedl & gaa & Fwe 4
Aoy forg i 2 |

A DT & Hifd [dbr BT sfagm fl s9e &7 & Hild [RAR I W Rl
2| NI oEihe & Sa¥d & U4 sl ddb (443 9L ¥ B ol Adee g e
AR § el =0T 7 A ol BT & uAia HHSI Sl o | Uk AdAR Bl
R fJe™ 8 R o@ied & T SURl 89 UlaftRl g foRgd wems ifverdl & dreve
Al o ofEreT Je=T &7 JMaead o UeH &) # AfAd U9 i Rig grar 37| g7
I3edl o g e & forg € foa df a1 ©: o A eyl Uq yeawial 9 9edd g
R @ A, g okt F8T SIar €, STuT UR™ &) e |

A SR & ISHd Ud IHd &F & (b BT RO I8 1 8T §-fb [ eRgie=
Uh AEATRIG IUHA & Jgd Hril (A, gemdie Icres Ua faavor gs=) 94 |wa
Sl VT oA UG XAl © Sl 39 B & A I |§ e at gl 8, IR, S
s O & uR=red fRrerdT ARl fagd fdeRer &1 1a Uril Sl & | AN oi@lde Bl
fam O oraied @ §9 AFT & R 3R & oy &1 ol ¢ | 3l I8 Y AHg &RoT
T gl © [P U JIA b TS AT RS YdH & b AU 3T & ®Y H AN olkdlh
I Y T [T FTAR § U UT DR H FerH UI bRl H [erd el 8 Ahdl, 94 db
DI IFBT JI IFD HHAN] dfbT GRIN U9 (Y FaR dAT W S, 99 S9d
AT el 81 |

o1 {6 SWRad fadem | W €, dNd odied & b Ua & b i~ Ud
[P U GUTGDBRI SUBRY & wC H 83T & | 3Dl YGW Savd YD a¥g AT Hal Bl AN
IR IFP1 fashg Jou MEIRT HRAT 2| 519 IR TG FAS & AUD {2l BT gftedd hdx
S fIHT™d & HRON B TS A S & kil @ d I8 S BT & b 39T U U9
HRUT FAIG IUHHA BT YRATAT HRAT-H AWglg HIAT 91 8T 2| $Hb =< U
e 99 W S H TUT Y-S ARG SUDH D SUAL ARl BT Adherd] SUANT W
fFar <1 |W&Har 1 g9 9SS @ U e @ Afd @ gHe el § ana—faveme
ARTA— I GAAT—IRNBROT, ART—AT FABT BT LAV TAT I AR TR 3
Aol @1 a9 faviy wew far S o B |

ARTd | AT
(Cost Concept)

AR OeG & HY Rl 7 IR a1 Bfos B | AR e§el § gaaT sref fadt
XY AT Al B R H A T qRAfdD JAerar fhd S dTel AT @@l B M W g |
T gfcHIvr | gaad! ref a1 9ral R R FRaT 2 (@) R a1 SERT @1 UG, Jr @)
g8 I<d, OrTH 39 Isg BT TN fhar ST %7 2 |

Tdh AR § TTef famd U9 faavvr @1 989 &H B 8 98l Uh av B ANTd &I famy
Uq faaRur =i &1 &= 7 Y 1 & 99 B S Faar €| g, S AR H el aw] B
Uit 39 UBR dle b A%y va faarer g 4R /131 § )4 USd 2, AN GREET AN
PRI AR fasha & AT 8 Adhd! & IR TE 9% & a9 & Th Ag BT W AN HEd
2| Q&R & oy g1 T H AT 59 9 Ucdel gl bl |Aifeld aRd © | il )R Y
P TS M B FEM B AT T HH W I B TS M BT H BN AN bed 2| 39
YhR AARTd g BT bel TART HRAT P 8id] & 59 SffaRad fafe= omrar &1 fir =1

Il & fog & fbar mar & | At sl (work in progress) @1 Jedied e AT




TR fHIT ST B 1 39 UBR 3T Ps IR0 ST ST FHhd @, Sl I8 S & b AT oeq Pl
a1l ycdes uRRefy 4 v o1 =81 eiaT |

gl I8 9 N e <9 Iy ? 6 AfYad o1 9 amd S 18 a8 g,
Rife dls N g fe ad gRRufaal & | Sewal & fou 9 T8 8 a1 | Sded 3
AN & ®s Aol Bl VRed U F AN H Sirel off Jadl 3, ad S9! axg a1 &l &1 97
= AR o |ahdll €, STa@! ANTd okdidd & fagT<i @l 3fage T W 7 g 8| U Aal ¥
BN US A% © | 39! IR 8 Fbrer &l Ugell & FgaR aRad-1g 8rfl | R 59 95 @1
T fhar ST =2y fob 9 a1 |arell o W™ad: Wel drTd udl o g |

T ®T a¥ffeyor

(Classification of Cost)
% a8 BT A B H A UeR & @9 81 2| 39 UBR Har & gid 7 of
@% 9 fy I 21 A N T I 9 B AN H i Ry S g1 g feef o ag
@ | 7 Il 59 9 3T Ff BT ANTE™ BT & | 9 fafIT @l @1 aRfieRor € anTd
BT BT HEATT & |

faf¥f =1 <ImTa sraeRemy

(Various Cost Concepts)

1. 98 U9 3ryae orTtd (Direct and Indirect Cost): Y& Td 4 &Ta & S faedt
I HAT AT BRI TS FU W G A W R B O A | TR |l A el avg
DI gHTs AN H IS fHl ARTT BT 9T W HG  SHET off FHdT © Al 98 JIe ArTd
2| o foefl falre amTa @ s1eraT arTd 3618 &1 wvul wu & faaRd & o A&
Il ATTT BT YheT SNTd AT Jel oI e & |

Y AN I8 AN © ofdl (bl T Bl 3PS AN AT AN DA q FHET & DI
ST |ehdl i U g% DI NI H B dNTa $I F¥ed va ARel 4R gdM=T BiSH B8
al g8 YL oI 2| 39 SURFT & 91 A W 9 2 [ o gadrg I gefRrd
fopaiall IR Wfed W ¥ Bl SR & SR SABI AN bl AT AN shigdl | Gaargdd
T WRAAYdS T AT ol T ST HhdT |

2. gfga anrd don sEfgd @rd  (Relevant Costs and Irrelevant Costs):
IHfgd dRTT 9 AN B, ST geawrar oy & 9ea SR, Sefe srawfgd arnTd 9§,
< foota 9 srgafag jeft |

3. 3Iafer ¥q Sare drrd (Period and Product Costs): o & < 57 eafr § @
S 2, S A & R B WM W IR I AN BT 3 99 SIRH 8, IUTE AN AraT
I AN dEArdl B S W qedl d afwferd fear Sr 7 fadie feron # o=
ANTIT B1'SH 9T TP FHfT H91 ST &, 9 b b 5 917 & 9 awfd @ 18§,
I8 AT 99 7 T S| S 9HT 7 FY 99 Ol 2 1 A AN it g aRad=eie <
& B Aol 2|

T NI S SR ¥ 9Hg T8l 8, WA drTd Yhear 21 3= ford raefT #, 519 I @
S B, < 3afd &7 g AT ST g1 A W it qorr uRadeeie & dadl ¥ | i anrdr
H T YR ANTd, [ Ul A1 SHeTRAT BT da- 3R BHIRM, Hrafad giaersi
R BN S AN AFT Y dl EE—aFd, 39 9= 4 HAddd T8l §| B
TERIRERT &1 Ads 2 & R W and '/ ¥ ot gWd 2| oo 9w &




faafor @, o uRaa+eiar fafor o & Sare ara iR Rmi fEior @
JAR—FTTT B, IR I8 GRCHIV HIA=I el 2 |

4. orcfid ©d raudia @vra (Expired and Unexpired Cost): 519 ¥ &g <ag foar Smam

A

(=]

2 Ol 99 URUTHERRY FHiol weem el fhdl |ar a1 IuAfer &y gl &1 o3 ar
U qa1 A1 SYAIATAr s fOd 9 | ol w5 | U @ Sl 2, O — SHaRal o e
TIT 999, YT Y, fahy Ay Y| 39 UBR & B I YT Fid ANTdl Dl
gofy § B T | WEqT J FY VP (daid a8 H & am—aI" TG H AR 99 B, a8
SGT A AT BT AT T, I A B AN F B oM 2| Al =t wy o
AT 91 & ©U 4 ¥ BT ®Y GRUT BB AT AR 99 St 2 (FET 7 B1oag 9T
S fadg 9 & 98 a1 2, SHSY oI BT 89 AT oid bed © |

ey w7 # 9 At & Goligd o 9 fy & w9 7 g § <y S 29 srerdd
ANTd BTN & | 39 fauia {59 ARTdT &7 aTe] 99 @ 3TFTH ¥ aTol dYa. 17 faavot #
TIMAT ST ®, 9 AId R hear © |

. IX& drTd (Supplementary Cost): TR @A ¥ 3R ®d AN H ¥ Hol AN G

WR ST Y AN gl 8, S9 RSP AN ded o | 30 SURAY & AH F Al S 3 |

. 3guaE 9 fasr @rrd (Research and Development Costs): |Armfll & 9 gamT

T 3 fAfERT Teh=NipT BT WISl B BT AN BT AT AN Hed o | fhdl 78 =g &
Saared a7 3 fafyy o1 fAefid a1 @) oavTd fae™ T dgel © |

®UARYT Ttad (Conversion Cost): @@l AT &1 IR AT H dqa &I INTd
{HUTRYT AT hedil & | S99 AT B ARTd Bl INfiel Tl fhar SIrar| sad  ueueT
ST, Ue ¥ TI HREHT SURST A fHy a2 |

8. fofy @md ¥9 A@i®a «@rrd (Decision Making Costs and Accounting Costs):

ol T 9 AR ', S ddd S Refd # @y Bkl B, o Rafa 7 S99 wW A
foar foar Smar 21 ora: 9 faf¥re Se3g & AT el 2 | bl A4iie TN T8
BIAT |

9. HHE=Al qAT §9d dNd (Shut-down and Sunk Costs): RRN HSARAT SIH Heel

10.

11.

AEE B HH AT aLID AHDBT BT oWl 3G & BRI Y AT & §RT IT AT YT
PR ITell U AT & §RI-IAU fhdieli &l Bo 999 & oy < fHar <1 ¥aar 21 59
Ay # By BRI AL fBar SIl, WReg 9a BT BT G 1, @Ive BT B g I
g anfe a1 B & 2 | ey wive 31 U anrdl ®f dH—awal dnd bed © |

S9d ANTd UfreNe, @d 81 A 9 NI ®, S T @t fw vl | s @
TS qAl

fra=ofia d9 sfa=vfis @mrd (Controllable and Uncontrollabed costs) :
ferizoia GRTd 9 AT B, S U dad @ faf¥ie 9ew @ pRiarel | g9ifad 8 dad)
21 S o 9 YR yufdd =& 8 Fahdl, 9 =i i deard! 81 U SR
BT IR B3 SaRaIId sl H 9o 8ar & 9 3 Ts, v @ ta i SR @
RS 7 BT 2| fET a1 ArTa SRl @7 SR dHad Sl Usgelt @1 arra fEfa
PR IHhdT 2, Sl STD TeT ™ &7 ¥ 3 8, 3T AT T2 |

yRerd d¢q smufRerd «d  (Avoidable or Escapable and Unavoidable or

Inescapable Costs): 9 @RI W1 GRIed & MERT ¥R W T8 & S+ @1f2Q 7ra
g TRy, URE™ dFTd A1 R @1 S AP dlell AN HEAT | SITERIOM, STIRoT




12.

13.

14.

15.

16.

17.

UG AT 3 31 IrRN & &l IR | 59 Tl | 99T SRIRIg § 1T S 8Y
gRRYfT 7 Bt 8, 7 uReER ard wearl g1 Serexoned, Al & AR e @Y
IKINGH

IRIfUa a1 dR&feda @rd (Imputed or Hypothetical Costs): @ @R S &FTd
oEl W Affed T8 @1 I, g e yeEeT g1 o o & fou e 9 <@
NI AMALID B, I IRBUd AN Byl 2 | SRVl & folg, Goll W &l arTd ol
¥ wftafera 8 frar Sirar, auft 9 fadg orar 7 srawy foran rar 2, dfes 59 uRRefy
F o 31 gRAToRl # Fog Y RIER—aRER T8 Tl gdudT & oy I7 mavad - ©
6 o RIS &1 A dArerRdar FEiRa &k & foft Yol R &1l &I &9 | 9 |

=g, gfg a1 &M @ «rrd  (Differential, Incremental or Decremental

Costs): 31 fAFHcdl & & Had NG H TR B FWF AN Fed & | e fadbed &
T W G AN ¥ g BN B A1 9 g8 ANl B Ifg AN FEd 2 | UKAfad aRkadd=
@1 AmeraEd FEiRa wd T9a gfg anmar @1 gfg M | ol @ S |

&g ard (Out of Pocket Costs): s aref flt ool & wvg=er & acq= ar wfasy
& dHE I A 8, o 5l fofa @ yefa & s uRafda grdr e | SereRmone, v
A T U FHedl AR g IR AT BT U WU H G WM W of S & oy W@
® TH 2| 9T 39 THI D WM I A of IM & AT, a8 BT YANT FHRAT el 2 |
9 07 B oF H YgEd 9ol B Tl b B DI I WAL W, IR U, SISARI DI
I, @A AME TR T AdHe I AT &9 | @ed & W | VAl ANTal BT ADha
AT HEd 2 |

IqER dFTd (Opportunity Costs): AR AN W I 89 Hifad o & g, Rrasr
ol WU 9§ AG—dg d¥d o AR Syl Jiaemil &7 UIRT 9 98l M & BRI Ble]
TSl & SareRY & fory, Ife U fEiar U &g @ o Bl [ WR SO B W@ W
AU T OC P WMUAT B U Uged dRa1 © A1 S @A e arel fRR @i
BT BET| PR &1 I8 ANT & IR AN & RIEdIT 9 W0C B AMGRI]
FReiRd &R F9g &= § @1 AR |- UbR U i & aegg i 7 9 {6 v
fAdhed I - &I TARIT 37 Fahell 3 -

Ao ¢q AR—arguariviig a1 9= @nrd (Traceable and Untraceable or

Common Costs): 5 rTdal &1 fbdl 9T, Ufshar a1 a&g & T 9 gt fdban
ST FHAT 8,  AFANIONT AN & | SaTexvne, Ue AR Ud Uil 19 P d SN |
S AN §9 UBR Bl S Sff Febell, I IR—IFFANON T A AN © | T8 Teal 4
A AN 9 ARId- 8, Wi 98 9 dNd Sl R OAFfRd w9 W @ T8 8 aol
UIb—YAqdh AN b=l I A RIfd A b oy SFer smR R e &
TS Bl | BaTeRvNe, HREM & folg Argol &t ¥ fHy 77 IURGY, U U901 H 98d 91
AEURT BT B B B ARYed HI AN AT |

TG AN Ueb YR I AHRI AN &1 8| 59 Ueb & Al 0 a7 Ueb &1 fsbar & <
T Al awY ITfed B SR 7, AT QN AT AT UihAT B AN Y AT el
g | SEIERMY, STd HUTH $T &6 TAT BUN BT M TP & ded] AR 4 Sanfad by
S ®, A1 gorgaxvl g d@ &1 18 aFd §gad and 8l |

Sareq ylmas ¥a fama sk faaxor anfe @mrd (Production, Administration

and Selling and Distribution etc. costs): Ta @UR® ST B 980 A BRI B
B 7, SN— IdTed, W, fasa 9 fadRen, o g9 few enfk | e w1 @ o




AT ST BT A= 3Maedd 2| dice SWicIe 3h HoiHe Td¥<<H, 7S o 3

SNTal B o= g aR9ia fbar &

R T o

JIATed T (Production Cost)

URIAT I Td (Administration Cost)
fasha Ta (Selling Cost)

fIaRor rTd (Distribution Cost)

fa®rT STd (Developemnt Cost)
qﬁ—a—cqm I Td (Pre-Production Cost)

oNId A9 &I gfaferar

(Techniques of Cost Accounting)
AN =T B DI S At & AfaRed awed! §RT ANTd aid@idd @ frsifda

gfafedt it a1 SR 9o §B YeaEa R o 39 YN A @R oIl § | 3 R

A B D WA gl 8l &, dfed qoid: AFTa Ufdferdil &, ST FTd S d-d @ fafet
H ¥ A @ off AT gaIeT B gRT 0T o W START @ S A © |

1.

w

UATY i@is (Standard Costing): THIY i@ &1 FH=T AN A R & FHI
H 2| 39 U & oria el axg @1 T 89 9 gd 81 SH@T arTd @1 gH
FeiRa &= f&ar Sar § | 999 anTd 6 g8 &1 FHEvaT 89 9 qd SHST AT 6
JaidE BT 2| S 99 O] $I AT B ST § A 89 a%] $I dRKidd R
SN S R ol SRl 8| O @l dRidd - AlTd S9! YA NTd | 649 A7 31ed
B P! & | IRADdPh AR AR YA ARG H R & BRI BT [a2elyor fHar Srar
2 3R Ife Irdfae orra afte @ @ S99 frafaa o & ga e o €1 39
JhR YA R | 3T YATY AN Bl GIR HRAT SEH! IRAdd AR 4 el
BT M R & HRON 3R R & {53l &7 fazemor &= 4 2|

Ar=a d@isa (Marginal Costing): fhT axq &1 A= @Ta ST 6T da I8
ST BRAT b fH g & Iera o el o J131 # ulRads &1 dri IR aT yrg
TS, WA SEih BEaRi © | fdl I & gdqH Iared A3 H U Shlg Bl
g B A ol AN H ST ghg BT B, S 99 A% B Al AN b o |

. Uae a@idA (Direct Costing): Scred fhameil e SATRT @1 aRTd H $hdel Uode

SANTAT BT M. BIAT TAT YTLT ARTAT Dl ATI—.T W I JuforRad &= & forv
Bl T Y& IIIdhd el © | I8 M ofdidd 3 9 91 4 o= 8 5 g
ReR arTaT @1 i I uRRefeal & ycaer IRTd HHe ST 9ahdTl 2 |

. Jalneor <rEi®a (Absorption Costing): afe Iaured fhaiel qom IRl &1 AR

H ReRr IR yRad=eiar 9 W=l &7 affafera &x faar Sirar & a7 39 J[@eNyoT oiRdid
Fed © | 39 Gl o ded ©, Jdife 39 fAf & srata wegel nTa Scared
BT AT BY feAT ST B

ey d@idd (Uniform Costing): afe fafi= SRemell gRT U@ &1 UdR & aNd
RrgraT Ta gfhamel &l -1 AT & d 59 999Y odidd ded 2| 59 Ul 9
URERS o1 § FeRal fAed 21 $9 UHwY dANTd oRkdih Wl Had © |




ARTd @i gotiefll @Y qd mallasarg
(Pre-requisite of Cost Accounting System)

ST TRITR I TG YUTTell AN &R | Yd 711 aegahdiali &1 GRT BIFT1 AT &

1.
2
3.
4. oFTd & A= qal srafa wmEfl, oW 9 SuReyy anfe & oraidd & Sfud asawen

9.

ST & O arel) o @ favg ¥ gof e B9 =Ry |
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(Procedure to Install a costing System)
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(Material Control)

el qeg @1 Scured ¥ AT |alfers Aecayol YT a1 BRal 81 S DR AN
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Al f=or |e (Material Control organization)
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WUGRYT fIURT, SINTT i@ fIURT 3R 3ThetoT fAumT | 39 37T faurT & &l &1 fJavor 39
JhN &
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%9 fawrm (Purchases Department) — g9 QMm@ ua™ & %3 IfEOaR
(Purchases Officer) &&d & | ARt & e 3 {6 rawerr a1 & 59 fO9rT &1 a1 2
e e FrefRad gaameii @ srawaaar gedl 2
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A & YT R S 39 faanT @ ve A 9 B e R wRowd &l
FRTEAT a7 Rl ST 89 fa9TT &1 v SR | AFEh @1 0T Q9T SRAT W S
T &1 w1 2 |
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@ wiita, fe g9 v e 9g ® S9a 99 1 9aM a1 o W vEdr ¥ 39
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A =01 @1 gfsear (Procedure ofr Material Control)
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DI A AET Bls W B USEFl Wl B dUT bl W&l BT S Al e 9
e T AW @l BIdT & difd d Su-—3fus oidl H ufafiedl ox A | Al g
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2. AT & B T U R o1 @il sy eI o |El A1 H |l {6 @l
AN B Fel GHT R SR el W U SR W Rl Al 2| ARl %9 W ge
=T ARl B @1 B ufhar R R SRar § | I8 gfhar Fefaled e ©

Al B 67T el By B ufhar By AT § 99 99y UR® 21l § dfe ©d
faurT & 9l H B U s fAuET @ Y |@—uF Ut BT 2| By Ai—uel faunT
& 99 WR foRar AT U UAT Wi ud © O Y faumT o 99 um # afofld arEh
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( Control over Issue of Materials)

TR T 9 9 qwIaar Sdred Rl @ waen Sndl w ) Al &1 feiee

FREAYdS AT BFT A3 | $9¢ oM # Al & SWUAR BT WA 91 &l © | IS
ufspar frifed ger 2nh:

wrrft faer (Bill of Material ) dar &

Bill of Materials
Department............
Code No. Description Unit Sanctioned | Issued/Balance
Quantity
c/15 Cement Bags 50 5/45,10/35, 15/20

Iugad AT f9e BT FAHAT I8 Udhe dRal © b FRiud Iuhrl Bl A< & del
50 Bc WIHR [FY T o1 | UYA AT 5 BTl &1 o R 45 S o UY o, AT AT 10
HTh BT AT 3R 35 HT (50—15) AT & AT TRT FRIAA 15 Hel &7 o 3R 20 dc AW o |
3 TR A T el AaR 30 de FRiAT fBd S ga € iR 59 SusrR & SaR!
DI 3 W B & U 3@ FHaed 20 FH AR @ AGR AR 2| IT SHH SART e B
3MATARAT TSl & Al AT T § g Wafa o 8Fff| 39 aR 9l & uer W
=T 81 ST g

2, wrfy | = (Material Requisition Note) daR &1 :
Material Requisition Note

The Store Keeper
Please issue the following :
Department.................. NoO..........
JObNO......coviiien, Date........

Serid Code | Description Unit | Quantity For Cost Accounting Use
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No. No. Rate Rs. Amount Rs.

Indented by............ Issued by.............. Posted by.........
Approved by............ Store-Keeper............ (Cost Clerk)

[llustration 1: In a Factory components A and B are used weekly as follows: (T& Hhacl § A
3R B UBR &1 AUl Y& Awle 7 ISR | TART &I Sl )

Normal Usage (A1 SR 150 Units
Maximum Usage (3Tferdad Su+iT) 225 Units
Minimum Usage (]IFdH I9HMT) 75 Units
Re-order Quantity (4: TqeT A=) A 1200 Units
B 1800 Units
Re-order Period (g amrcer afe) A 410 6 weeks
B 2to 4 weeks

Calculate for each component: @& Y&R @ AFEl @& 4 R W™ aR&bad HifsTo):

(i) Reorder Level (4: 3MQer W)

(il) Maximum Stock Level (3ff&rdd i &)
(iii) Minimum Stock Level (RIHd it FR)
(iv) Average Stock Level (3T fdh wiR)

Solution :

Calculation of Various Stock L evels

(i) Re-order Level =(Maximum Usage Rate x Maximum Re-order period)
Component A = (225 x 6) = 1,350 Units
Component B = (225x 4) =90 Units
(if) Maximum Stock Level =(Re-order Level+Re-order Quantity)
-(Minimum Usage Rate x Minimum Re-order period)

Component A =(1,350 +1,200)-(75x4)
=2,550-300=2,250 Units
Component B =(900 + 1,800) — (75x2)

=2,700-150=2,550 Units.
(iff)Minimum Stock Level=
Re-order level-(Normal Usage Rate x Normal Re-order Period)
Component A =1,350 «150x5)=1,350-750=600 Units.
Component B =900-(150x3)=900-450=450 Units.

Minimum Stock Levl+Maximum Stock Level

(iv)Average Stock Level=
2
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Component A =600+2250 =2850 = 1,425 Units
2 2

Component B = 450+2550 =3000 = 1,500 Units
2 2

[llustration 2 : In manufacturing its products, a company uses three Raw Materials A,B & Cin
respect of which the following apply:

g e w9 # faavor 71 gaR 2):

UH BT IR Gihar H 9 SR & dedl ARl T iR A ST TN Bl

Raw Us_age per Reorqler Price  per | Delivery Order Minimum
Material grrg; weiKa) Quantity(kg) | Kg.(Rs) period Level(Kg) Level (kg)
: (weeks)
10 10,000 10 1to3 8,000
B 5,000 30 3to5 4,750
6 10,000 15 2to4 2,000

Weekly production varies form 175 to 225 unitsaveraging 200 units. What would you

expect the quantities of the following to be?

(ATaTRd IUTeH BT fage 175 ¥ 225 §HSAT ddb & Sl ia— 200 & | 4= AT

@ fawg ¥ 3yl FTAM FT 8) -

(b) Maximum Stock of B,
(d) Average Stock Level of A.

(& Maximum Stock of A,
(c) Re-order Level of C,
Solution :
Maximum Stock of A:
= (Re-order Level+Re-order Quantity) - (Minimum Usage Ratex Minimum
Re-order period)
=(1,800+10,000)-(1,750 x 1)
=1,8000-1,750 or 16,250 kg.
fewofl : REH ITART (Minimum Usage)= 175 units x 10kg =1,750 kg.
Maximum Stock of B :
=(Re-order Level+Re-order Quantity) -(Minimum Usage Rate x Minimum
Re-order period)
=(4,750+5,000)-(700 x 3)
=9,750-2,100 or 7,650 kg.
fewuf} : ]EATH ITART (Minimum Usage)= 175 units x 4kg =700 Kg.
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Re-order level of C:
=Maximum Usage x Maximum Re-order Period
=1,350 x 4 =5,400 Kg.
feaoft : fdeman IUMIT (Maximum Usage)= 225 units x 6 kg =1,350 kg.
Average Stock Level of A:
=1/2 (Minimum Stock Level + Maximum Stock Level)
1 (4,000 + 16,250) or 10,125 Kg.
fewfori (i) A ARl & (Minimum Stock Level &1 aR&a
= Re-order Level — (Normal Usage x Normal Re-order Period)
= 8,000 — (2,000 x 2) or 4,000 Kg.
(i) <fdreas Jrel &1 W) (@) @ & & UT B &1 2|
(i) A 99T (Normal Usage) = 200 x 10 Kg.

[llustration 3 : From the following information, calculate the economic order quantity and the
number of ordersto be placed per year:

(Fr=forRaa gammetl & onfdfes ameer AmEm qen uft a¥ e S arer el @) |w@ar &) [T
HIFY |):

Annual consumption (@& ITHRT) 800 Units
Cost per Unit (dfcT SH1E o174 Rs. 30
Annual return on Investment (IFANT W g™ aifife <R) 10 %
Rent and insurance expenses per year Re. 1
(@ foxmar iR drr <o)
Cost of placing an order (IftT 33T SATT) Rs.100
Solution:
TP /2c0

Ui

T8l Rk C=800g®Edl ; 0=100%; U=30% ; 1=10% +1 % (WUSRUT &I Td)
SR B G H YIRT a3 IR FfaiRaa Refa gnf

o / 2% 800x100
N (30 x10%) 1

. J 1.60,000
4 = 200 s&rsdm ufa sy

ay # & S arel e @ wwar = 800 /200 =4
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[llustration 4: Calculate the following form the information given below, (Frr <1 18 g=1 9
ferefaRaa sra o)

(&) Re-order Quanitity , (b) Re-order Level (c) Maximum Stock Level; (d) Minimum Stock
Level (e) Average Stock Level

Information (¥=TY):

() Total Cost of Purchases Rs. 40. Per order;

(b) Purchases during the year 10,000 Units;

(c) Purchases price Rs. 100 per Unit;

(d) Storage cost 5% of average inventory

(e) Re-order period (Lead Time) : Average 20 days;, Maximum 30 days and minimum 12
days.

(f) Consumption : Average 30 Units per day; Maximum 40 Units per day and Minimum 20
Units per day.

Solution :
(@) Re-order Quantity ()
¥ P =/ 2co
AVARRTT
Jgl .k C=10,000sa=3a1 ; O=40% ; U=100%

|= 5% (Storage cost as percentage of purchases price)
SWRIT B G H YIRT IR W

: \/ 2x 10,000x40 = /2x800x100 =400 Units

(30 x10%) +1 5

(b) Re-order Level :
7 : Re-order Level =(Maximum usage X Maximum Re-order time)

or Re-order Level=(40x30 ) Units =1200 Units

(c) Maximum Stock Level:

7 : (Reorder Level + Reorder Quantity ) ((Minimum Usage x Minimum Re-order

Period) or Maximum Stock =(1,200+400)-(20x12)=1,360 Units.
(d Minimum Stock Level:

7 : Re-order Level — (Normal Usage x Normal Re-order Period)

= 1,200 «30x20)=600 Units.

(e)  Average Stock Level :

A ¢ I (Minimum Stock Level + Maximum Stock Level)

2
=1 x (600 + 1,360) =980 Units.
2

[llustration 4 : Vansh Limited puoduces a product which has a monthly demand of 4,000
units. The product requires a component X which is purchased at Rs. 20. For every finished
product, one unit of component is required. The ordering cost is Rs. 120 per order and the
holding cost is 10% per annum . Y ou are required to calculate :
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() Economic order quantity , (ii) If the minimum lot size to be supplied is 4,000
units, what is the extra cost, the company hasto incure? (iii) What is the minimum
carrying cost, the company hasto incur ?
ge foIfics 4,000 SHTgAT DI ARYS ART dTell GG I9GT 2 | 9% § Yo gch

DI LD & T4 20 ® WR B fHAT ST € | IS IR 9 & oY geh bl b

SHIS IS BT | IR B AN 120 ® YT IMQ & AT gRSG ard 10%

qiffe 2| 8y fr=ferRad & T BT

(i) onfde smasr A=,

(i) af AT T T MHR 4,000 SHSAT BT & AT HFT &I fha AfaRad
ANTT ST ?

Soloution :

(i)  Computation of Economic Ordering Quantity
: P g/ 2CO_ Where : C= Annual Consumption
ul

P =EOQ
O = Cost of Placing an Order
Ul = Storage Cost per unit per annum

\/ 2x 48,000Unitsx Rs.120 = \/ 96,000 x 120 = 2,400 Units
10% x Rs. 202

(i) Extra Cogt Incurred by the Company
Total Cost = Total Ordering Cost + Total Carrying Cost (When order size is 4,000
units ):
=12 order X 120 + 4,000 X 1/2X20X10/100
=Rs. 1,440 + Rs. 4,000=Rs. 5,440 ........... 0)
When order size is 2,400 units:
Total Cost = 20 ordersx Rs. 120 + 2,400 x ¥2 x 20x10/100
=Rs. 2,400 + 2,400=Rs. 4,800 ......... (i)
Extra Cogt incurred. by the company (i) — (ii) = Rs. 5,440 — Rs. 4,800 = Rs. 640
(iii)  Minimum Carrying Cost
HUSRYT AT & T 371Qe & AMBR W R HRAT & | I8 <[99 qell 4
BT & Ofd faF T IS BT IMHR HH & |

Sad UIT § T ST BT 3MBR PHHI: 4,000 SHISAT I 2,400 SHISAT BT
ST e H W 2,400 $HISAT B 3N BT AMBR HH g, 3 39 IS W)
YUSRUT B AN =IATH BT |

9 Retfa § =g=aqq woeRY arra 74 g&R gri:

=1 x 2,400 units x 10 x Rs.20 = Rs. 2,400
2 100

Tl ¥hel T & fog I8 U AEaqel daie € 1 39 9d 98aR e adH s
f HET AT 8| 9 IO B AJAR WUSR ¥ W M dTell ol AT BT d4F a0, ger
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(31),(@),(7) ¥ fawad = f&ar S 7| avqgall ol fafe=T avf 3 favad o= &1 /= SR aR]
HT Jed BIAT 2| fB=f 1 ST & ygad & 9 arell fAft = 791 7 {8 W< 39 UBR B el
g, O Joricis w9 ¥ 31fd Jegam U9 we@yel Bl § a1 I 7 WUSR—IE # ! g8 @
AN & oI & AR 9T BT YRR SRl 21 31 39 UBR &I Aal W (e Fad ud
HOR =T B ravgHar Bl 2|

Al &1 A= 75T &1 39 YR dHTeReT AR anfdfe sesr A & ReiRer 7 off
IRTEH ST & | AT @1 A&t &1 fafiet oot 7 aeffaxor 9 awfd faaver siferfed yaR &

T (31) - 39 o H VA 7R @7 @A fHA Sar 8, S JoMioAd wd W Sifd Hegard ga
ARTT S # #Eygel Bl B | 39 USR @l ATl a1 A&T B A S i Bl 2, Uveg
G A & eI @ ARG W &7 gl FRa €1 39 9 @ 7el BT B w A
iferes goft @1 fafrare™ & gt 7|

T @) - 39 9 H ARl o O #el @1 Affad R Sar g, S ad o §oatfed @ TS
HET BT Gl H H BT qAT HH Heayol 81 & | 36 UbR DI Ha&l Bl Hd HR H Yoil
ggd AP el & AR 7 agd $H |

T (F) - 39 T H 9USR I8 H @I T3 AW B AN AT H W FHH Hed arell Aal Bl
| fBar ST 21 39 ISR @1 Gl @1 A9 G H Ar siYd Bl 8, W] 9 &
AR & I & T BH 9N BT YRR dadl 2| fds 6 TR & aRGAT & Hd B
H B9 Yo B STTawIdmal sl 2, fd: VAT a3l BT Bl HA H UH AR bl I R foram
ST B |

It =1 B ABC areT o feferRaa difelsr & siegd= 9 3R 3ifdie W wg
T gHET ST Ihdl &

Statement showing the position of item ABC in the total value of Inventory

Category No. of Items | Percentage of | Value (Rs.) Percentage of | Average
the total No. the Total | value per
items Value (%) item(Rs.)
A 75 6 70,000 70 933
B 375 30 20,000 20 53
C 800 64 10,000 10 12
Total 1,250 100 1,00,000 100

SRIFT BT S AT 4 W § b a7 o B 95 fod Il & Jed & 70 Uferd
&1 UfaIfEE wxdl & Safdh G & gfedvr ¥ gdl Ut ®ad 6 ufied © | aFf 9 &
7S AT & GRCHIOT A 30 UG Rl 8, STafd AR B Gl AN H SABT WM bad 20
gicrerd 21 a7 W @ AG W= H A A&I BT 64 TR 7, W] KA GEEN B eI H IADT
ANTE = HH 10 R 81 39 UHR SWIad diFl a3 3 @l Ae A #gdqul & 3IR
S Hal IR g9l Fdq R0 @1 AEeIedr © | 9 9 Ua 9 P AGl & (g PR g
ARY Wy I oy o= @& TR # & @ A1 Fhl T

gy @ ABC fallasror are=m 4 o
(i) 9 AT ¥ Head™ a3l IR HoR Fa==or wnfid fear S dadar 2|
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(ii) 3nfdfs 3Meer &Y ATST YUH—gId Sofl & foly grd—gerd S @ off ol 2 |
$ UHR RAT & BT BT NS AHIS T A YA fHar S Aaham 2 |

(iii) T SR 7 9EH R ® e enfid 9 #Ra 9o dente Ua =afad
=T 3™ & SR =T AnTa # Aaefiar g S A § |

(iv) S Il & W DI SUeT B BNl & IR SfUd WA # 39 O H awge
BT T ARAT § YT I AhaT ¢ |

(v) 9 AoT A |/t 9 orrdar (Stock Carrying Cost) # s=a g1l 2 |

(vi) I=ie U9 Tafa FE=er & eRo $id mad (Stock Turnover) @ S#3 &R

I ST Hohal B |

100 //

(0]
o

D
o

N
o

Value of Inventory
(@)
o

0 0 10 20 30 40 50 60 70 80 90
Volume of Inventory (%)

gerd MTHE yord fafas fafer (First In, First Out method or FIFO Method)

g FATT S gHT & b ISR U8 ¥ Udh YBR & AWdl & fou vep & a9 2 2 |
T4 g g8 Al @RS S, S a9 H @) Sl | e 9 # uge oM @ ueEnd Sfe
ST FHY R UTK g AT DI 3T 37l 3iRcd el &<, a8 SAD (oY AT AT G
gh™ US B |
goH A, Yo frfaa fafr & <en

ARl BT yerd fREE A | |9l &1 e a3 R ol i o 9 @

1. afg I @ %HT HWa 7 98 SAR—Ted U § 3R TP & I H TUR B W
=T ITHT TR ATT—3MeT IR TRIGT T5 AW &1 FHA 8Iar © a1 USRIl &
TG SATTA 3TATT—3Te T BT |

2. I Do ATA BT WHE VAT & 6 SHDI UH™T o8] BN —FAreR g9 & oIy
ferR) IR IRl @7 @G @ HWd H doil ¥ uRdad @ I8 & a AT 9 a6
SIRT ¥ W @1 980 U diAa |fkaford 8nf |

[llustration 5: The particulars of receipts and issue of an item of stores for month of
August,2010 are as follows:

(@FTRT 2010 AT & forg AT @1 Bl Ag @1 Uit &R A & fqavor fFr=Tifdd )
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2009, August

1 Opening Balance

9 Receipt (G.R. No. 215)

14 Issue(Req. No. 423) 250 Tonnes
20 Receipt(G.R. No. 222) 100 Tonnes
27 lIssue (Req. No. 524) 400 Tonnes

500 Tonnes @ Rs. 10 per Tonne
5 Issue (Reg. No. 323) 300 Tonnes
600 Tonnes @ Rs. 11 per Tonne

Material is issued on the basis of First In First Out(FIFO) method. Prepare Stores Ledger
Accoount on the basis of above particulars . (AT &1 fH9 YoM e, yew faa fafsr @

AR fHAT ST 2| ST fJaR0T & IR IR N ofolR WAl a1 [)

Solution :
Stores Ledger
(FIFO Method)
Description........... Maximum Stock Level....................
Code No......cooueenene Minimum Stock Level......................
Unit: Tonne Re-orderlLevel.......oeevecveenne.
Date Receipts Issues Balance Rate for
Aug. G.R. Qty. | Rate | Amount Reqg. | Qty. | Rate” /| Amount | Qty. Amount further
2009 issues
or (Rs.) | (Rs.) No. (Rs.) | (Rs.) (Tonnes) | (Rs.)
Tonnes
M.R. (Rs.)
Note ’
No.
1 Open | 500 | 10 5000 - - - - 500 5000 500-10
ing
balan
ce
5 -
G.R - - - 323 | 300 | 10 3000 200 2000 200-10
215
9 B 600 (11 6600 - - - - 800 8600 200-10
G.R. 600-11
222
14 - - - 423 | 200 | 10 550-11
50 | 11 2550 550 6050 550-11
20 100 | 12 1200 - - - - 650 7250 100-12
150-11
27 - - - 524 | 400 | 11 4400 250 2850 100-12
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fewof: G.R. No. & drd Goods Received Note ¥iwr dem M.R. No. & arcai Material
Returned Note @& ¥wm & ® | afe AR 9% 9 %I & ol & af Goods Received
Note @1 s@ & 9t & aft Ife SaTe fO9RT & Wielq AR dieax oMt & @ Material
Returned Note &1 ST 3ifhd &1 Sl B |

Sifvaw e,y fAiasr fafer

(Last in, First Out Method or LIFO Method)

I fafer gty fafdy & fauRig © 3R 390 Ayar wR ImRa € b 99 & 9 @ o
gHhgdl 91 W UTS g8 ®, A & WH el sohrsdl ugdl AT @1 8 ® | o g dred
A G B F TS T 2| I8 & B b 99 # ugel @R 91 W I ATl ShISAl B
JTT—3TST 81 YT ST & | 9rRi & a9 & 9897 &|d o= & fofv I8 df ®dd 34
forar T 2 fob a1 § o arell A ugdel o X8 2

Illustration 6: Solve lllustration No. 5 as per Last In, First Out(LIFO)-Method (SGTER0T Gl
5 BT If~aH IMTHA, v fatae fafr & g #IR) |

Solution :
Stores Ledger Account
(LIFO Method)
Description........... Maximum Stock Level....................
Code No.................. Minimum Stock Level......................
Unit: Tonne Re-order Level.......cevvevevirerennnne
Date Receipts Issues Balance Rate for
Aug. G.R. Qty. | Rate | Amount Reqg. | Qty. | Rate | Amount | Qty. Amount further
2009 issues
or (Rs.) | (Rs.) No. (Rs.) | (Rs.) (Tonnes) | (Rs.)
Tonnes
M.R. (Rs.)
Note )
No.
1 Open | 500 | 10 5000 500 5000 500-10
ing
balan
ce
5
G.R = 323 | 300 |10 3000 200 2000 200-10
215
9 600 | 11 6600 800 8600 200-10
600-11
14 SZF; 423 |250 |11 | 2750 550 5850 200-10
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20

27

- 100 |12

1200

514

100
300

12
11

4500

650

250

7050

2550

350-11
200-10
350-11
100-12
200-10

50-11

Jitaa o fafer (Average Price Basis)

U A, Yo et fafYr iR erfvaw o wem fnfee fafer &1 @ se1 A I 8 &
Uh B R R QR Y 1 2 AR Suerit @l SfeliT—oter diEd WRENIal
forifag fea Im R SHa (Suarl #1) Sdred ard - IRl g gy
& B oy 3d g fafdr &1 SuanT fBar Smar © | I8 3fd U9 w9 H & UHR B Bl

g

(a) ATeRoT Sfta fafer

(b) wika airra fafer

Illustration 7: Solve lllustration No. 5 as per Simple Average Method.

(STTEROT AT 5 BT AR R AT AT & AR gl BT |)

Solution :

Description...........
Code No......ccu.......

Unit: Tonne

Stores Ledger Account

(Simple Average Method)

TS
BT

AT
fraroT

Re-order Level...............

Dat

Aug.

200

Receipts

Issues

Balance

G.R. Qty. Rate
or (Rs.)
M.R.
Note
No.

Amoun
t'(Rs.)

Req.

No.

Qty.

Rate
(Rs.)

Amount
(Rs.)

Qty.
(Tonnes)

Amount
(Rs.)

Rate for
further
issues
Tonnes
(Rs.)

Openi | 500 10
ng

balanc

215

5000

323

300

10

3000

500

200

5000

2000

10

10
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14

20

27

600 |11 | 6600 |- ; ; ; 800 8600 (10+11)+

2=10.50

GR |- ; ; 423 | 250 | 10.50 | 2625 550 5975 11
222

1

100 |12 1200 |- ; ; ; 650 7175 (11+127)/

2=11.50

524 | 400 | 11.50 | 4600 250 2575 1150

AR &g 3qdl Bloid &l AdTd

(Accounting Treatment of Wastage of Material)

YUSR—E § AHUT BIoid By HRUN F Bl W&l &, O A DI S S, AHUT BT
oy ST, Al B SO BIC—BIe ghs 8l ST A | Y8 BIold & YHR & 8 bl &

1. =T Bod — I Il 7 giod @Yfde R 9E=I-dRN | il & d 98 A
BN deddl 8| 9= BIod 9 819 dTell 81 SdTed &l 3 JM1 Sl 8 3R 39 Sdred
AN | affera faear St ® 1 sad! fEfalRad & fafeRt &

@) SuRery a9 - 39 Y & AR BI9d 8F. alell BN & SREM SURST H e
T ST ® S ST AT BT [T g9 Ol © |- Sarerne, fhedl I &1 110 sHA 6 ®
gfd ShIS BT <X W WIS Sl 8| Wld B -Sia - WX dl doidl g fob i ¥ aRdd &
100 $HTSIT B 2 AR 10 FhIsAl B Bioid 8IS 2| 39 RAfd & 10 sHEAT & HIHT 60 ©
PRGN SURTT H s <7 SR | 39 100 $HIgAT oid Icared fa9rT &7 g &1 Srdf
T9 6 % U sl & X I T o SRR |

@) M A BT oI 9ETH} - 39 A & IuR ¥ivid ¥ BF arell g1 ¥ 9w |rEf)
&1 Hed g far o 2| 39 fAfy whify wew Afyy weerh 71 Sudad SeRr # 110 gHrsAl
BT H I 660 B AT| §TH I 10" 3HISAT Bl VIO 8 S TR I8 660 B DHacl 100 gHISAl
BT [ I FHI STRATT | $H YHR URT ShIg o3 6 © F I&BR 6 - 60 UAT B SR |

2. I BIoid — I [l § BIod ST HIROIT (JAT ¢ 31, 97e 3nfe) ¥ il @
dql I8 MM BIod_HEard & | $9 ST AR &I ST T8l 791 offan & iR T awg
@ ANTT 7 Aftafad. 981 feur S| 39 ' AMer uRe am—8I [ | sraferRad dR
fear AT g1 IereRone, A oo fhell awg @1 10 SHEAT 100 © U SHE B R A
TRIET TS| 379 W TP Sdhls HI T 100 % HREHET SURITT ¥ Wl o SR 3R Tsh
ghIS B AN 100 © IRITT A—IT W Bl WETIRT B &l SR

[llustration 8: The following is the account of receipts and issues of an item of stores for the
month of October,2009 :

HIE JFCIR 2009 & oI AHAT @1 b Ag &l U @R A & fqavo 39 UaR &
October 1,2010 Received 100 units @ Rs. 6 per Unit
October 5,2010 Received 200 units @ Rs. .7.50 per unit
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October 10,2010
October 13,2010
October 15,2010
October 20,2010
October 25,2010

Prepare Stores Ledger Account :

Issued 150 Units
Received 100 Units @ Rs. 8 per Unit

Waste( as reported by store verifier ) 10 Units
Received 200 Units @ Rs. 10.04 per Unit
Issued 250 Units.

(i) Charging waste as overhead, and (ii) Inflating the price of remaining material on account of
waste. Materials are charged to production department on the basis of weighted average price.

1. BIod BT SURGI & [/LH FTol BIA §U

2. OISl ¥ Y FHH & eI 91 8T 3MMID]

I IOk WTAT GIR BT 2 | AT Idred f9urn o 91id g faf & e uR arel

calSisIS)

Solution : (i) Charging Waste as Overhead :

Stores Ledger Account

(Weighted Average Method)

Date Receipts Issues Balance Rate for
S(l;gg G.R. or | Qty | Rate | Amo | Req. | Qty. | Rate [Amount | Qty. Amoun ;C:Srlj::r
M.R. (Rs.) | unt No. (Rs.) | (Rs.) (Tonnes) | t(Rs.)
Tonnes
Note (Rs.) (Rs.)
No. '
1 - 100 |6 600 - - - - 100 600 6.00
5 - 200 | 7.50 | 1500 | - - - - 300 2100 (2100/300)
=7.00
10 - - - - - 150 |7 1050 150 1050 7.00
13 - 100 | 8 800 - - - - 250 1850 (1850/250
=7.40
15 - - N - waste | 10 7.40 |74 240 1776 7.40
20 - 200 | 10.04 | 2008 | - - - - 440 3784 (3784/440)
=8.60
25 - - - - - 250 | 8.60 | 2150 190 1634 8.60

el : 1. BI9d @ 74 % BREMAE SURIT H S I SR |
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Solution : (ii) Waste treated by Inflated Price Method :

Stores Ledger Account

(Weighted Average Method)

Date Receipts Issues Balance Rate for
2;39 G.R. or | Qty | Rate | Amo | Req. | Qty. | Rate | Amount | Qty. Amoun ::Srljzzzr
M.R. (Rs.) | unt No. (Rs.) | (Rs.) (Tonnes) | t(Rs.)
Tonnes
Note (Rs.) (Rs.)
No. ’
1 - 100 |6 600 - - - - 100 600 6.00
5 - 200 | 7.50 | 1500 | - - - - 300 2100 (2100/300)
=7.00
10 - - - - - 150 |7 1050 150 1050 7.00
13 - 100 | 8 800 - - - - 250 1850 (1850/250
=7.40
15 - - - - waste | 10 - - 240 1850 1850/250)
=7.71
20 - 200 | 10.04 | 2008 | - - - - 440 3858 (3858/440)
=8.77
25 - - - - - 250 | 8.77 | 2192 190 1666 8.77

fewfory @ 1. gR &1 o1 Fpedd U9 T IR FRIT Al @& el IR @1 quFET FdbedH

SR db B TS T |

2. 13 JAFCER BT AHUT BT YUY 250 FHISAT ofl, [TTHT oI 1850 & AT | $HS UL 15
JFCIR B 10 THIgAT DI SISl S gs, 3Md: FhIT AT & AR U 240 SHIGAI BT I &
1850 = M foldl T € 3R U AT &1 &R AGIAR 7.40 & URT $HIS ¥ 9E@ER 7.71 ®
ufer $1E HR G L T |

Practical Question (&maeiRe ge-):

1. From the following information prepare the Stores Ledger Account on the basis of First
In, First Out method.
ferforRaa gaeT 3 goF e, yeM Rt Al & R WR |ArfT ofoR @rdr
ERIFIGE

Purchases

August 2010

12 6000 Units @ rs. 12 each

August 2010

Issues

14 3000 Units
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13 5000 Units @ Rs. 14 each 16 1250 Units
22 3000Units @Rs. 13 each 26 2500 Units
Return form Job to Stores (SUHTR | HUVSR & dTI™I)
August 15-500 Units @ Rs. 12 each.
[Answer : Balance of stock Rs. 1,04,500]
Solve Question No 1 as per Last in First Out Method.
U3 AT 1 BT AfqH MTHEA, g ftee fafr & g #Iig |
[Answer: Balance of Stock Rs. 96,000]
. Solve Question No. 1 as per Simple Average Method.
T3 AT 1 BT ARIRYT i fafy 9 g1 B |
[Answer : Balance of Stock Rs. 1,00,287.50]
. Solve Question No. 1 as per Weighted Average Method.
g9 AT 1 BT qIRd 3id I ¥ g1 BT |
[Answer : Balance of Stock Rs. 99,945]
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SECTION -B
g9 =01

(Labour control)

RERJER 519 Bl AN B GART ded AMT Al & | dfdbs arTd & faf=r acdl &1
fITeiyoT BT UR | Bl WAMUR A YIE BT § AR FE AN D YUH cd BT I T8
TR AT B T IR 2 fF {o FRAgE 5 & ARG w1 YoM d@ " o 2| g9 g @
A9 & f% NG & UUH d@ 9 O Tl ded Aol (AT ) BT UT HRe J1dT S B
H A 5T T IS, O [l g B fel AN H URST ¥ I P SF DI FaAaR I
U< BT 02T | 5 ARG &1 Wolld acd &, A @) aRE foiia T8 | 39 9@ § Sl 99 ©
IR AT B I 3T AFG UfdT (57) D FRIGSAT 9eM H A% & Ol § df S9 oF0
& U= frfaRad 9 SR 9 &9 aNTd W 9gall &1 T B H Ghd 8 A

1. S H 59 D SR g A SUN—& § B 3 el Hedl Jdl ITh] TR

TR YT 81 FHT:

2. JUN-gFdl H oSBT B RG] g4 W 94 FfHT udd "o B s dAnTd
(Labour cost) &H & SR - qer

3. SUN-g=l H BRI B dlel AUTE HHB! B HRIGIAN g1 A BREMT IURSY,
eI SuRgy T {4y Al SuRegy # Skl Bl 3R avg &1 ol INTd HH 8l
STRI |

SuYed faaa & N H 5| WR S I fd B B qed WK 8 Wl ©
IR BT A aarg BT U 5| oA B IARAT PR b (oY ARAD YIS DR AMMBY

aifs sifier | watad Sarewar (Optimum Productivity) oma &1 e |

M HITSH
(‘Labour Organization)

TH IS HH e HfRad d@l W R aRar &
SAHD BT GG TAT. ST Frgfaa

APl & T IR RS0 qAT ST T

fRY R & #1ffel Ua 396 AT &1 fageryor
SIADBT BT FSIGR DI AT BT FeRor vg faaor qer
HR U fafer ere |

a ke~

9 arra fallareror
(Analysisof Labour Cost)

A o faMnT (Cost Accounting Department) &7 &1 doigel AT dol siffeT &
TG T Bl & Rple BT AU o) I8 S0 AT § Ul s onra (Direct Labour
Cogt) fra 2, 3IfergHa fhd=T garm & T WIERYT U9 SRR HRIEH &I fhar 2, 3ff< |
ST |9 qAT BT 9 TG B S I8 JaHD! Bl AT & &1 SRl © difs 9 M I bl
BIIGIATT BT S PR Fb T 31 AN R I FR= wgq & oy siaeae SR
PR D |
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Aot &1 fallawor (wages Analysis) : 7ol @ fawewor &1 Iqwd ufd Su—ard sierar
Ui SHIE S AR S0 SRAT § | §9 [y Foigel & & fageyor 541 yoa #§ R faan
AT ' SS9 Auiqyl favelyor gt (wages Analysis Sheet) serar woigl AR (Wages
Abstract) @& ST & | 0T THAT 3T UHR ¢ -

o fallaeror g

(Wages Analysis Sheet)
IR HogNl fawelyor Al & 99§99 Aorgdl ga (Wages Sheet) siffal & 31
T PREHE 99T | B ST BRI
T I
AR | 31 Eﬂ que Eﬂ qoe Eﬂ S-@r | S-@ | Su-ar faaor
HHY YT 5 T 6 AT 7
® ® ® |9 ® ®

T I B JHI P Robls dAql HFBI RT STGRT R Add (b S+ diel 89T B
RepfS o Aerar <l 9 21 39 fageyer gt & SWtd 9«re & fog =1 amai &
o U BT &

(i) v e & IHRI U9 AT BRI & °9¢ U9 DT fel Holga
(i) UAS AP & PR I & °US T IFDT Aolqy]
(iii) uxS #1fd gRT Ko II—HR TR AT (I T U TAT HOIGN
(iv) 9% sifid B AT—eT SU—HR R 3H AN
(V) 9 9<ilE ¥ 9% D] & SRIEH T9Y P @ g Ud SAD] fel Jolgul
(Vi) 39 9dE H 99K SH®l & AF U SOEAd B Ud S9d] fel Holgy
(vii) 99 "8 H B SU-dRI R A (B T I SHDI & dI & °9¢ U
SREEIR AR
(Vill) URIe Iu—hr B Hol 5H AR |
IRRIT & AR, ATl fAeeyor = & garad sMeR ¥ gRads |l fHar S Faar
210 IwTE AR @ TS 37 fAvevor gt & AN @ oMR W e, B A ar aiffe
AN faveryor et GUR oRG I 3@ BT SH ARG BT S UTT B frIT STl § |

st s (Overtime Work):
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AP B foIv sREM & B &1 G 9ug FuiRd Ygar 2| g8 9ay ufafes aen
gy 9are & e | fFuiRa fear Srar 21 afe &8 siffe faf faq srerar fosft e
S s T BRI HRaT € A I8 IIHT Brd (Overtime work) dEardr € | e
& foy S AoTgXl &1 Il & 98 |MERg &% W &1 AT BT |

ARAR HREMET AT B gRT 59(1) & ATAR Al DIy &AHd B &7 9 ave 4
3iferes arerar fhedl FiTe 48 wv¢ 4 2ifdd HRi IR 2 AT 98 37 T [Adedl ¥ 9 1fd®
fedar fdeed & IR R o 6 T Af¥eR 997 & forg ol 9= &% @ &1 0
R D AN W AR U B BT ARTBRT 7 |

Practical Question (aarastR® ullA)

1. Calculate the Normal and overtime wages payable to a workman from the following data:
FrfaRad sffdsT ¥ U SIS BT YA B S dTell I T ARHAT B HogN

BT ITOET BHIOTT:
Days Mon Tues. Web. Thurs.  Fri. Sat.  Sun.
Hours worked 8 10 11 7 6 5 8

Wage Rate : Rs. 15 per hour,
Normal Working hoursin aday is 8 hours.

Overtime Rate: Upto 9 hours in a day at single rate and over9 hours in a day at double rate or
upto 48 hours in a week at single rate and over 48 hours at double rate, whichever is more
beneficial to the workman?

ST B & ¢ 15 ® UfT gueT
U feq & 9@ o1 g 8 2 |

AT &R Y T H 9 HUC PR W AHRI &) dAT 9 UEl ¥ AP B HRA W AH
SR DT QAT R IMAAT UH W8 H 48 HUC P P W FMRI T qAT 48 €IS A AfdD
R PR W ARG SR B IEAT R, ST A 50D BT AE AR B )

2. Calculate the Normal and Overtime Wages payable to a workman from the following
information:

He has workded for first six days of the week for 10, 10, 7, 11, 9 and 4 hours respectively,
Saturday being the half day. Normal working hours are 8 hours per day. Normal rate of wagesis
Rs. 6 per hour, while in case of overtime, total working upto 9 hoursin aday ispaid at single rate
and over 9 hoursin aday at double the rate or upto 48 hours per week at single rate and over 48
hours at double the rate, whichever is more beneficial to the workman?

frfoRad % 9 e SHaR T e dTell A= JoIT SIRAAT HAoTgy] @ MO BHIFST:

I AE b YRS 6 fadl § P 10, 10, 7, 11, 9 T 4 g9 PR fbar &, AR &1 fa7
3T HHT Sl & | AT BT 8 gve Ufifed 81 9MMI &% 6 % UfT gver 8, odfd
AEFHT PRI B W Bl 9 THUC Yfafed b AMRI X ¥ qAT 9 e yfafed 4 e &
fU AT &% ¥ 3frar 48 ©UC Ul WilE T WY O] AT 48 ©USl ¥ ¥ gvel & foy
SR TF g B, Sl N #fHp B ofd 2 H Ev

2. The pay roll of X Limited givesthe following information:

Number of employees at the beginning of the year 2,000
Number of employees resigned during the year 100
Number of employees discharged during the year 50
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Number of employees replaced due to quits & discharges 130
Additional hands employed during the year 80
Caldulate Net Labour Turnover Rate, Labour Turnover Rate and Labour Flux Rate.

gy fafics @1 99 g fF=faRed gaer < &

I¥ & YRWT H HHAIRAT BT G&T 2,000
I¥ R F USANT HRA dTed HHATRAT Bl AT 100
¥ R F S T HHARTT BT GRT 50
TSN 3R Be OTM & BRI TR SHanRal &1 Gy 130
Y WR H AR SHaRAT B gl o1 dw=n 80

e 5 Al e, 419 Rl &% A1 #1f¥e SMANTHT HI &% Sl HIToTg |

YRUTHG ATSHTY

(I ncentive Plans)

IR AT BRTTIR Holgyl SFT 8 gl @ I ®l gR PR @ oY UMD
AISTIRIT BT YART fHar S 81 89 Aol § a1 8 Ughadi @& ol &F FAe 8 S 2 |
SAHDI BT B URSH F BRI B BT UIcAIET Al 2 | 37 Jrorisi & g& faewa =
g

1. el 1 gIaH A B TR & Ol 7 |
2. §UR T T B oY et sfAe! BT 9 wU H Ui A e 2
3. U gHIid w9g e fhar Siar & dr el @ SR 9 uHiitd 9y | YRT BT
BT 7| Tl 9g iR &9 & forg f5l @Rl & @ v $ oM wHa rgdd
[ERASIGES
UROTICHS AT &1 a-9 ARl & 491 th 8 & Us AR AT siffdl & 999 &
FFAR A f&ar SI1ar 2 a1 S5 99 g9 IR fo A 981 Hefdr 9o gall 3R Ife I
BRITAR I a1 ST & 1 Alfeld! B FHA g IR BB 8| [HeAdT | UROTHD ATSTIA0
@ IIid Siffd U Alfeid JMT B 99.gU HI @ oM Bl dic ofd & | 39 579 JUT SURSY
NI ®H 8 STl & |

UROMCAE AT A9 ATSATG S U & oy IUYd & Siel SUNS 9gd AfSd 81d &
T FHY T T AT Well GPR A fHA ST Fhd 2| 39 Ughdl ¥ Sifed a=iie g
qq TIforfer UG bR BTl © |

S B Ypfd T3 TRRe &1 e H x@dHR &1 Al URUITcAS AIST18T BT <=
fepar ST =08V | yawgedl qer AADT Bl Sl DI 8 ISl gH= A WS Il 98
Aherdl Ydd o] el [ ST el |

- 4 Y@ o 4 gca (Factorsto be Consider ed)
Sf¥pT & oy fedl W UROTcHe AISHT BT ] B A Y4 [ gchl B g I
ST ARy
SINCRGIEECG I
SRR
siffes fRret
EERIRGH]
JEGRAT BT AN
ERICIICARE BN
Jhfead Irorrel &I fageiyor

N ook N =
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8. PIS HSAT &l
agcae #ifed g (Indirect M onetary | ncentives)

AP B B SUFT B I R SR sifalRed ailksfe 39 & fafddi sioiea Samer
yafeld 8 &I & TAT S9HI A8 dodl off X8 | I8 AR dor oM § e s &
ASTG S ede Aifad URVRIT 3§ 939 w9 | afFferd fb Sl §1 89 I &1 Arosmeil &
=T AP B ST & oy F f2dr 921 &1 raR Aorar 21 3 =1 o 2

(i) % SRR 3ferar 98 @i
(i) o™ H = 9Si &1 o

AT — #"ife® dvond ( Non —Monetary | ncentives)

I A sffer {6 fFygfad @ et o ifdie smedes a9M @ fog @y f Sl 81 9T
[ TG I ARl BT © qAT 39 ARl & i Ul Giaamd Tl siffdr o ura
Bl B T 39 glowreli § ¥ @u ugE gfauw 7949 geR 2

(1) fRrem v ufmeror : st & a=ai a1 Rrer—uferT & oy The @re T den srEgfa o

@) e g §Rem : el 19 S99 URAOROHl & WReF @l <@Wid & oy srudrd
Qi gq i gfauma Suaer &R

@) Dfed : IRT X W difted Ao 12T UTER T,

() MM 4TS Ud HARGH : YR 9 FRGA & AR UG BT, Fard ael &1
M |

[Hlustration 1 : What earning will aworkman receive under the following incentive schemes if
he executes a piece of work in 120 hours as against 150 hours allowed to him. His hourly rete is
Rs. 2.50 and .50 he gets a dearness allowance of Rs. 10 per day of 8 hours worked in addition to
his wages.

(Frafafaa RS ARl @ oFavd. U Sif® @ ®He 918y, dfe 98 & &l 150
Wgd gel & WM R 120 HSl H YR R oidl &, SHB! UlT °UeT &% 250 ® & AR SA
IHD! AoIg! @ AfTRET 10 © IR (8 T T U ) &1 &% 4 78 91 fyerdm 21)

@ Halsey premium Plan 50% bonus to workers ;
(b) Rowns premium Plan,-and
(@) Emerson Efficiency Plan

Solution : (&) Halsey premium plan

Normal wages @ Rs. 2.50 per hour for 120 hours 300.00
D.A. for 15 days=Rs. 10 per day of 8 hours 150.00
Bonus: 450.00
Time Allowed Time Taken Time Saved
150 Hours 120 Hours 30 Hours
Bonus= Rs.2.50 per hour for half the time saved
=Rs. 2.50x30x1/2 37.50
Total wages 487.50
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feaeft : (1) oA @ He=n 791 yoR g 6 € - e 9 & S g9 8 qAn G S gve
120, 3 ot P faaq 120 /8 = 15

(b) Rowan plan

Rs.
Normal wages including D.A. as per (a) above 450.00
Bonus:
Bonus hours=Time Taken x T™mesved
Standard Time
Bonus Hours= 120 x 30 =24 hours
150
Bonus Rs. 2.50 per hours (2.50 x 24) 60
Tota wages 510
(c) Emerson Efficiency plan
Rs.
Normal wages including D.A. as per (a) above 450.00
Bonus:
Efficiency Percentage = "™Alo%ed 4100 i.e.=150 x100 =125%
Time Taken 120 —_—
Rate of Bonus upto 100% 20%
From 101% to 125% 25%
Total 45%
Bonus being 45% of Normal wages(Rs. 300) 135.00
Total wages 585.00

[llustration 2: In an Engineering works the standard time for a job is 16 hours and basix
wages is Rs. 10 per hours. A bonus scheme is instituted so that the worker is to receive his
normal wages for hours actually worked and bonus @ one-half for the hours saved. Materails for
job costis Rs. 200 and the factory overhead is charged on the basis of Rs. 20 per labour hour.

Calculate the wages the effective rate of earnings per hour if the job is completed (a) in 12
hours; or (b) in 14 hours.

Also tabulate the factory cost of the job on the basis of above data and also find out the
difference in wages if he is paid according to Rowan Premium Plan.
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g SIFRERT dREM # th dd & fou g9 @99 16 99¢ ® SR Hol Ay 10
gfe gver ¥ Yo 99 A1 ifd @ T8 ' dIfe sifiel B andfas e fhe el @ forg
AT Aolgd] 3R 991 §U €UC] & I & RIa) a9 el 9 |

T3 & fory AW 6 @RI 200 ® B 3R BREMT S 20 % Ufd 519 €997 © |
AR 3R AT @I Ul gveT T &R &1a fhforg afe Iu—awrl (@) 12 |v¢ 4 (@) 14 gv¢ H

ORT BT 2 |

IUGF fIaR0T & IMUR TR IU—dhR & HREMET AN Bl A ARV q915d IS IHBT
a9 Ofd AT & oFIid AeTgXl T A fRAr oA @ ar Aeig &1 R T g
ity |
Solution : (i) Statement of Total wages & Hourly Rate of Earning

Particulars Amount in Rupees
(i) (i)
12 Hours | 14 hours
Wages @ Rs. 10 per hour 120.00 140.00
Bonus Equal to 50% of time saved 20.00 10.00
Tota 140.00 | 150.00
Effective
Hourly Rate 11.67 10.71
(i) Statement of Factory Cost
Particulars Amount in Rupees
(i) (i)
12 Hours | 14 hours
Materials 200.00 200.00
Wages 140.00 150.00
Prime Cost 340.00 350.00
240.00 280.00
Factory overhead @ Rs. 20 per hour
Factory Cost 580.00 630.00
(iif) Statement of Total wages Under Rowan Premium Plan & Calculation of Difference in
wages
Particulars Amount in Rupees

()
12 Hours

(ii)
14 hours
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Wages @ Rs. 10 per hours 120.00 140.00

Bonus Calculated according to formula

Time Taken x T'mesved
Standard Time

Bonus on the basis of 12 hours 30.00
Rs. (12 x 4 /16x 10/1)
Bonus on the basis of 14 hours

Rs.(14 x 2/ 16 x 10/1) 17.50

Tota wages

Calculation of difference in wages
150.00
157.50
7.50

Wages paid according to (i) 140.00
150.00

10.00

Wages paid according to (ii)
Difference in wages

[llustration 3 : There are 3 employees A, B and C in afactory. Standard time allowed to do a job
is 60 hours. Hourly rate Rs.18 per hour. Actual time taken A-62 hrs, B-40 and C-28 hrs.

Calulate their wages according to (i) Time Rate Wages, (ii) Piece Rate System, (iii) Rowan
Premium Plan (iv) Halsey Premium Plan.

Th HREE H oF gffe A, B, @@ C 21 ST o/ a7 & v 60 w9 TS &y S
21 Ul g <% 18 ® B | aRdfdd 99a A §RT 62 g9¢ , B gRT 40 g9 @or C gRT 28 €U
g | MR SFaT 7oyl &1 TUET DI
(i) ¥ R Aoy (i) dEER "oy (i) Jaq Nif| drer don (iv) sed Wit

TSI |

(i) | Time Rate Wages: A B C
Actt“a' time x Hourly | o5 18-Rs. 1116 | 40x18=Rs 720 28x18=Rs 504
rate

(i)

Piece rate system 60x18=Rs.1080

60x18=Rs.1080

60x18=Rs.1080

(iii) | Rowan Premium Plan | S=60 S=60 S=60
S=60, R=18, T=62 T=40 T=28
Earnings S-T=60-62=2  so | S-T=60-40=20 S-T=60-28=32
TXR + S-T/SXTXR 2;’)(18:111630”“5 40x18+20/60x40x18= | 28x18+32/60x

720+240=960

28x18=504+268.80
=772.80
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(iv)

Halsey Premium plan | No Bonus | 40x18+50/100x20x18= | 28x18+50/100x
62x18=Rs1116 720+180=Rs 900 32x18=504+288=Rs

TxR+Earnings
792

50/100x (S-T)XR

SURIT &1 ffHYor v Gygor

(Cl

assification and Coallection of overhead )

SuRerat &1 affevor (Classification of Over heads)
SuRST BT B3 MR W BT fhar smar & o &y frefafad &

1. @RI & dcdl @ IMIR 4R ( Onthe basis of Element of cost);
2. foare® FEfiaRoT (Functional Classfication );

3. =0T & IR WR (On the basis of Controllability):;

4. AMIAT @ IR W (Onthe basisof Variability);

5. ORI & MR WX (On the basis of Variability) |

[llustration 4: A company has three production departmentsviz. L,M and N. Besides, it
has two service departments, viz. A and B. Overheads are allocated as follows:

HRE SuRerl &1 sraenyor ( Absorption of factory overheads ) : &Rw@m™T SuReat
& AT H AR dh fafne I fourT & erRErr SuRel & S99 fovrr § g
faff =1 agell a1 ol gU Su—ral A1 qof gU o<l OR a1 x4 9 & | 59 SURSIT Bl
NI A a1 AT &1 7 AR | @r A1 Fobvall @

() ufcrera fafeRdt (@) ufcr gver <= fafedr |
srREHT SuReal & @iz ) fafy= faferar
(Different Absor ption Methods of Factory Over heads)

HREMET IURTY BT AR SHIAT H AR ST 8 b AGNT &R AT Bl Sl ¢ |
g <X fo=rfea fafoat & 9 fodt ol v fAf & esmuR R fAgiRd &) &1 gad) 2
1. gger A orra W) yfallra fafer

TN e} = fIria oo SuRe x100
fquriia gt gcger | AT

2. yag #9 orra 9w gfalla fafer
NNy e} = farfia o SuRe x100

SRIRIE Dol Y& HH ol Td

3. o arra s yfala fafer
ARy &R = IR ol SuRey x100
fauria |et qeT T

4. y<»el 9 gver <% fafer
i a1 SuRay = UG 9 9UCT 3TNy €%
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f¥TT & qHof ggeT 319 =e

5. g9 guer ex fafd

7ol gver g) S1d B BT EfarlRad Rk gi—

1. Fdud SuRegdl &1 faurfia R R sic forar ST 2|

2. d9vad S99 faurT # oRRd Aff= 9eR &) 9309 BT T T—3TclT TR Y
forar st 21 weiAT @ o aut § fourehid fear SR S9 99 & fon
JTT—3TTT TUST &R ST HRAT 81T |

3. 39 TR0 & ueE fouri SuRedl &1 39 weiEl ) g fIdRe ex R
ST | g faaRor & ufy AR SuRer g 81 S|

4. 39 UTAd Us MREd s@fd § w29 gRT fd T A @RI €vel @ o
P Ay | I8 e e@fy v af 9 A" ST Ua AIE Infe | wfRid 8l
JhaT B |

5. ¥ & &I Tvel &I HR¥wd o[y & fAuRer & uvard SuRerdl &1 Ahed ol
I arafy & forw fpar Sirar 2

6. Al —Tver e¥ dur #w gver ex @) faf¥a fafer
S Sded B ® fou 939 den #ffe M1 &1 € yIr fhur S € U9 o 8
Feget B0 ¥ o O Rerfa # g9 RG &1 wanT fasan siar 2

7. Sdrfed s&rs o fafer
39 fafd &7 oA R fourfa SuReyt & faunr grT Scufed sorsal &1 arT f3ar
ST 21 39 JbR ol &% UTd fb Sy & S9& MR R fafi= Su—arai R SuReat
BT JINYT R fear Srar & | Serexendd A9 fofse favyrfa suRaa 10,000 ® & T
1,00,000 $HISAT BT IUTGT B3I &, 37l Iedllad Shlg & MR & AR JGNYIT BI
¥ 10000/100000 % = 10 U °fy gabrs. BN |

o Suferat &1 fallrer faavu

( Special Narration for Some Specific Over heads)

g B faf=T AT &1 AnTd oral # faftne v BT B 3 9 §p A U @
RTFdT drTd or@l ¥ affafad 891 faaerue @ id s9al ard ol ¥ aftaferd
w3 B U ormmaren & faf= 9a 2|

SREET Haq &1 fewar (Factory Rent): 9 #e @ 31 St 84 96d & YIH o
9o aRd | fARI R forar AT 81 q1 WHeid ® SR R BT g fhar wan
2| fgda 99 aaa # waa vy R 9 forar 731 81 91 SRE™ &1 ¥ad dREM ©
T BT & B |

I waq Ry R foar @ @ @ SREE ¥ad & R @ ana |
AffAferd & Aty | T oEl | S foR B dREMT SURSI ST [T AFAT
NG
g st waA (Carriage Inward)
ST TSt el (Carriage Outward)
IR Ararard g (Internal Transport Expenses)
Hed B ( Depreciation)
g | B (Loss by Obsolescence)
forirear gRT f&¥ ¥ =< (Subscription by employer)
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HREM H HUEH TA™ BT FI (Canteen Expenses)

fasiu =@ (Advertisement Expenses)

Af T &1 (Packing Expenses)

g1 e (Insurance Premium)

$dd kT (Bad Debts)

gccl (Discount)

PR e (Royalties)

¥ @R @1 @rTa (Cost of Defective Work)
J=I9oT Y (Research Expenses)

ga=IBhT B UTRSIHEG (Managerial Remuneration)

foreprd gREmY (Idle Facilities)
Usil ok &1 (Interest on Capital)

[llustration 5: The manufacturing department of X Limited consists of three machines of

which the following expenses have been allocated.

(Ted fafice & Sded fovrT | 9 weie g R fafaRag @@t &1 faazer fear

2

X Rs. 7,000 Y Rs. 6,000 Z Rs 2,100
In addition there is a crane to bring material to the machines as and when necessary . The expense

sallocated to this crane are Rs. 4,000.

(gaa fRad 39 7fl @) Mavdar R ARl @ & foy U #9 21 39 @9 @ @i

&1 faa=or 4,000 B )

During the period of this expenditure the machines were used as follows:

9 T & Pial § AT BT GANT 39 UBR gall &

X Hours Y Hours Z Hours
With use of crane 5,000 2,000 3,000
Without use of crane 9,000 8,000 -

14,000 10,000 3.000
Calculate Machine —hour rate with use of crane.
(9 & SUANT B AT HIMA HUST IR ST BT )
Solution:
Computation of M achine Hour Rate with use of Crane
X Y
Particulars Total Rate per | Total Rate per hour | Total Rate per
Amount hour Amount Amount hour
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Expenses allocated to the|Rs. Rs. Rs. Rs Rs. Rs.
Department 7000 |- 6000 i 2100 i
Rate per hour without crane
expenses apportioned on the
basis of hours used - 0.50 - 0.60 - 0.70
Rate per hour of crane
expenses 2000 | - 800 - 1200 -
Machine hour rate with use of - 0.40 - 0.40 - 0.40
crane

- 0.90 - 1.00 - 1.10

fewforar -

(i) Rate per hour without crane expenses 9 U&R S @1 T8 &

X Y Z
7400 £,000 2,100
Rs. Rs.  (———
S(l-'-Lﬂ'D'D) S (lﬂ,ﬂ{r{r ks (SJG{I'D)
=50 paisa =60 paisa =70 paisa
(ii) Crane Expenses(4,000 rs.) &I 5:2:3: @& U ¥ &l 47 © |
X Y Z
2,000 800 1,200
RS'(S,{H:HJ) Rs. (2,000) 3,4}00)
=40 paisa =40 paisa =40 paisa

Practical Question (arasiR® ull= ) :

1. From the following information compute Machine-hour rate charging overhead in respect of

machine No. 180.

(FrrfeRad gaemell | 7l AT 180 & HRI ¥ QURTAT BT (G I”4 & forg A

1,00,000

el & ST PIIY ) Rs.
Cost of Machine
Estimated scrap value 5,000

Effective working Life 50,000 hours
Repairs estimated at Rs. 10,000 over whole life of Machine.
Standing charges of Department rs. 2,400 for four weekly period.
Hours worked in four weekly period: 240
Number of machine in Department each of which bears equal charges: 5
Power used by each machine : 20 units per hour
Costing 10 paise per unit.
[Answer : Machine Hour Rate : Rs. 6.10]
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2.

With the following figures compute machine hour rate for each of the three machines for a
four-week period. Each machine is expected to work for 108 hours.
(AR F<E & & & forg Frfoiad sl o derar @ 39 #2iEl 3 9 ulde 73iF & o
T €T &% S DINY | Thd #9108 ©9C BRI B DI FHET B):
Rent and Rates Rs. 150: Lighting Rs. 20; Depreciation Rs. 100; Indirect wages Rs. 100; Power
Rs. 60; Sundries Rs. 150; Canteen Expenses Rs. 10; and Repairs etc. Rs. 40.

A B C
Space occupied 100 Sq. ft. 200 Sq.ft. 300 Sq ft.
Light points 1 3 6
Cost of Machine Rs.2, 500 Rs.1, 500 Rs.1, 000
No. of Workers 1 2 2
Power Actuas Rs. 25 Rs. 15 Rs. 2
Direct Wages Rs.200 Rs.300 Rs. 500

[Machine hour rate : A res. 1565; B Rs. 1824; C Rs. 2,444]

A manufacturing company uses two identical large and four identical small machine. Each
large machine occupies one-quarter space of the workshop and employs fully three workers.
Each small machine occupies half the space of a large machine and employees fully two workers.
The workers are paid by piece work. Each machine is estimated to work 1,440 hours per year,
while the effective working life is takesn as 12,000 hours for each large machine and and 9,000
hours for each small machine. Large machines cost Rs. 20,000 each and small machines Rs.
4,000 each. Scrap values for each large and small machines are Rs. 4,000 and Rs. 100
respectively. Repairs, maintenance and oil are estimated to cost for each large machine Rs. 4,000
and each small machine Rs. 1,200 during its effective life. Power consumption cost 5 paise per
unit and amounts for alarge machine 20 units per hour-and for a small machine 2 units per hour.
The manager is paid Rs. 4,800 a year and workshop supervision occupies half of histime shichis
divided equally among the six machines. Details of other expenses are:

Rent and Rates of workshop : Rs. 6,400 a year; Lighting ( to be apportioned in the ration of
workers employed ) Rs. 1,820 a year. Taking a period of three months as a basis, calculate the
machine hour rate for a large machine and a small machine respectively.

e fefoft Hwoe <1 M 91 qen IR EE Brdl WMl BT WA el 21 gAd g9 79
ST & U TS AT BT R 8 FAT QUidTeid

3 ST B YA Bl & | U BIe! HF g1 HeF T ofmen oI uRdl & e gofdrel=
a1 #fel @ PR w1 21 AP B FRIEAR YIdE fFAr S © | IS 7T &1 Ud
Y H 1,440 TS BRI BT AAF- T | FHYOT THTET Siiae § IS g1 7 & 12,000 THTET BOC
qr BICT AF @ 9,000 YMMT BUC T | TS FS! HIIF BT AANTd Hed 20,000 & T GAD
B! AYE BT AN Hed 4,000 © & | TS g1 A BT ERE JeT 4,000 & TAT BT
H2F BT 100 ® | WM & YU YAl Silad W OAREId, Y@ —XEE dAT T dd Bl
AT &5 Uy €1 W 4,000 % AT BICT 7 & 1,200 % 2| AT & ISUANT & &I 5
I oy gfie &9 T Tee § % 99 AN 20 ghve ik B WiN 2 gfe @1 S
AT & | HIOR 14,800 % NS (&I AT & TAT HRIDTAT BT fefTeq0] IHBT AT FHI ot
g, I 6. T R RIR—a_1eR fauroid fbar Sar 21 3mg =3at &1 faaxor fefaRad
THR B

BHRITNAT BT fHMET R TN 6,400 © aATd: [ASTAI(SIHRT o T & U H fIroia &1
S ®) 1,820 % dlfbep | A A8 & THI DI FUR A gU A YAD gl U BIST HLMA
@ 7T TUeT SR S BIFY |

[Answer : Machine Hour Rate — Large Machine Rs. 4.32; Small Machine Rs. 1.67]
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SECTION C
ThIE—
$PIs AT Ubd Scured onrd faeriRor dfa

[Unit or Single (Output) Costing Method]

el Ifed avg @ d §1d aRA @ by ARt € e av| e srar H

o < gt 71 g1 fafti 3§ 9 vy fafY s&1e a7 uohel Scue™ onTd fReRor i 2
3313 arrd fefzor dfg @ s:la

(Objects of Single (Output) Costing Method)

$HIS ANTa R Af & = Seed 71991 TaR o—

1.
2
3.
4

5

ELdH]

HA AN Ud U SDbIs AT AT HRAT |

. oNTd $hTs W by T AT BT AT HeAT |

JTHS fgetyo |

. AN & AP dcd BT fl AN W SIS 372 S BT |

fasha 4o &1 R |

omra fHerfvor fafer &1 gahr

(Use of Unit Costing Method)

AT $hTs AT SaTe g fHearRer fafSy &1 g v Sam | fhar oar & e
for=r faRwang faemm= e

1.
2.

4.

S8l TR IAeH R H1h! fRgd 99 R qn =R aa =T 81|

Bl I B A gHISAL U &1 UbR Bl B AT U 81 ¥ B A~ b 918
NI

SRl ST 9] 31 Shidl UGl 8 o — ufd e, ufd fenm, ufa goiF, ufd
1000 $e, Uftr i 8nfe |

STet Ufer Sbrs Td ST BRel 8T

o1 faRIvamsi drel §O U9 TN U4 S99 FHEET dNd $Pbls [ TBR B

T BT A SUGECEIE]
(Industry) (Cost Unit)
DIIAT W AT 3T DI W G e gfa <
RGO gfer €4
Il TN gfer €4

$C ST AT 1000 3¢
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EIRISCIN gfa faded

T FEN— Jqd gfar fhamm

T SEUNT— HUS] gfa Hiex

BRTST IERT gfa R¥ srerar gfaq fearm
el TR gfa fadca

T N FINIRSIA

IR IATEA I gfd ke

IR T gfa fadea ar ufa ud

goIy orrd fEiRer @ dfcar (Unit Costing Methods)

fedfl 1 SE gRT U ARed oafd # (T avqgell @1 fa arvTd den ufa sers ana
T QR gRT ST @Y S Faed @

1. R fdeRv—ua Td & fdaRor (Statement of costsheet and. statement of profit) §RT
2. °NTd YA (Cost Sheet) gIRT
3. JdIe WAl (Production account) gTRT

g — fAafifa wra &1 avra g 4 &= (Treatment of Work —in-Progress)

SPhIs ANTd oRkdTehA Ay H srg—Hd At 98d 49 =4 @1 ST &, Rifdh qrrgdr
UG URMIG Weie 3R Iff~dq eiep d a9y iR, 981 Urim SaT ©, ofd: 39T &F ° g
S OR AN S0 6 H IRy oroR =181 gsdl | R arTd faaror a1 anra gl 99 99
g—ffHa 91 & URMIE den ifaw e & IRRT &1 313y & FHARISH &R <7 a1fev |
Ife arg—ffid AT (Work-in-progress) T ol T (Prime Cost) TR HcdTdh fopar ar € ar
AN fdeRoT § Ao NI S @R & 96 SEH S9 Hedl B FHARINE $HRAT @18 | Ifa
Fe—fT A1d &1 HREMT dFTd- (Work Cost) TR HeaT®+ fhar ar g al orra faavor 4
PREMT AR S B & 916 397l BT FHRIS ST Q. T ff<ad Cid a0
el <l ARy |
9 fAEiofl Gvenm ¥ &g uyRfe ar sifow weie H Suder ai:

AR A & gRT Ue (REd 9wa ¥ Sanfed At @ ANTd S @l Wi 2| 39
ANTT | S99 ge] Wd, BRI, SURSY, T YeTNIfe SuREy affafara #r fow o
g dI 39 'SAEH AN’ (Cost of Production) ®&d 8 | SATET & ATTd 9a%d fHd 711 &
T H ST Pl Sl ®, I8 98 AT f9b AT T 9B, dAfe oI S1d A B oI daa S

AT B IATET T B AMALIHAT el &, Sl AT 96 &b 21 39 39 UPR oa
ST &

Cost of Production @ e

Add: Opening Stock of finished goods

Less: Closing Stock of finished goods

Production Cost of goods sold
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Hbel ol dAT H[g ollH

( Gross Profit and Net Profit)

O @i | oY I8 U ga & (& ATUR W, Gdhd M T2 AM—8I+ Tl Yg
™ Udhe HRal 2 | 3 fad o+ # Add oM Sd &1 @ folv @R @rar (Trading
a/c) @ WSl BT AMETIGAT TS B | AUR WA H had ARl 9 FAoige aH=l @ a2
oo =il smcger @D (S I, SE onf]), dftferd fhd SId & | offdT Ui e
YL T AT F81 fhd Id 8 | R of@idh" # Add oM od &R o forg fi= fafyr
31TTE I B |

Ig fafsy 59 UaR 2

Sales RS. vt
Less : Production Cost of Goods Sold RS.....cituvrries
Gross Profit RS iuiiinnnanns

39 UPR W & fh aINd oidi § Ahdl o S dR" & (I Yona gra=eil Wi bl aftford
FR forar SIrar & | nTd o™i | 3§ @™ (Net Profit) g & @l fafer «fY facdi eRaie=
I A 2 o ' 39 UBKR ®

Gross Profit RS. v
Less : Selling and Distribution Expenses RS..oiereeennene.
Net Profit RS...covvreeene.

lllustration 1: The Cost Accounts of a manufacturing company give the following information:
(T frof Hn)

Clossing Stock: Raw materials Rs. 50,300; Finished Goods Rs. 29300: Work -in- Progress
Rs.16,000.

Opening Stock: Raw materials Rs. 48,000; Finished Goods Rs. 32400; Work-in-Progress Rs.
16,440.

Purchases of Raw Materials Rs. 41,600; Sale of finished goods Rs. 1,25600; Office expenses Rs.
4,300: Selling and distribution expenses Rs. 8,000; Direct Wages Rs. 32,000: Works expenses Rs.
18,000.

Work-in-progress-has been valued at prime cost. Prepare a statement of cost and show :
(3re— A H] AITh ol AN W BAT 1 8 | AR & Yo fJaRoT GRSy 3iR
@)

a) The cost of raw materiasl consumed;

b). The cost of production;

¢) The production cost of goods sold:
d) The gross profit on goods sold;

e) The net profit.
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Solution:-

Statement of Cost and Profit for the ...

Particulars Amount Amount Rs.
Rs.
Opening Stock of raw materials 48,000
Add: Purchases of raw materials 41,600
89,600
Less : Closing Stock of Raw materials 50,300
Materials consumed (a) 39,300
Add: Direct Wages 32,000
Add: Opening Stock of Work-in-progress 71,300
16,440
Less: Closing Stock of Work-in-progress 87,740
16,000
Prime Cost 71,740
Add: Works Expenses 18,000
Work Cost 89,740
Add: Office Expenses 4,300
Cost of Production (b) 94,040
Add : Opening Stock of finished goods 32,400
1,26440
Less: Closing Stock of finished goods 29,300
Production Cost of goods sold (c) 97,140
Gross profit on goods sold (d) 28,460
Sale of finished goods 1,25,600
Gross profit on goods sold 28,460
Less : Selling and distribution expenses 8,000
Net Profit (c) 20,460

lllustration 2: 200 units of an article were produced and the following expenses were incurred:
(T gEG-DHI 200 FHISAT IR Bl g IR Fr=IfelRad @< gu):

Materials consumed Rs. 10,000; Wages paid Rs. 15,000; Chargeable Expenses Rs. 1,000: Factory
Overhead Rs. 13,000; General Overhead Rs. 10,000: Selling and Distribution Overhead Rs. 5,000.

180 Units were sold for Rs. 72,000, Prepare a statement showing total cost and profit made.
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(180 gISAT 72,000 ®. H §T TS | Bl AN R M IR §U Yb fAaRU—UF IR HIFQ |)

Solution: Statement of Cost and Profit

Material Consumed
Wages

Chargeable Expenses
Prime Cost

Factory Overhead
Factory Cost
General Overhead
Cost of Production

Less: Closing Stock (20 units valued at
i.e.(49,000+200x%20)

Production Cost of Goods Sold

Add: Selling and Distribution overhead
Total Cost of Sales

Sales

Profit (Sales minus Total Cost

gl ARl @ AN &1 JelIlcdh JAY:

cost

RS.
10,000
15,000
1,000

26,000
13,000
39,000
10,000
49,000
of production | 4,900

44,100
5,000

49,100
72,000
22,900

[llustration 3: From the following particulars prepare a cost sheet showing the comparative

cost per tonne for both the periods.

(FraferRea faerol | v amTg e SR S [594 |F1 eafedl & fofw ufd e & e

BISSEIREASINRRCICIFYE

Productive Wages
Administrative Epenses

Raw Materials

Taxes and Insurances —(Fatory)
Light and Water —(Factory)
Direct Expenses

Depreciation
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Three months ended

Rs. Rs.
72,000 98,000
12,000 12,000
36,000 49,000
750 750
1,000 1,000
9,000 12,500
2,000 2,000



Factory Rent 1,500 1,500

Unpriductive Labour 30,000 41,000
Factory Repairs 3,000 4,500
1,67,250 2,22,250

The tonnage produced in the two quarters were 12,000 and 16,000 respectively.
(@ fomfeal # STTeT HHIE 12,000 G 16, 000 T o)

Solution : Cost Sheet
Three months ended 31 Three months.ended
March, 2004 12,000 30™ June 2004
tonnes
16,000 tonnes
Particulars
Cost Total Cost Total Cost  per
Cost tonne
per tonne
Rs. Rs. Rs. Rs.
3.00 36,000 Raw Material 49,000 3.06
6.00 72,000 Productive Wages 98,000 6.13
0.75 9,000 Direct Expenses 12,500 0.78
9.75 1,17,000 Prime Cost 1,59,500 | 9.97
0.06 750 Taxes and Insurance 750 0.05
0.08 1,000 Light and Water 1,000 0.06
0.17 2,000 Depreciation 2,000 0.13
0.13 1,500 Factory Rent 1,500 0.09
2.50 30,000 Unproductive Labour 41,000 2.56
0.25 3,000 Factory Repairs 4,500 0.28
12.94 1,55,250 Works Cost 2,10,250 | 13.14
1.00 12,000 Administrative Expenses 12,000 0.75
13.94 1,67,250 Cost of Production 2,22,250 | 13.89

lllustration 4: From the following data, prepare a Cost and production Statement of Popular
Stove Manufacturing Company for the month January to March, 2010:

(FrefarRad effesl § SFaT | 1€, 2010 & oIy UIYeR Wi AqhaaRT S BT AN 9
I faaRer R FifsTo):
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Rs.

Stock of Materials on 01.01.2010 10,000
Stock of Materials on 31.03.2010 5,000

Purchases of Materials 15,000
Factory Wages 30,000
Factory Expenses 10,000,
Establishment Expenses 10,000
Completed Stock in hand on 01.01.2010 5,000

Completed Stock in hand on 31.03.2010 12,000
Sales 72,450

The number of stoves manufactured during the given period 2010 was 500. The
company wants to quote for a contract for the supply of 2,000 electric stoves during the period
September to December, are similar to those manufactured in the previous year, but cost of
materials has increased by 15% and cost of factory labor by 10%.

Prepare a Statement showing the price to be quoted to give the same percentage of net
profit on turnover as was realised during the given period January to March, 2010 assuming
that the cost per unit of overhead charges will be the same as in the previous period.

(€ AT orafer 2010 H 500 YAl BT QA gl | AR A fIWRR, 2010 & IRM
fISTell & 2,000 W@l @ Yff g HIA DI ST AT © | I LG VS G 07 oAl e &

g IR 7d a¥ # T we & §E 2, fhg W @1 AnTd 15 % ¥ T BREMT S B
ANTT 10 % | 9 T8 2 |
Igd HHd @[ U U fqarul dIR $INY iR I8 A1 fd 9l o) g o™ &1

TET UfIerd € S SRl I A 2010 P @ b SR 27| I8 A @fav fh SuRey & ufa
THE NI A IE <A S T Safdy off |)

Solution:-

Statement of Cost and Profit

For the period ending 31° March, 2010

Amount Cost
Particulars Rs. per unit
Rs.

Materials Consumed: Rs.
Opening Stock 10,000
Add: Purchases 15,000

25,000
Less: Closing Stock 5,000 20,000 40
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Factory Wages 30,000 60
Prime Cost 50,000 100
Factory Expenses 10,000 20
Works Cost 60,000 120
Establishment Expenses 10,000 20
Cost of Production 70,000 140
Add: Opening Stock of finished goods (1.1.2010) 5,000

75,000
Less: Closing Stock of finished goods (31.3.2010 12,000
Production Cost of goods sold 63,000
Profit 15% on Cost price 9,450
Sales 72,450
Statement of Cost for the period September to December, 2010
Expected Output — 2,000 Electric Stoves
particulars Amount E:st per unit

Rs. '

Materials Consumed: 80,000
(Rs. 40 x 2,000) 12,000 92,000 46.00
Add: Increase 156%
Factory Wages (Rs. 60x 2,000) W
Add: Increase 10% 12,000 1,32,000 66.00
Prime cost 2,24,000 112.00
Factory Expenses - (Rs. 20x 2,000) 40,000 20.00
Works cost 2,64,000 132.00
Establishment Expenses 40,000 20.00
(Rs. 20 x 2,000)
Cost of Production 3,04,000 152.00
Profit 15% on cost price 45,600 22.80
Estimated Sale Price 3,49,600 174.80
feaeft. 7 w9 foar w3 & FRaT SuRem iR e SuRerm aRad=end

(Variable) 21
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lllustration 5: The following particulars are obtained from the records of Pritam Bros. for the
year 2009-10:

(@¥ 2009—10 & oy WidH s<d & or@i | = faa=or ura f6y T3 ®)

Cost of Material Rs. 1,50,000; Direct Wages Rs. 1,25000; Factory overhead Rs. 75,000;
Administrative overhead Rs. 84,000; Selling overhead Rs. 56,000; Distribution overhead Rs.
35,000; and Profit Rs. 1,05,000.

A work order has to be executed in 2010-11 Which will need raw material worth Rs.
4,000 and wages RS. 2,500. It is expected that rate of factory overhead would go up by 20% and
that of selling overhead by 12 % % while the rate of distribution overhead is expected to go
down by 10% Administrative overhead will remain constant. At what price the product be sold
so as to earn a profit of 15% on selling price. Factory overhead is based on direct wages and the
remaining overheads on factory cost.

(TH HIRE BT a9 20010—11 H FHGT &)1 & I 1T 4,000 . @7 AFEAT derr
2,500 %. B AOIGN! DI METIHT B | VAT S fbam STl & b BT SuResd & &
20 UG 9§ 98 Sl doIm ! SuRe @1 &R 12 % % 9 9¢ SR, Siafe [Javor SuRer
B &R W 10 Ui A @ S BT AgAM © | SRme SuRegy Rer g1 | Sre @l oY
T R 997 99 & e Heg wR 15 Uferd &1 o™ Ui 81 | SRET SURSTT ygel AoTgl
TR AR & TAT I SURTT HFREGHT AR WR MERT 2 [)

Solution:-

Statement of Cost for the Year, 2009-10

Rs.

Cost of Material 1,50,000
Direct Wages 1,25,000
Prime Cost 2,75,000
Factory overhead 75,000
Factory Cost 3,50,000
Administrative overhead 84,000
Cost of Production 4,34,000
Selling overhead 56,000
Distribution overhead 35,000
Total Cost 5,25,000
Profit (comes to 20% on cost price 1,05000
Sales 6,30,000

(1) Percentage of Factory overhead to Direct Wages

=75,000 + 1,25000 x 100 + 1 per cent=60%
(2) Percentage of Administrative overhead to Factory Cost
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(3)

(4)

=84,000 + 3,50,000 x 100 + 1 percent=24%
Percentage of Selling overhead to Factory Cost
=56,000 + 3,50,000 x 100 + 1 percent=16%
Percentage of Distribution overhead to Factory Cost

=35,000 + 3,50,000 x 100 + 1 per cent=10%

Statement showing Cost of the Work Order
during the year 2010-11

Rs. Rs.
Cost of Material 4,000
Direct Wages 2,500
Prime Cost ?5007
Factory overhead(60% of Direct wages) 1,500
Add: Increase 20% 300
Factory Cost 8,300
Administrative overhead 1,992
(24% of Factory Cost)
Cost of Production W
Selling overhead (16% of Factory Cost) 1,328
Add: Increase 12.5% 166 1,494
Distribution overhead (10% of Factory Cost) 830
Less: Decrease 10% 83 747
Total Cost 12,533
Profit-15% on Sales i.c.
Rs.(15/85x12,533/1) 2,212
Selling Price 14,745

feaoft . omT Mdeds v9al 9 &7 TS 2|

lllustration 6: The following particulars are obtained from the costing records of a factory:

Materials issued Rs. 64,000; Wages paid Rs. 56,000; factory overhead 60% of wages.

Out of the materials issued, RS. 800 worth of materials have been returned to the store

and-Rs. 400 transferred to other jobs.

10% of the production has been scrapped as bad and a further 20% has been brought up
to the specification by increasing the factory overhead to 80% of the wages.
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If the scrapped production fetches only, Rs. 470, find the manufacturing or factory cost
per unit of the finished product. The total production (including quantity scrapped) is 100 units.

(Th PREM & ANTd Ao | F=faRad faaver urg &89 2):
|l IR 64,000; ASTGRT &1 56,000 %; HRET IUR(TY AT BT 60% |

ST grEf fAifg @ 78 8 998 ¥ 800 © Y AN USSR Bl 999 BN S TS § JAT 400

% B AT 3T SY BT BT WIFTIRT R e TS 2 |

IS BT 10 UFA9d WRE 89 & BRI IE HY AT AT & dAT 30D IIRTD 20
gfererd & FuiRd WR T o1 & fo7v dRE™T SURIT Bl YT 819 oTd & 80 Ufa3d déb

T AT B |

e R Py T IR W 470 ® Aeld € A Srfed a¥xgall B Ul ghlg DR

g ST DI | Hof IUTEA (I8 BT g8 A BT WAMIT HRA Y 100 SHTE 2)

Solution: Cost Sheet (Output 90 units)

Particulars Amout Amount CO.St Per

Rs. Rs. unit Rs.
Material Consumed:
Material issued 64,000
Less: Materials returned Rs. 800
Less: Materials transferred Rs. 400 | 1,200 62,800 697.78
Wages 56,000 622.22
Prime Cost 1,18,800 | 1,320.00
Factory Overhead: On 100 units 33,600
(60% on Rs. 56,000)
Additional on 20 units 2,240 35,840 398.22
(20% of Rs. 11,200)

1,54,640 1,718.22

Less: Sale Proceeds of scrapped units 470 5.22
Factory Cost of 90 units 1,54,170 1,713.00

fewof: 1. Saifed sogal @ H&aT 9 YR a1 TS 2

Bl IATed ghrgdl 100
Tcrgd : Xg DI TS shIsal 10
a1 g @1 g3 gprsAl 90

2. AFY /9 9 BRI SURIT 100 SHISI W U Aolgy] &
60 URIRIT @ aRTER @16l 6T 17 &, fhw] 20 TRME sHEAT W
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ITD UIE AOIg] B 20 UMIRK & aRER ARG HREHT
SuRe =16l U T & | Bel YdeT Joigel 56,000 %. 8, 3T 20

SHISAT B Y&l HOIGl = (20 /100X56000 /1) . = 11,200 .
BT |

lllustration 7: The following figures are collected from the book of Naman iron works at the
end of year 2009-10 :

(T 3MRIRT 9o &1 Gl I ay 2009—10 & 3=l H FrforRad deg vafad fed 1 J):

Rs.
Opening stock of raw material 35,000
Purchases of raw material 2,50,000
Closing stock of raw material 25,000
Direct wages 50,000

Works overheads 50% of direct wages
Stores overheads 10% of cost of raw material

10% of the castings were rejected and Rs. 2,000 realised from the sale as scrap. 10% of
the finished castings were found to be defective and were rectified by additional works
overhead charges to the extent of 20% on proportionate direct wages. The gross output of
castings during the year was 1000 kg. prepare a cost-sheet and find out the manufacturing cost
of the saleable castings per kg.

(10 wfcrerd &IRET B & e a7 &R 5 3/a¥y @& w9 # 999 ¥ 2,000 . U
g SIfad Sie &1 10 wfcrerd cvgel grar wr) 9 #ife  srguifae 20 fcrerd
TR SREMT IURGY T PR GERI TAT| g9 H Aol IUET 1,000 [hell BN Bl
o | U TANTI—UH TR fdsha AT BT B o1 ArTa sia iy ()

Solution:

Statement of Cost

Particulars Rs. Rs.
Material Used:

Opening stock of raw material 35,000
Add: Purchases of raw material 2,50,000

2,85,000

Less: Closing stock of raw material 25,000
Raw Material consumed (1,000 kg.) 2,60,000
Direct Wages 50,000
Prime Cost 31,10,000
Add: Works overheads (50% of wages) 25,000

52



Additional works overheads 900

Stores overheads (10% of cost of raw material) 26,000 51,900
Work Cost 3,61,900
Less: Sales of Scrap (10% of gross output i.e. 100 kg.) 2,000
Total cost of Net output i.e. kg. 3,59,900

Cost per kg. = 3,59,900/900 = Rs. 399.88

feaeft : sfaRed sREmT SuReE™ & T« JAgER 10 Ui Vgl A1d B GUIRA 2q
BHRYFT IUNSI BT 20 Uferd AR AT 17 | IS FRYT IqTe WR 20 Ffererd sffaiRam
HREFET YRS & AT 50,000 X 20 U = 10,000 ®. BRU| <ifded Qogel AT 10

gfaerd o 3 SfafRed SuRerd B8R 10,000 x 10 UI9T = 1,000 . 398 9 10 Hfoord dr
g B gPT B, 31T 900 . B AfIRad @ret fhar S |

IATGH GTAT AR AFTd JAl d AR
(Difference between Production Account and Cost Shet)

ST QAT 3R rTd g # fferRad o B

SICICEICIG]] SILCICI

1. 3BT ¥R U W & M BT 21 | 1. 3961 WoT Uh W@ & FaH T8l aidl
R UH fIRO-95 & G BT © |

2. 399 AT BT TSRO qEI fBAT ST | 2. 5HH AU BT GAbR0T fHAT S
2 | qor S9@T faftr arTa-ga eI,
SREM AN, A dRd AN &
IR fe@mr ST 7 |
3. 59 U AT B qENI AT | gl | 3. SHH U Iafd W gAY IfalS & g
T B AT by ol & S IR TG IMEATId: A UeH @
gl S 2 |
4. I8 JIEAH I B SER W 91T (4. IJ§ ARKdD SR IFAINT &bl B
ST & | IR R §18 I 2 |
5. IUEA T YA IAEA [I9RT & | 5. AN el IS SUBR & oy iR
forg SR foran S € FH—HH T of FREM & oy TR
@1 STl 2 |
6. I Wil Ug: fad Y&l & | 6. AN JAl AN JRD §RT UG

Slfpel @ SMUR IR JIR fHar Sirdar 2| il B AEIdT ¥ dIR BT o1l 2 |

lllustration 8: From the following information prepare Pig Iron Production Account showing
cost per tonne of each class of expenditure and of pig iron produced.
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( FrafaRead FEemRll | Fedl diEl Ide @M, Ed & Y6 Ae & foly dr Idlfed &
dre & forg, ufd e @rTd g st gU a1gd):

Stock at the Purchases during the Stock attheend

Beginning period

Rs. Rs. Rs.
Coal 4,720 21,880 3,600
Coke 3,580 29,470 2,050
Limestone 1,450 5,080 1,530
Iron-ore 3,930 18,690 3,620
Sundries 2,700 7,810 3,010

General works expenses amounted to Rs. 4,500 and Wages Rs. 17,000..The total production of
pig iron consisted of 32,000 tonnes. Sales of slag is Rs. 10,500.

(FAHR BREFT T 4500 . o qAT ASIG 17,000 . &1 T8 | Hed dAlg BT Ho
ITEH 32,000 S AT | HaR & I T 10,500 . T )

Solution: -

Pig Iron Production Account

For the.......... ending ......

Output : 32,000 tonnes.
Particulars tcc?rffasper Totgl "Seost Particulars Cost Total cost

Rs. Rs. perRs. | Rs.
To Coal consumed 0.72 23,000 By Sale of Slag | 0.33 10,500
To Coke Consumed 0.97 31,000 By Cost of

Production 3.01 96,500

To Limestone Consumed 0.16 5,000
To Iron —ore Consumed 0.59 19,000
To Sundries Consumed 0.23 7,500
To wages 0.53 17,000
To Works Expenses 0.14 4,500

3,34 1,07,000 3,34 1,07,000

Working Note : The cost of various items of material consumed has been calculated as follows :
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Coal Rs. | Coke Rs. | Limestone Rs. | Iron-ore Rs. | Sundries Rs.
Opening Stock 4,720 3,580 1,450 3,930 2,700
Add: Purchases 21,880 29,470 5,080 18,690 7,810
26,600 33,050 6,530 22,620 10,510
Less : Closing Stock 3,600 2,050 1,530 3,620 3,010
Material Consumed 23,000 31,000 5,000 19,000 7,500

Typical lllustrations

lllustration 9: During the month of July, 2010, 32,000 units of a standard product were
manufactured out of which 27,000 units were sold at Rs. 8 per unit. The cost of raw material
consumed was Rs. 1,20,000 and the direct wages paid Rs. 32,960. The factory overhead are
absorbed at machine-hour rate, which for this month was Rs. 5 per hour_and 2,400 machine
hours were worked during the month. The administrative overheads are charged @ 20% on
works cost and the selling overhead @ 25 paise per unit sold.

Prepare a Cost Sheet showing (a) cost per unit, and (b0 profit for the month.

(A8 elTg, 2010 H Udh IR Bl 32,000 SHIgAl o0 g /s | 27,000 1Al
DI 8w URT ghe @ RAE | 99 Qa1 TA1| SUART H A dTell A & &R 1,20,000 6.
of AT TheT HAOTGXl 32,960 . I YA AT TAT| HREMT IuRSY BT A= HUST & W
IILNYOT fHar ST 2 | 9 A8 H Ig <% 5 . Ui guet o) dor w9 7 39 WE # 2,400 €U
®M foar o7 | gemfE SUREY HRWHET drTd_ WX 20 Ued @ e | aret f6d o €
IR fawa SuRey 25 U 3@ (R g2) & fasma & =t fhd oI 2|

(37) Ul ShIS AT, TAT () A8 BT o™, [T@KT 8T ANTT—JAT TIR DI |)

Solution:

Cost Sheet for the Month of July, 2010
Output : 32,000 Units

Particulars Amount Rs. | Cost per
unit Rs.

Raw Materials consumed 1,20,000 3.750
Direct Wages 32,960 1.030
Prime Cost 1,52,960 4,780
Works Overheads Rs.(2,400x5) 12,000 0.375
Work Cost 1,64,960 5.155
Office Overheads Rs.(20+100x1,64,960) 32,992 1.031
Cost of Production 1,97,952 6.186
Less: Cost of Finished goods at the close of the month
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Rs.(5,000x6.186) 30,930

Production Cost of goods sold 1,67,022 6.186
Selling Overhead Rs. 27,000x25+100 6,750 0.250
Cost of Sales 1,73,772 6.436
Profit 42,228 1.564
Selling Price Rs.(27,000x8) 2,16,000 8.000

lllustration 10: From the following data of a company, prepare a statement showing cost of
goods manufactured and sold and profit earned:

UH A | Frd FEfalRad sifeer o AT &R 99 T At &1 arTa. 7T ifsid o
fe@rd gU Us fqaRv— 93 dIR $IR) |

(i). Inventory Stocks

April 1, 2009 April 30,2010
Rs. Rs.
Raw material 8,000 8,600
Work-in-Progress 8,000 12,000
Finished Goods 14,000 18,000

(ii) Other information :
(a) Direct Labour Cost Rs. 16,000 (160% of Factory overhead);
(b) Office Expenses Rs. 2,600;
(c) Selling Expenses Rs. 3,400;
(d) Cost of Goods sold Rs. 56,000;
(e) Sales Rs. 75,000.
Solution:-

g § < TS G H g8 78 99 T © & uge ARl @) onrd (Cost of Raw material

consumed) T off | g9 fasl @) ad (Cost of Goods Sold) &1 MR §9THR faua fawm
H TP WIH AHA S AT 59 USR TG BT T &

Rs.
Cost of goods'sold 56,000
Add: Closing Stock of Finished goods 18,000
74,000
Less: Opening Stock of finished goods 14,000
Cost of goods manufactured 60,000
Add: Closing Work-in-prigress 12,000
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72,000

Less: Opening Work-in-prigress 8,000
64,000
Less: Office Expenses Rs. 2,600

Factory overhead 100 +160xRs. 16,000 = Rs. 10,000
Direct wages 10,000 x 160 + 100 =Rs. 16,000 28,600
Cost of materials consumed = 35,400

Statement of Cost for the Month of April, 2004

Rs.
Cost of Materials consumed 35,400
Direct Labour Cost 16,000
Prime Cost 51,400
Factory overhead (16,000x100+160) 10,000
61,400
Add: Opening work-in-progress 8,000
69,400
Less: Closing work-in-progress 12,000
Work Cost 57,400
Office Expenses 2,600
Cost of Goods manufactured 60,000
Add: Opening finished stock 14,000
74,000
Less: Closing finished stock 18,000
Cost of Goods sold 56,000
Selling Expenses 3,400
Cost of Sales 59,400
Sales 75,000
Profit earned 15,600

lllustration 11: The following is the summarized Profit and Loss Account of Rajasthan Electric
Co. for the half year ending 30" September, 2009 in which half year 1,600 electric fans were
manufactured and sold by the said firm.
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(30 TR, 2009 BT AT B dTet Mg—a¥ & foly, IoRAM eifded HH=1 &1 f=faRad
Hfer AT —gI W1 & | 39 fg—ay H S BH §RT 1,600 [ISiell & U@l &1 foAfor gam den
S ikl

Summarised Profit and Loss Account

For the half year ending 30" September, 2009

Rs.
To Materials used 64,000 By Sales 3,20,000
To Wages 96,000
To Manufacturing Charges 40,000
To Gross Profit ¢/d 1,20,000
3,20,000 3,20,000
To Office Salaries 48,000 By Gross Profit b/d W
To Rent and Taxes 8,000
To Selling Expenses 16,000
To General Expenses 24,000
To Net Profit 24,000
1,20,000 11,20,000

The following estimates were made by the costing department of the company for the half year
ending 31° Marc,2010%

(@) The output and sales will be of 2,000 electric fans.
(b)  The price of materials will rise-by. 25% on the previous half year’s level.
(c) Wages during this half year will rise by 12.5%.

(d) Manufacturing charges will rise in proportion to the combined cost of materials and
wages.

(e) Selling expenses perunit will remain uncharged.
(f)  Other expenses will remain unaffected by the rise in output.

Prepare a statement showing the price at which the electric fans would be marked so as to
show a net profit of 10% on the cost price.

(31 AT/, 2010 BT FHIG B dTel G—aY & fol¢ B & AN odidd faWRT gRT fAmferRad
A oI T

(31) 2,000 faSTell & UxET BT ScATE ToI It By |

(&) 77 TE—a¥ @ gHrae § ARl & qeu H 25 ufaerd @1 gfg Bl
(¥) 39 E—ay H Augy # 12,5 ufcrera &1 gfg grfY|

(X) AT TAT AT B ARATTT AT & AU H IITeH T TG |
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(@) fapl =77 Ul S8 & feaE o JuRafdd 8 |)

U fqaRer —qF 18y 9| AT o R 10 Uferd Yg—o™ o 8U 98 Hod S1d difoTy
o W= & fastell & gl @1 991 9 |

Solution:

Statement of Cost

For the year ending 30" September, 2009

Output-1,600 Electric Fans.

Particulars Amount Co§t P
Rs. Unit Rs.

Material Used 64,000

Direct Wages 96,000

Prime Cost 1,60,000 100.00

Manufacturing Expenses 40,000 25.00

Works Cost 2,00,000 125.00

Office Salaries Rs. 48,000

Rent and Taxes Rs. 8,000

General Expenses Rs. 24,000 80,000 50.00

Cost of Production 2,880,000 175.00

Selling Expenses 16,000 10.00

Total Cost 2,96,000 185.00

Statement showing Selling Price of Electric Fans

For the half year ending 31°*March, 2010

Output-2,000 Electric Fans.

Particulars Amount Co§t Per

Rs. Unit Rs.
Rs.

Materials used (Rs. 40 x 2,000) 80,000 1,00,000 50.00

Add: Increase 25% 20,000

Direct Wages (Rs. 60x2,000) 1,20,000

Add:Increase 12.5% 15,000 1,35,000 67.50

Prime Cost 2,35,000 117.50

Manufacturing Expenses 58,750 29.38

Rs.(40,000 + 1,60,000) x2,35,000
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Work Cost 2,93,750 146.88
Office Salaries 48,000

Rent and Taxes 8,000

General Expenses 24,000 80,000 40.00
Cost of Production 3,73,750 186.88
Selling Expenses (Rs. 10x2,000) 20,000 10.00
Cost of Sales 3,93,750 196.88
Profit Rs. (10 + 100) x 3,93,750 39,375 19.69
Selling Price 4,33,125 216.57

lllustration 12 : The Manager of a Cooler Manufacturing concern consults you as Cost
Accountant as to the Minimum price at which he can sell coolers of the concern which are
intended for mass production in future. The concern’s records show. the following particulars
for the past year.

TH HoRk AT FAT BT AR 37 H AN o @Ud & $9. H SS9 gAaq ed & aR § -
ARTAT 2 57 0R a8 e & HeR 99 9 | 4fa § g9 Bl BT 984 Afdd Iared ged
DI ST & | AT & i@l I Td 99 & qHa= § FrforRad g e gs—

Rs.
Production and Sales: 500 Coolers 1,20,000
Materials 60,000
Direct Charges 10,000
Direct overhead 70,000
Office overhead 28,000
Selling overhead 32,000
Profit 48,000

You ascertain that 50% of the works overhead fluctuate directly with production and
60% of the selling overhead fluctuates with sales. It is anticipated that the concern would
produce 2,500 coolers per annum and that direct wages per unit be reduced by 20% while fixed
works overheads charges will increase by Rs.30,000 Office overhead and fixed selling overhead
charges are expected to show an increase of 25% but otherwise no changes are anticipated.

Prepare a statement for submission to the Manager of the concern if the same percentage of
profit is'desired as in the past year.

@MIdT I BT ® fh BREMT SURST &7 50 YR SR & AT Udel w9 H
"goa—dedT © a1 fam SuRera &1 60 ufer fash! & | gcar 9edl | I8 IgAH © &
FYAT 2,500 FERT BT MNP IcATa BN AR YT by Tde Aoiqyl 20 YRR 4§ g€ SIREf
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STgfh TR RGN SURITT 30,000 . I g1 | BT IURTY dr Wil 9 SuRay o
25 yfaRrd @) gfg &1 FFAM 2| S AT T By URTH B B TR T B |

Jg wd gy fb o @1 981 ufderd sfed € o f6 wd af # gl Wt o, wven &
AoR B Fd R & U U faaRor—u=3 GaR $HIfTg |)

Solution : Statement Showing the Selling Price of Coolers

Output : 2,500 Coolers

Amount
Particulars AmountRs. | per unit

Rs.
Materials Rs.(240x2,500) Rs. 6,00,000 240.00
Direct Wages Rs. (120x2,500) 3,00,000
Less: Reduction 20% 60,000 2,40,000 96.00
Direct Charges Rs. (20x2,500) 50,000
Prime Cost 8,90,000
Works overhead
Fixed (50% of Rs. 70,000+30,000) 65,000
Add: increase (Variable 50% of Rs. 140) Rs. 70 x
2,500 1,75,000 | 2,40,000 | 96.00
Work Cost 11,30,000 452.00
Office overhead
Add: increase 25% 35,000 14,00
Office Cost 11,65,000 466.00
Selling overhead
Fixed (40% Rs. 32,000) 12,800
Add: increase 25% 3,200

16,000 |

Variable (60% of Rs. 64=Rs. 38.40x2,500 96,000 1,12,000 44.80
Cost of Sales 12,77,000 510.80
Profit 15% (on cost of sales) 1,91,550 76.62
Selling Price of 2,500 Coolers 14,68,550 587.42
ooy -

oY P e e YR S @1 TS =
9fh 500 BRI DI 9T BT AT
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1,20,000+60,000+10,000+70,000+28,000+32,000 = 3,20,000 .
3R el o™ = 48,000 . |

fIel & AT W A B ufRrd <) Bl |
48,000/3,20,000x100/1 = 15%

lllustration 13 : The books of an Iron foundry reveal the following figures for the year 2009.

(TP |8 B TAlE & HREM B JID ay 2009 & fofy F=feiRad GaaW ydhe Hel & )

Rs.
Opening Stock of Raw Material 14,000
Closing Stock of Raw Material 10,000
Raw Materials purchased 1,00,000
Direct Wages 20,000

Factory overhead : 50% of Direct wages

Stores overhead : 10% of the Cost of Raw materials.

10% of the castings were rejected and the scrap realized Rs. 800. 10% of the finished
casting were found defective and were brought up to the specification by incurring additional
works overhead to the extent of 20% on the proportionate direct wages. The gorss output of
the castings was 2,000 Kg. Ascertain the manufacturing cost of the saleable castings per Kg.

(@IRST & 10 UfRId 9TT @1 FRAIBR B fadr a7 3R & A 800 . 9GS U |
T ST @& 10 uferd VYl Uy T SIR-SIuTae Ui Auigdl & 20 U @ SRTER
IR PREFT SURIY Wd b I= IR TR TH IRIT AT | BIRST BT bl SIS
2,000 fhHammT o | Ay Iy wIReT & Ui fHaum fSHoT arTd siTd B |

Solution :

Cost Sheet
Net output : 1800 Kg.

. Total Cost | Cost per
perticulars Re. Kg.ﬂRs.
Raw Materials consumed: Rs.

Opening Sotck 14,000
Add: Purchases 1,00,000
1,14,000 |
Less: Closing Stock 10,000
Direct Wages 1,04,000 1,04,000 57.772
20,000 11.110
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Prime Cost 1,24.000 68.882
Factory overhead (50% of wages) 10,000 5.555
1,34,000 74.437
Stores overhead (10% of Raw materials used) 10,400 5.777
1,44,400 80.214
Less : Sale of Scrap 800 0.444
1,43,600 79.770
Add: Additional works overhead 360 0.200
1,43,960 79.970

fewofl} : FFHa IAET P AWGIT 20,000 F AL 20,000 + 2,000 = 103 U fHaArwm o |

3d: TNYUT TG H AR Foige! 180 X 10 = 1800 % §s | $9 JcUlaw bl FRT H 1800
. & 20 URIRIT AT 360 w. AfIRTH PRGN IURST e gU |

lllustration 14: Pratap Ltd. had received an order for the supply of three different types of
casting weighing respectively 36,90, and 54 Tonnes. 10% of the raw materials used is wasted in
manufacturing and sold as scrap for 25% of its cost. The cost of raw materials is Rs. 500 per
tonne. The wages for three types of casting amount to. Rs. 12,000, Rs. 31,500 and Rs. 16,500
respectively. The costs of the mould for three different types of castings are Rs. 1,200, Rs. 1,000
and Rs. 900 respectively. Factory overheads are to'be charged at 30% of Wages and Selling,
distribution and administrative overhead at 20% Works Cost. It is desiredto earn a profit of 25%
on selling price. Ascertain the price to be quoted for the supply of these different types of
castings on the basis of the above information.

Gam fafics 9 9 IR & HNCT (@l ax]) &I AR g UP IMMee ura fdhar
ST SR P 36 T4, 90 TH M 54 T WA DI MY BRAI | UG DI S dredl
| B A/E BT 10 gfererd T ufhar § & 81 Srar €, O 3Ry & w9 H Al Bl
AN & 25 UREd o &R fahd @x e Siar g1 9l &1 e 500 . Ui e ' s
AT AHl IR @ BIRST TR HHIT: 12,000 %.31,500 B, TAT 16,500 ¥ o | AHI a9 Tt
@ I3 BT T =g Wil bl AN HAT: 1,200 F., 1,000 FH., TAT 900 F.& | HREM
IURSTY Ucgel 519 T 30 Gicerd 1 by, fadaRer vd yemad SuRerd SREMET ANTd &l 20
gfererd AT 2 | fahd gt R 25 Uferd o™ AT BRAT & | SuYth el & SR WR
AHT IR & HINET B AYfT &g Sad (A S drel AT DI AT DI |
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Solution: Statement showing Cost of Castings

Particulars Casting Manufactured
A B C
Output 36 tonnes | 90 tonnes 54 tonnes
Input 40 tonnes 100 tonnes | 60 tonnes
Rs. Rs. Rs.
Cost of Material(Rs.500 per tonne of gross input
i.e. 40,100 and 60 tonnes respectively) 20,000 50,000 30,000
Less: Sales of scrap @ Rs. 125 per tonne (25% of
cost of material) of 4,10 and 6 tonnes 500 1,250 750
respectively
Effective cost of raw material used 19,500 48,750 29,250
Wages 12,000 31,500 16,500
Cost of moulds 1,200 1,000 900
Prime Cost 32,700 81,250 46,650
Factory overheads(30% of wages) 3,600 9,450 4,950
Factory Cost or Work Cost 36,300 90,700 51,600
Selling, distribution and administrative
Overheads (20% of Works Cost) 7,260 18,140 10,320
Cost of Sales 43,560 1,08,840 61,920
Add: Profit 25% on Sales or 33 1/3 %
Cost of Sales 14,520 36,280 20,640
Selling Price 58,080 1,45,120 82,560
Tonnes 36 90 54
Selling price per tonne 1,613.33 1,612.44 1,528.89
fewmf.— A B C
IR A 36 T 90 T 54 T

Th YT BT 10 TR & BIaT &, 3fd: Weh ATl
= 36X100 /90, 90X100,/90, 54X100 /90
= 40 €1, 100 T, 60 T

Hlustration 15: Following information has been extracted from the records of Jai Industries
producing one hundred standard product which relates to the year ended 31 March, 2010.
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(S SUSEEIS gRT U Al YATT 9] &I Ia1e (a1 ST &1 31 A€, 2010 I FATK B
qrel 99 | G FEfeiRed Gl &R @ ffverdl ¥ SUael 3l g 7):

Rs.
Direct Wages incurred 1,00,000
Convertible Material 60,000
Fixed overhead 30,000
Variable Overheads 20,000

It is expected that during the year 2010-11
(1) Output will be raised by employing 50% more workers:
(2) Overall efficiency will fall by 10% because of new workers:
(3) Material price will increase by 10%
(4) Variable overheads will vary with the number of workers:
(5) Fixed expenses will increase by 25%

Ascertain the total cost of the output for the year 2010-11 assuming that there will be no
opening and closing stock of any type.

(2010—11 99 & fory 1 T TaY 2)

(1) 50 wfcrera @1f¥re sl &1 FgRh gRT ScuTe. # afg &1 SR,

(2) T SIfHPT & BRU oI UG AT H 10 YFALTT BT HH BT SIRAN,
) |ElY & gt # 10 gfrera | gfg gnfl,

(4) aRad=eer SuRer sifel & e & srura & uRafda g,

(5) ~mft @y 25 Ufrerd ¥ 98 SR

Jg A gY 6 Bl 1l UBR. & UR™E &R o o< Wid 81 &, 9y 2010—11 &
foTq ot aRTa &1 R I |

(3

Solution :

Statement of Cost for the year 2010-11

Total
Particular Details

Rs.
Material cost (present) 60,000
Add: 35% increase in output 21,000

81,000

Add:10% increase in price 8,100 89,100
Direct Wages Cost (present) 1,00,000
Add: 50% increase in direct wages on account of additional
employment of woukers
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50,000 1,50,000
Prime Cost 2,39,100
Fixed overheads (present) 30,000
Add: 25% increase 7,500 37,500
Variable overheads (present) 20,000
Add: 50% increase in workers 10,000 30,000
Total Cost of output 3,06,600
fewo -
(1) Scared # gfg 35 Ul &1 IRFT 39 PR =
JAAM H Fel IATGA 100  gepIgdl
SREA: T HHAIRAT BT Wil & BRI g 50 - SebTgal
150 SHISAT

ey T UG b1 9l & HRYT ScTe &9ar §
HAr 10 gfaerg 15 SHISAT
@l SUTe 135 gablgdl

39 UHR IATGT 100 SHISAT & WIH W 135 SHISAT 89 & HRUT IAET § 35 Ui9rd
afg @ F=ITET 7|

(2) uRad=elel =3dl H SIfYdT B WAL S AR W AT 50 URK gig &1 aReed
forar o 7 |

(3) Tl IUGT @1 AN 3,06,600 %, T 2010—11 H FHIIT 2 |

lllustration 16: A factory can produce 2,40,000 units per annum at 100% capacity, the
cost of production is estimated as follows:

Direct material Rs. 6 per unit; Direct labour Rs. 4 per unit (subject to a minimum of Rs.
48,000 per month); Fixed overhead Rs. 3, 20,000 per annum: Variable overhead Rs. 4 per
unit.; Semi-variable overhead Rs. 1, 20,000 per annum up to 50% capacity and an additional
Rs. 40,000 per annum for every 20% increase in capacity or a part thereof. Scrap resulted
from each unit is sold at 40 Paise. In 2010 the factory worked at 50% capacity for the first
three months.but it is expected to work at 80% capacity for the remaining nine months.

The selling price per unit was Rs. 24 during the first three months. What price should be
fixed for the remainnning 9 months to yield total profit of Rs. 4, 36,0007

(T HREMT 100 U AT WX 2,40,000 SHIZAT BT IUEH B AHAT & | ST
B ARG BT I JHR IFAM ST ST B |

ggel AT 6 %, URT SHI8, TS S 4 . Ul Sdhs (YA 48,000 %, U #1E), ReR
IURTT 320000 . U g9, uRead=ieficl SuRerd 4 &. Ui gdbls, e— URad=eiel
IURET 1,20,000 ®. U 99 50 UfIIT &Ml R, IR 3D SUR YAP Shls I U Y
BT 40 U9 & B9 9 99T ST 81 g9 2010 B YUH o9 HSHT H BREM H 50 Ufaerd
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AT IR BRI fhar JIfba mem &7 O 2 6 9w 9 72+ § I 80 Ufderd &™dr R &

BT |

g A9 wEMl W A%y ¥ 24 % U SdIS oAT| AN 9 wEMI @ oI w1 eMd

ReiRa @1 Sid 5 gt 4,36,000 %, ™ U< 8 S |)

First 3 | Nesxt 9
month months Total Units
Particulars 50% 80% capacity | 1 74 000
capacity (1,44,000
(30,000 units) Rs. Rs.
units) Rs.
Direct Material @ Rs. 6 1,80,000 8,64,000 10,44,000
Less : Sale of scrap @ 40 paise per unit 12,000 57,600 69,600
1,68,000 8,06,400 9,74,400
Direct Wages @ Rs. 4 per unit or 1,44,000 5,76,000 7,20,000
(Rs. 48,000 p.m.) Whichever is higher
Prime Cost 3,12,000 13,82,400 16,94,400
Overhead Expenses :
Fixed @ Rs. 3,20,,000 p.a. 80,000 2,40,000 3,20,000
Varialbe @ Rs. 4 per unit 1,20,000 5,76,000 6,96,000
Semi-Variable 30,000 1,50,000 1,80,000
Total Cost 5,42,000 23,48,400 28,90,400
Sales @ Rs. 24 per unit 7,20,000
3 months’s Profit 1,78,000
Add: Desired profit during 9 months
(Rs. 4,36,000 —Rs. 1,78,000) 2,58,000
Sales requird during 9 months 26,06,400

gl / QUESTIONS

1. Adarsh Cold Limited manufactured and sold 1,000 Coolers during the year ending 31%

March 2010. The summarized profit and loss account is set out below.

(el dies fafics =1 31 41, 2010 BT AT B dTel 99 H 1,000 HelRl b1 A1
T dorm S8 991 | AM—aI @rar St w9 H frefaRed far m )

Summarised Profit and Loss Account

For the year ending 31° March, 2010
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Rs. Rs.
To Materials used 80,000 By Sales 4,00,000
To Wages 1,20,000

To Manufacturing

Expenses 50,000
To Gross Profit ¢/d 1,50,000
4,00,000 4,00,000
To Management and Staff Salaries GO,T By Gross Profit b/d 1,50,000

To Rent, Rates and Insurance

10,000
To Selling Expenses 30,000
To General Expenses 20,000
To Net Profit 1,50,000 1,50,000

For the year ending 31 March, 2011 it is estimated that :
(31 HTE, 2011 BT FAIG B dlel 99 & folY AN RTIRT Sl 2 foh):
(i) Output and sales will be of 1,200 Coolers.
(Scre &R faspr 1,200 TR B
(ii)  Price of materials will rise by 20 percent on'the previous year’s level.
(AR @ DT B ¥ & WX WX 20 YRR 9 96 SIa);
(iii) Wage Rate will rise by 5 percent:
([ BT &R 5 U A g S,

(iv) Manufacturing expenses will rise in proportion to the combined cost of materials
and wages.

(ScaTe T A 3R S| B AYh AN P JJUM H 98 SIa);
(v) Selling expenses per unit will ermain unchanged.
@iy sors faspa @ aRafid 29);
(vi) Other expenses will remain unaffected by the increase in output.
(g T ST # gfg & HROT I 32 |);

You-are required to prepare a statement showing the price which the coolers should be
marketed so as to show a profit of 10 percent on the selling price.

(@MU I8 fe@ gU Ue fAaRu—ux 9991 © 6 deRk fod o0 w® 99 o dife
fasma qea R 10 Ufcerd & Ut 2 )

[Answer: Selling price per cooler Rs. 425]
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2. The Managing Director of a small manufacturing company consults you as to the minimum
price at which he can sell the output of a department of the company which is intended
for mass production in future. The company’s records show the following particulars for
this department for the past year.

(T g FHEIT B & Y Haredd | 39 W I RATH oI & IR H I ARM 7
9 R {dhag O & o favmT gRT ScTfed avqgall & o9 | 9fasg § a8 favmr o<
TN R IS YRR BRI D1 AT &7 2 | B & ol 9 71d 99 & U g9
famT & W # fFrafaRed sffes uma 8 2):

Production and Sales 2,000 Units
Materials 26,000
Direct Wages 14,000
Direct Charges 2,000
Works Overhead 14,000
Office Overhead 5,600
Selling Overhead 6,400
Sales 78,000

You ascertain that 40% of the works overhead fluctuates directly with production and
70% of the selling overhead fluctuates with sales. It is anticipated that the department
would produce 5,000 units per annum and that direct labour charges per unit will be
reduced by 20% while fixed works overhead charges will increase by Rs. 3,000. Office
overhead and fixed selling on cost charges are expected to show an increase of 25% but
no other changes are anticipated.

Prepare a statement for submission to the managing director.

@mUdT S BT § fb BREET SUREAT BT 40 U U@ w9 W SR B AT
Hedi—gedl & ao A%y SURSRY &1 70 Uferd Il & e ged—dad & | I8 3rHH
T Srar & fb faurr | ufe ad 5000 sorsat Sarfed g dT Ufd sHs SH oNTd
20 Ufderd 9 ge SRl Sefe el dRE™T SURETT 3,000 %, I 98 SIRAT | SR
SuRST dorr ¥R fashy SuRey 25 uferd & 9 S| 3R dIs URdad- 89 @
JEGET T8 R YR Heladd Bl Ao b U Te fdaRur—u= 9919 |) (Bikaner
University, 2007)

[Answer: Total Selling Price-Rs. 1, 65,177; selling price per unit Rs. 33.04]

3. The Fancy Toys Company manufactures two types of toys: X and Y. The manufacturing
details for the year ending 31* December, 2010 were as under:

(@ o=N care HFE X qar Y °F fee & Radmi &1 o et g1 31 foawR,
2010 T WA BF dTel 99 & forg Icured fIarvr 59 yaR 9):

Rs.
Direct Material 2, 00,000
Direct Wages 1,12,000
Manufacturing overhead 48,000
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3,60,000

There was no work-in-progress at the beginning or at the end of the year. It was ascertained
that:

(i) Direct materials per toy for type X, cost twice as much as direct materials per toy in type Y.
(ii)  Direct wages per toy for type Y were 60% of those for type X.

(iii) Manufacturing overhead was 30 paise, the same per toy of X and Y types.

(iv) Administrative overhead for each type was 200 percent of direct labour cost.

(v) Selling overhead was 25 paise per toy sold for each type.

(vi) Production during the year: Type X-40,000 toys of which 36,000 were sold;” Type Y
1,20,000 toys of which 1, 00,000 were sold.

(vii) Selling price — Type X Rs. 7 per toy; and Type Y Rs. 5 per toy.

Prepare a statement showing the cost per toy for each type of toy and profit earned on
each type of toy.

(@¥ © UR®T 1qaT 3 H DIg fg—Ha AT Tl AT )

ag?l'lﬁg%ﬂﬁ%

(i) ves fem # ufa Racl=T ucged armll o as fos @ ufa Raad=r ucget armfl anrd
A A T

(i) g o= & ufa Racl=T guer oM g v fom & ufar Raadls &1 60 ufderd g1

(i) srRE™r SuRe™ 30 U9, T @ik 918 fhw & ufd Raeiq & tdh & &% W |

(iv) % fom & Racdla A Yo SURET Ucdel 519 T & 200 Y9 2 |

(V) I 99 T Raae iR fao) SuRerr 25 4= o |

(vi) 9§ & e fo @& Racie &1 Sdred 40,000 98 9 99 T 36,000; A5 fhed @
RaclFT &1 ITEH 1,20,000 TH | 99 T4 1,00,000

(vii) fama qea—vad fee 7% Ul Racdn, a8 fos — 5 w.ufd Ract |
TRE e & Radibl & fog ufdr Radi=n ana Heg @ 89 W AR T M &l
fe@m gu faaro—us 915 |)

[Answer: Cost ' of production per toy:X Rs. 5.30 and Y Rs. 3.10 profit earned on each type
of toy X Rs.52.200 and Y Rs. 1,65,000]

4. A factory has received an order for three different types of casting weighing respectively
18, 45 and 27 tonnes. 10 percent of the raw materials used are wasted in manufacturing
and are sold as scrap for 20% of the cost price of raw materials.

The cost of raw material is Rs. 250 per tonne, the wages for three types of castings are
respectively Rs. 4,000 Rs. 10,500 and Rs. 5,500. The cost of the moulds for the three
different types of casting is respectively Rs. 400, Rs. 500 and Rs. 300.

If the factory overhead charges are 40% of the wages in each case, find the cost of
production per tonne of each type of casting.
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(fp<l PRET = HHM: 18, 45 TAT 27 T TG & A YAH—YD YPR P HINSTH b
fou sy ua fFar g1 T SR § 9ge ARl &1 10 9RRd JeR B Sar § Sl
ey AT & ®Y H AW ARG b 20,/ o W 99T ST 2 |

AR ARTT 250 6. Ui €9 © 3R It b DR $Hd BINST & oY 81 I HH:
4000 %, 10,500 %, TAT 5,500 %. Sodl & | Sad i UbN & Alal dI oIRTd Ha9T: 400 B,
500 %. AT 300 %. 2 |

I PRYMT IURTY Y- <M H 319 YA BT 40 URIed &8 dl U-hd UdR &
PRSI BT Ul T4 IATGH AN S HIFSTT |)

[Answer: Cost of production per tonne : | Type Rs. 605.56 Il Type — Rs. 610.00,lI Type —
Rs. 568.52]

5. X, Y and Z Ltd. manufacture a number of sizes of product ‘P’. They have grouped various
sizes into four main groups called A,B,C and D groups. If the company manufactures only
one group in the factory, the monthly production can be either 5,000 piece of A Group, or
10,000 pieces of B group, or 15,000 pieces of C group, or 30,000 pieces of D group. From
the following information. Your are required to find out the profit/loss made on each
group of product showing prime cost, works cost, and total cost:

(T, a3 3R Sis foffics U Sde @ @ $3 MHR 4 8| S=H AT eRY
B 4 ®Y W IR AL AAT Y, 1, A vd 1 H affrd weo@r 2 Al s SunTeer
¥ dael U g g1 & 1 A8aN] Scdred ‘U g Bl 5,000 SHISAT @l ‘d DI 10,000
ShIsAT 3T A oI BT 15,000 ShIgAl, AT | EY aF Pl 30,000 FHEA B Ahal 2 |
UfeIRad el ¥ 3Mudh] I & D, & W Hd Fd, HREMEI AN, B
SNTa @ §Y am—gI |1 FR 2):

Product group A B C D

Actual production during a month

(Pieces) cost 675 1,800 4,050 9,450
Rs. Rs. Rs. Rs.
Direct Labour Cost 3,000 5,500 7,500 21,000
Direct Material Cost 3,500 6,500 9,500 27,500
Sale Price per unit 30 20 15 12

Work overhead expenses for the month are Rs. 81,000. Selling and distribution cost is to
be calculated at'the rate of 10% of works cost. Works overhead expenses are to be
allocated toeach product on the basis of number of units produced.

(8 & HREHET IURIT 81,000 . 2| fdhg vd IR R B T0ET HREET AN
R 10 A9 A BT B | PRGN SURTAT BT Udd I F ded Idied shisdl al
RGT B MR TR HRAT § |)

[Answer : Loss Group A — Rs 265, Profit-Group B-Rs 4,980, Group C-Rs. 15,320 and Group
D-Rs 28,865]

6. Y manufactures stools, chairs and tables. The materials and labour costs, per unit are
separated as follows:
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(ar$ ¥, Bl Ud WOl BT SUTed BRAT & | YUh w9 H Ul gdbrg Al SR A9 AT
for 1 uaR ?):

Stool Chair Table

Rs. Rs. Rs.
Material cost 60 90 300
Wages 80 100 250
Production (Units) 900 150 100

Total factory overhead Rs. 33,000

You are required to determine the works cost of each type of furniture after assuming that
one table is equivalent to four stools and two chairs are equivalent to one table for the
purpose of factory overhead allocation.

(CMIPT TP fHH & BHATER DI RGN ANTd S TOET BRAT & [ BREHT STRTT ©
dcd & oy Ul I8 99T & 6 Ua A9 IR WAl @ IR B aT |1 GRIAT Ta A9
@ RIER 2 )

[Answer: Factory cost per unit — Stool Rs. 155

Chiar —Rs. 220; Table—Rs 610 ]
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SUBT, IHE qAT 3BT drTa faeizoer df

[Job, Batch and Contract Costing Method]
SUerd rra ez &1 sl

(Concept of Job Costing)

Susr orrd fRaRer fafsr g sd BRa @ T ol fafyr & s e gied gRT
o T UAP SYBR AT BRI B oIV ANTd dedl BT elT—3Tel’T Gied fhar e g |

IUG RTd uRYT arTd ST AR B T AT fAf @ e g Oy s
SUBRT S U1 IED! & FEegaR R 6 I 8, @1 a9 &) 2 [har. ol & | I8
AT S & @) T U1 fafer & S Susrat ar Ry smewi @ gfid @A arel S H
AUAR S & | g1 SN H SUGET T IR Qe Ful F=Hior gfsar # e iida
9 9910 Y@l 2| I8 fAf ameae: U IRemell gRT AR Ot 2 Sl fh UTETel @
e e vd faRiy smesi @1 gfd B9 yud—yud dril A1 sl W Sded $Rd T,
ST U9, 9 9ifg, UfeetT ST, BREd Sel SA1S | Udd SYBRI &l oINTd aof 89 IR
gU @M AT BN &1 S 9T &< 2g JUd SUSRI—93a (Job card) IR &3 9 7 |

Syard arrd d@red fafr @ falerarg

(Features of Job Costing Method)

39 fafe &1 gg faRivary fAeforiad o

(i) uEsl & B o i 8g & Scare fBar Sl 8, #l b1 Wik W &g ol |
(i) axg @1 T REE a7 fon == A & 5y ST 2 |

(iii) I® SUBR W AT AT B BT STEHRL I B ST 2

(iv) SYsR &1 orra den uifd R o e fear S dadr 2 |

SUSR dRTd dErd & drifafey

(Procedure of Job Costing )

9 Faa § Susd anTd HeaiRor fafr siaRi Sidy € 981 R UTEd b IRy urd
B9 ¥ oI SUBRI B THIT T ifhd brd gomell agR § ORIl 2

1. Susrd 3l @& (Job Order No.) : ITEd ¥ SUGR 3N U B & a8 S
Th AT 3Mdfed B & Sl &, dif SS9 Uga™T S | |

2. Sareq 3l (Production Order.) : I8 U6 UHR A &R UR™ &R BT AT &
S AT fIMTT gRT BRAA &1 9%] BT IeT UR™ &R =g folRad o SR o
SITAT ) 394 USRI T oA, Siki— SUBR e AT, faHAld, urgd &1 9,
SUBI P T3 UG faarvr, fSoied, URRT 9 W@HIW BRA b fAfdr der =y e
fader fo Sird 21 591 Uty fAifhd YR BT 81 Fhdl o

Production Order

Serial No. ........... Quantity Order .........
Cose No. ............ Date Ordered ..........
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Description .........

Customer’s No...

Materials required .......

Operation Nos...

Machine Nos.............

Date of commencement......

Date of finish ......

Clock
Time

Operation

No.

Department
No.

Operation

Quantity

No.

Details

No.

Details

Made

rejected

Recorded by

3. @rrdl &1 o@r ®xA1(Recording of Cost) : & SUaR R @y fhd T AT,

39 9 SURSAN | FREIA o], SUSR arTd 3320 (Job Cost Shet) # far < |
SHBT YT Iifbd TR BT B Thel o

Approved by

SUGR ANTd Al

(Job Cost Sheet)

Description:...... Name of Customer........ Date of Delivery:......
Quantity : ...... Job No:...... Date of start.......
Ref.No............. Job Cost Sheet No...... Date of Completion:.....

] Amount  Amount
Particulars Rs. Rs.
Materials
Labour -~

Direct Expenses
Prime Cost
Overheads:
Variable

Fixed

Total Cost
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Profit

Selling Price
Units Produced .................... Rejection........
Cost Per unit ................. Cost Accountant ....

SUGR AN Al W AR, $M 9 SURSEl 9 R ARl BT UHATHR
frfaRad vt | faar sar &

(@) PR - fed fARre SUsR R wgt Il & onTd, |REl J-uE sredn
Al e faetyor = @) FEadr 9§ §1d & SRl 2

@) 59 : AP IUBR I R A H 7D I & T3 AR BT @l AR YA
dIferT @1 TErIar & fhar S & | sveae sifie! &1 wiRsifie SuRe AMT ST 2 |

(@) SuReay : IURSIT &1 FUT fART eIR R R 3es H&a & IR fhar
ST 21 fUse uRumEl & MR R @Yol g¥ a9 BRd o SuRIAT B faf=
IUGAT R g9TRd fhar ST 2 |

. SUs @1 yoiar (Completion of Job): SuamEf & guf 8W W IUSHR goidr
YHIO—U ST ST ® SR S a1 anTd faarT e SRl 8 1 39 yHIT —93
H AN & YIS dd Bl AN AR U UG Dl Gl ATa Bl FERoT a5 for
ST & qAT $9 ISR & oy Urd Hod | JoATT &R o™ AT BN AT B Al Sl
gl

[llustration 1 : The following direct costs were incurred on Job No C 3001 of Rajasthan
Engineering Works.

(SR w1 C 3001 WR ISR SR qa)i 7 fF=ifalRad ucer o Ior):

Materials Rs.

3,415
Department | : 80 hours @ Rs. 2.50 per hour
Department Il : 60 hours @ Rs. 4.00 per hour
Overhead Expenses were estimated as follows:
Variable Overhead:
Department | : .Rs..5,000 for 4,000 direct labour hours.
Department |l :Rs. 6,000 for 3,000 direct labour hours.
Fixed Overhead :
Estimated at Rs. 7,500 for 10,000 hours normal working time of the factory.

You are required to calculate the cost of Job No. C 3001 and estimate the percentage of

profit earned if the price quoted was Rs. 4,750.

Particulars Amount Rs. Amount Rs.
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Direct Materials

Direct Wages:

Department I: 80 hours @ Rs. 2.50 per hour 200 3,415
Department II: 60 hours @ Rs. 4.00 per hour 240 440
Prime Cost 3.855

Variable Overheads:

Department I: 80 hours @ Rs. 1.25 per hour 100

Department II: 60 hours @ Rs. 2.00 per hour 120 220
Fixed Overheads : 140 hours @ 0.75 per hour 105
Total Cost 4,180
Profit 570
Selling Price 4,750

(amuerT Iuerd AT C, 3001 & AN A BT & QT JAfSId ™ d GfRd &I
A RTHAT 7, A I§d qod 4,750 & &l )

Solution :
Cost Sheet
(for job No. C-3001)
fewfordt: (1)SuReral @ saeiver % B HHR ST B T &
variable Overhead Rates:
Department| = Rs. 5,000/4,000 hrs.=Rs.1.25 per hour
Department Il = Rs. 6,000/3,000 hrs.= 2.00 per hour
Fixed Overhead Rate = Rs. 7,500/10,000 hrs. = Rs.0.75 per hour
(2) SURSRI A1 saeivor &% Fp yeR S @ TS &
Percentage of profit on Cost.=570/4,180 x 100 = 13.6%

are] B (Work-in-Progress) : ST STE 7d SUGT A FHfRd 81T 8, dTe] H1 dgardl
2| $BT o = g fafet # 9 fasdl o yeR fear o |ear &

(i) BHREN & 7Y UdhIghd are] HRI W (Consolidated work-in-Progress Account)
TR JAeraT

(i) IS fI9TT & foly Ta =re] drd @rdT a7 |
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qqg orrd fafer

(Batch Costing)

T SR H U & UBR & FAM a3l BT UG FHRI 4 FaRkerd fhar g, 349
SN H ST ArTd eRer fafd sroerg Sl €S9 e orTd fafe wer oar 21 59 Y @
=TT a3 & FHE BT AR DI Shlg AT ST @ AATT YD THE Bl b IUBT AFB
ST AT ST BT S B |
e arrd freiRer a1 srifafe
( Costing Procedure for Batch)

R UBR ISR T A § ugaM & fou uxe IS B U Gl UG B
S 8 Sl UhR g drTd A # e g BT Ue GedT &) O 2 | URd 9Hg B fory
U HHE N =D (Batch Cost Card) 91T ST & FOTAH I9 \HE 4 G Ucdel AR,
Ul HH AT Uode gl BT ol b1 Srar € | SuRegdl b1 Afdera fdbell vh Sugth fafd
@ AR BT ST € | FHE Bl ST BRI QU 81 WX, ol AN Bl IATad AT A1
TP} Ul $hIs T Ifd <o IR SI1d &) Skl 2 |

HE aNTd fafr § |I=37 @7 9919 @ @R (Setting-up cost) T =Y HE@T AT 7 |
JdP FHHAE R IUTe B YR B I Jd aIhAR FI= I A fbar S g | A
PR DT AN IR ART (Fixed Cost) BIT T2 59 AYE H a3l &1 el AT & d_IER i
fear ST &1 ora: g H Scred @ A faH ifde BN, ufa SEE Sora @ AnTa St

%4 BT | GATAR —
Cost of Unit = Total Cost of Batch + No. of Units producted in the Batch
e anra freivor fafer /Qfa
(Contract Costing Method)
Sd AnTd ek fAfer &1 Awdded eadd w1 & giedor § Sdl I = dF
(1) S of@r 9¥ | gof gu o,
(2) o/ 9¥ & I #H 3ol 3
(3) oRaT 9¥ @& 3T A ITHT Ul §U T |

1. 391 o@r 93 d qul g 3@
(Contracts completed during the Same Accounting Year)

FY TP BIC B © I UP B oGl 99 BT A H YR BIH? Al of@l a¥ & 37
a® gl 810 )31 3 ¥ gHfd Il wel BT S @i # wHEfRia e uR fawEr S ® qen
qY P AT H 3P TR N AT B BT SPER & ATI—8If W H WIFEFIRT R T ST
2| 39 YhR & b WA Bl YT AMEId: (fhd YbR &I 8 Fhdl &

Contract (No. 51) Account
Dr. Cr.

Amount
Rs.

Amount

Particulars
Rs.

Particulars
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To Materials purchased | ... By Materials returned to

To Materials issued from store | ....... By Materials transferred to

store

other contracts

To Materials transferred By Materials at site | .......

from other contracts

To Wages
Add: Accured

To Indirect Expenses

To Plant Issued

To Sub Contract Costs

To Cost of Extra Work done

To P& L. a/c

(Profit transfereed)

........... By Contractee’s Personal

By Plant atsite | ...

a/c

(contract Price)

fewqofy : IuYeh Uy H SHT G 51 & YUT B R M A AT 2| AR A 3B W
B B O 99 O @ W B wfse Ue WR By. P. & L. a/c for@ &R w1 @ ¥ Ypw a1t
T 7 fawr < ol 2

3&T @rd @ sfdc e # A arefl "<l @1 avis:
(1) =AY (Materials):
ST A 3B A UYH B B, D O S 8 Fahd T, Sl T TR

(1)

(ii)

3o o fou faflliee wu A droiR @ 9 &1 $9 ;. —oi1 9l
3HaR ® R H IUARI T8l BN 2 a7 TP Maeysdhdl 3ol v |
gedl 2 99 I & goiR O Al w7 @ By e A &) 3 B
WM R 49 e S 21 39 9l & dNTd o ¥ R 8 @i
a1 sfae o= fear omar 2

3o o fay fafllee o @ IR /@ W &1 FI— B F WD
2 el SR A 3PHeR & R H SUAE Bl § 9T g8 AT
I WR H U Bl 8 JUqT 98 AU S WR W 3P b WM W
HI—FHI TR 9ol Sl Redl © | b Af¥ed o@fd (S U dwre A
UareT) H &b bl FRIHT B dTell |l AHUT BT AN Jod Al IR
(Materials Abstract) & S0 &= forar ST 8 IR 39 @G Hed &
FHafId ST Wi & Sfdc et & fewr faar omer 2|
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(iii) I Bl A AT BT I 3D Bl LAFTAE: FH-FH IH b
W AT B G SMARAGAT B I ©, v Refy # Sdher @ fcwn
P SENT AT 3T S AT Shi W T OB Bl WIFRIRT B S
2| S <0 ¥ M U B dlel ST W bl Sfae dn AR
MR B il 3BT Wid BT pfsc fbar S g Gl &1 g9

JhR Bl IR Al RIHE=Rel Aie’ (Material Transfer Note)
@ ATeH 9 fhar AT ® 9w 3a @ral § gfaftedt ff s e
P AR W B STl 2 |

(2) #W @rTd 3ferar Auigdl (Labour Cost or Wages):

3BT B & fore A @ ifaRes siffat &1 Y ravadar g1 8, SNy Wae AT
B B U GURAEOR, PRIR, delaR, Gl SN | SADI Aolge] DI TR
AoTgXl diferdT (Wages Sheet) &1 98T 9 S &R SdT @I & SfAc UeT H
foar fear omar 21 aft ad & o d A @ Auigy Affa (Accrued) sierar aEd
(Unpaid) 3& et 8 S99 ) S Aoige) # Sireax faaman S € |

(3) 3ua&d gy (Indirect Expenses):

I g HH WX BN 9Tl AT BT UcHel Y HSI ST & | S SR Uh Shl
o0 H 7 R & g W B Iahd 7, e A o el g w8l T

(1) 3y AT T) TS <, qor
(€) 3ucHeT ¥ IR, () 3T Iy |

(&) Scured a7 T @9,

3 @l & Al ST T3l fdaRvur-gfia 8 @ = o @ & sfdc v # 3fua
P & Ria fexamr anfev | afe . srev—arer T faaRor sd =&l & o7 3l
B Pl R B BT W H ‘To.indirect Expenses’ 2N¥H & 3I=IId fa@mAT ST 7 |
Ife g7 AT B A pis AR 9§ B g H affa I sred g A1 99 W) gEfRa
YT I H SIedx fexgr fam Sar g

(4) wve (Plant): amgfid wHg § Pl W O PR AU B gg @IS DI
HAITIHAT BT 8 | VS JART I & qeal § o Rerfodt 81 |l &

(@) 9 TP B WAUC HY ISP W AT el & fofw e 2rar
ﬁ;STQJaT
@) 9 Y% ©IvC UH S b gU ©F A Fifad &R fear a8 = Refa # s«

S®H @ U BF TR IE TS AT AT T Th P WMIRG ) A S 2
JJAT TR BT I AleT fear SIram 2 |

verE RfT # wioe &1 ganT a1 S&f R gam 2, o ya fhd T feei & fog
FeiRT & 9§ @ve R e9—8™ A1 aR o1 Sar 21 97 99 oo 9/ & Sfde ue |
e - Hed—8™ (Depreciation on Plant) & & sid fe@mar oar g1 A @ &
@Ue Udh & T H STem—3relT gvel & folt &8 Sl R U Tl & ol Jed —a &l f0
@1 ER gfd gveT R & AR W BT SIAr € 97 S W UYh 9vel & Y Jod —8d
&1 T AT @ SRl 7 O 3o @ & Sfde uar # fawar e S 2
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fada Rafa # &0 w6 3@ W Ugdhd eF @ e Bl gof wy § FEifd ax
e rar 71 O Rafa 3 wve ffie &) fafYr &1 3 @ &1 S9a arTd 4o ¥ $fie o)
e ST 81 3@ gt &1 9 R e fotee @& fafy 9 Sar gof @ @ fafr 9 fReiRa
TR
oY

H JI—8N HCIaR, WIS &I AUfeiRad Hed (Depreciated Values) ST &R foram Imar &

3B W P BHSC U&T WX ‘Plant-at-Site’ IN¥® # fe@mar Sdr 81 & —HH IbT @
g 81 DI [T BT I WIve B gedifhd R (Valued Amount) &1 8 Bl 7, ar U= Reafay
# e &7 JUfIRad Hed S IR B AMALIHAT F&1 & AR 39 Heuifrd MR BT & IHT
WA @ Hfse gef R faxgr <41 =nf{y |

(5) SU — 3T aTd (Sub-contract Costs):

N —FH SHER BT YA 3B Bl IUT IR & oIy SU—THT <7 Ul & SRI— T
wgq T &1 SHeR T ¥dd H faoiell BT &1 R AT BHR g9 M BT BRI
SY-SHER BT < AhAT T | 37 SU—3BI B Tl ANTdl BT G B R FI FHS Il §
TAT TIPT Sb W B Sfac Uer § 'IY 3BT I’ MN¥d & r=vfd fe@m Sar g |

(6) arfafRR™® fHad M ®rf & ard (Costs of Extra Work Done):

HH—FH JT Sb AIRD HB IR BRI |l SHER ¥ PRAY I & | 54 AIRD HRT & forg
PR Shardl I 3Nl I YT BT 2 | ShaR Bl 59 AfARTH PR—T TR o A7 T S
PR TG ST WA Wil a2 AR SEH §90 TR NTa. 9 37 B e a2y difds
I S d IR BRI W Y o™ AT B JAH—9UH oG 819 | e 39 AfIRD I B
mTd g (Insignificant) 8 A1 S®aR S AFTd & ol 9@ @0 & Sfdc uer # &
hdl & I 39 7T el | WIdT @ielH P Aaeuhdl -l & | 99 foun & sifafRs ol &
fog afe o afyr ura 2t @ a1 99 W1 99 So @d & wfec uer ¥ fawar faar Siram 2

3BT WId & wfec yeT ¥ fe@rd W9 arefl 5al &1 9vf=:

(1) AT 3 9vsR —[8 &l arudT (Material Returned to Store):

3P W AT TART R oW @91 afe g Il 9y 99 @) § IR gg awen
AT & {6 S A @ € ob UR AT IMATIRAT T8l sR A S AT Bl
3PeER gRR ¥R ¥ 999 el faar Sar 81 s9 dler”R (Material Returned to
Store) AT & I fAGMAT WA B SHGT oGl AR R Ale’ (Material
Returned Note) & JMRIR UR f&HaT ST B |

(2) UH 3D ¥ I 3B Bl AU BT R_ATFTART

(Materials Transferred to Other Contracs) :

FR—HN Bl o SH BT ARl A R SMaTIdHdr U ol 8 | VAT g9 # S
3B ¥ S 8 Ib B AU WIMNIRT B o Ol &1 I8 MR SHER B
faden & M I RIFTRYT A’ (Materials transfer note) @ #RITH W 81T ©
T A RIFORUT &R dled b W & shisc Uef § "I 3hi Hl AqrEdl
RIEIRG @1 T8 (Materials transferred to other contracts) A€ & 3T fa@mT
ST § |

3BT @d ® wfsc v ¥ fawrsg o arell a1d
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1. A B USR-S BT Il

2. U% S I 3T Shi Pl ATHUT BT RIHTIR0T
3. WA W) AHA

4. A R @<

5. S@T HA |

(3) <rel wR AT (Materials at site):

HS IR BN Yof B9 & I¥EN AT SdhT WAl g hd @ fafy &7 i arsh §
A BRI R Y AT Y 991 I&d] 2 | 39 YT DI AN Hed DI ST W
P pfec U H I R AT (Material at site) 98 & ®9 # fe@mrr mar g

(4) e WX wirve (Plant at site):

SHT Yol B & UTAr IT SdhT WAl g5 dHRA Bl [ BT TG lve’ AHI:
P IA W AT 9T IJAT 2| S U B IAfIRId Hed Bl SH WA B dfeT

geT H vl W wve’ (Plant at site) Y& & sria gl fhar Sar 2
(5) 3S@1 Hea (Contract Price):

3HT BRI T B W OB I SBhaR Pl 7 8-GO & AT §9 Sdbl Jod
ShaR &I GxIhl ¥ frfoiad gfafte &1 Skl &

Contractee’s Personal A/c Dr.

To Contract A/c

39 oHd gfafte &) wde S Wia- @ hfse uel § “By Contractee’s Personal A/c”
3 W H B W B

Ife ShaR -4 H Sher 9 dis AR APH (Advance) & T H AdS
UT HRT 2 A 99 3MH Bl IR F SDHaR &1 Yiddi d Frefoiad oa gfafte
B ST

Cash or Bank A/c Dr.

To Contractee’s Personal A/c

9 SHa Ufafie &1 S WId R I Y9G 8T gedl © | 3@l Yof 81 M W SHeR
SHEAT ¥, TP I H ¥ IR AR BT BICHR dh IHA U HR ofdl & |
g o ff Ve A1 §6 @ BT Sfde g SHIAT b IRKITT @Al d< 8
ST B

3% R drg 4T 819 (Profit or Loss on Contract):

3BT WAl HD DfSc el & INT BT Sfdc UeT P INT W IR 3B TR o FHS ST 2

TAT S 3P W@ b sSfdc Ul § ‘To P. & L. A/C’ foRgdR amM—81w @rd & dfee uer H
ARG ®Y o Sar 2| faudia Rafa & sreid Sfae uel & I &7 Bfec Ul & IRy W

e 3@ TR B sl Sl ® 997 39 o W @ wisc ue H ‘By P. & L. A/c forgax
-8 Wd © Sfdc e # YEraRd ) fear omar 2
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Illustraion 2: The following particulars relateto contract No. 153 for the year ended 31%
March. 2009.

31 A, 2009 DT FATT B9 dlol 99 & U srrferRad faawor 31 Ge=ar 153 A AT 2

Rs. Rs.
Materials purchased 20,000 Extra work done (cost) 500
Materials issued from store 35,000 Wages Outstanding Accrued | 400
Wages paid 10,000 Materials at site 2,500
Electrical Fittings 1,500 Materials returned to store 1,500
Indirect Expenses 8,000 Contract Price (including | 9,000
extra work)
Sub-contract costs 1,500 Plant issued 12,000

The work on the contract was commenced on June 15, 2008 and was completed on 31° March,
2009. The plant to the contract was issued on July 1, 2008. The depreciation on Plant is to be
charged @ 10% p.a. The materials costing Rs. 2,500 were transferred to this contract from
Contract No. 156 and the materials costing Rs. 1,200 were transferred from this contract to
Contract No. 162 under the instructions of the contractor.

Prepare Contract Account in the books of this contractor for the year ending 31* March,
2009.

(G® WR BRI 15 S, 2008 DI YR T3 TAT 31 I, 2009 Pl HHAG FaAT| Sb DI A0S 1
elTs, 2008 BT FRIfHT fham 7| wive R JeI—8r™ 10 Ufaerd aiffies o1 &% | ST Sirl
2] 3peR B e & FENT 2,500 . AN BT A SHT GT 156 I §H ob Bl
WJFRIRG @1 g oI 1,200 /. AN DI AR 9 Sh U SHT =T 162 DI WAFRING Bl
g |

SPhaR BT YIID! § 31 HIF, 2009 DI FATK B dlel 99 & foTU IH1 W1 T8V |)

Solution:

Contrat (No. 153) Account
For the year ending March 31, 2009

Dr. Cr.
Particulars Amount Particulars Amount Rs.
Rs.

To Materials purchased 20,000 By Materials returned to | 1,500
store

To-Materials issued from store 35,000 By Materials transferred to | 1,200
Contract No. 162

To Materials transferred 2,500 By Materials at site 2,500
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From contract No. 156

To Wages 10,000 By Plant at site 11,100

Add: Accrued 400 10,400 By Contractee’s Personal | 90.000
a/c (Contract Price)

To electrical Fittings 1,500

To Indirect Expenses 8,000

To Sub-contract costs 1,500

To cost of Extra work done 500

To Plant issued 12,000

ToP.&L. a/c 14,900

(Profit transferred)

1,06,300 1,06,300

sratlfrer feoofi:

IHT AT 153 TR A0S 1 Gells, 2008 A 31 H1, 2009 dF 9 A8 & foly, UYh B3l &
/9 W 10 ufderd @i @1 &R W 9 HIE B HI—BF 900 H. BN ©| 3T WIUC Bl

rafeRad e 11,100 %. S& @A # Plant at site & ©9 # f@mr a1 B

2. d@r 9 & I H AYuf 3B
(Imcomplete Contracts at the end of the year)

®O Sd A" ay H gl {6 S drel Bl & Si— gs 9ad, |Sd, a1 A1 gol Pl
fFHor sefe | U9 S U B o @iy W gul el B dfed U AT &1 9y A1 g6 Al Afdw
rafy # gof 814 2| SdheR Al ) afy dF Sdherar A i & e W a6 et 93
PG IABT YA (Certification) HRAT ofdl & AAT It YA WR db Sl IADT e ]
2 39 AR & oy a8 ST e Sdherar &7 M & oy < <dr € ot 39 & 7 el
SON-IR 31raT RIUdR (Architect) & TETIAT off ST Fdhell © |

AHRIGI] ShaTdT 89 ShaR & 41 &1 o Jaae T8l wRal © dfed UM SR &
Tog &1 U Rad ufderd (S 60 UfaRid | 90 UfRId & Hed &1 AHhdl &) Bl AHe YIdH
P AT © TAT d1h] XA SHEAT gRT P ol ol & FOrd 1R JIf3T (Retention Money)
FHEd B | 39 AR PIAGT FT JFAUT SHEAT B W BT GRAAT BT BT 2| IR THAR
IRRIfERT SH1 SR B 41 H 98 IR I AT 39 BRI DI ARG 9 H R/ AL R Fb
dl SHEIAT ERT 399 89 drell &I &1 afayfd $9 IR Jeu # | X ofl ol ¥ 39
AR {e BT YA Sdb B FANK TR 3T TRUCT AT FAC 8 WR SHAR Bl dx &
ST & |

SBheR gRI i & & v fifded wR a% ugam R I UHONaRe aRF H $O
A AT | WA SHER S WK W AT AT B g T8 FRam dfed 9 ATel
G & | 39 ISR a¥ & 3 # {B AT BRI AT 81 Fadl © Ol & ShaR gRT §F 1 @R
form Simar 8 forg oFTel R d& 7 U9 UM & HIROT SMYAIG &A1 8| 39 HT B AHIf
BRI (Work Uncerfified) @&d & T 39 &R & @ Hed & 41 99 & < o W o™
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FeiRaT R T99 & 3§ @1 USdl § 1 o 9 @ I H YUl Sl b R H g
BRI DT ST 9N | gicT] O Fohdl &

(i)  u=IfoTa ®rf (Cerfified Work):
(i)  omHIfdrd B (Uncertified Work):

YUl 3Pl WR ArH—eIf Wid ¥ Hfee fHd S arel o9 &1 feivor

(Determination of profit on incomplete contract to be credited to profit and loss account)

ST {6 R II™T T 7, (R N 9Y & ST H oMUl S W I AN BT H{Y.URT Bl
AN—2T T | hfse fhar SHr anfRu | 39 oY &7 fhd=r 9T av—81fa @rd § sfee fhar
S, 39 IFw H JUfIRad Ad &

() afy 3&T you & yEH—aleaNs @ HH AR BT GATHHIOT garT 2:

) gRRfT & o &1 dIs N 9T dwW—aify W ¥ sfec & SR T8 ©
FNfH BRI B 9t R B T TGN 39 T TG TE-8T T 8 | gl 3

TR ST T ™ 3fg—HU~ BRI WA (Work-in-progress A/c) dT hsc &R faar
STRATT |

(il) afe 3®1 [ou & ua alend a1 3O Af® fg SUS MM A $9 ATT B
gAMIHROT AT 2 : U uRRYfY # S i wR-Afsid oM &1 U fage 9
(AT ST qm 99 WR UTad IR @ U @ QMR WR) 89 a9 & AM—gIf @rd
H ST HRAT I BN | GF FL H 590 191 UBR Udhe (a1 S Aabal o

Profit to be credited to P.& L. A/c
= Notional Profit x 1 + 3 x Cash Received + Work Certified

(ill) afe 3®1 Jou &1 3mem a1 I A/ ARFG AFT &1 gATAHROT 3T B VA
IRRMT % 3BT HRI WR AT ™ B U I8 AR (IHI0d S den 89 W a1Id

RIRT & U P MR W) SH. Y & AH—8I W H IS HRAT Iferd 8T | A
w9 ¥ ¥ [ YHR Yebe. a1 S el &

Profit to be credited to P-& L.: A/c
= Notional Profit x 2.+ 3 x Cash Received + Work Certified

(iv) arfor 3 wr =ify & <l #: If ol orar a¥ & o & 3l 3B WR &I Uae

Bl © a7 oTEmRIRA &l IR HHIAT (Concept of Conservatism) P IR TR T
B BT SHAR & ATI—BIT WA Bl Sfdc TAT SHT WId Bl Dhisc B AT HTTIT |

[llustraion 3: ‘A completed the contract of house building in two years. The expenditure
incurred by him in the first year was : materials Rs. 30,000; Labour Rs. 20,000 and Indirect
expenses Rs. 5,000.

Plan of the value of Rs. 50,000 was issued to the contract at the commencement. It was
valued each year after charging depreciation @ 20% on original value. Fifty per cent of the work
was certified at the end of first year and work done but uncertified at the end of first yae was of
the value of Rs. 5,000.

In the second year the respective costs of Materials and Labour were 10% more than
that of the first year; other expenses remaining the same this year as in last year.
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The contractor made a profit of 10% on contract price.

Find out the contract price and prepare contract Account of the two years separately
showing profit to be redited to profit and loss account each year, assuming that 80% of the
value of work certified was received in cash by the contractor up to the end of the first year.

(T SHeR o 9a= 07 &1 BT T 98T H GRT fBar | IHS gRT Yo 9y H far Tan
T T UBHR AT AHHT 30,000 F: SH 20,000 3 TAT T T 5,000 . |

3B B URH H 50,000 ©.H]cT BT e T foar mar| 39 uftad a1 artd uR20
Ui Hod—28Td 9qel B’ Jedifhd (a1 TAT| YA 99 @ 31T H S HI 50 YT 1T
g fehar ar qer qui foheg JIUHIOT BRI 5,000 . & Hed BT T |

GEX Iy H, A g #H B AN YAH a¥ Bl HAS: ARG § 10 UfTerd offeres off, @
Y @d gE U I T 9y H o |

ShaR 1 SHI eI W 10 U o™ 2Afoia T |

SHT I A DI I TAT a8 B ST —3TelTT W §-18Y, A1 H 98 oM W iy
S {6 amI—8e @ § ufaay sfse fear e I8 71+ & gos a¥ & 3d § SharR &l
JHITOTT BRI Hed BT 80 HfTeId wTehe UTai &1 AT & |)

Solution:

SHI Hed 9 IR & [y FULM S @1 §od NI B TUMT HRAT AAeTdH © | 5
AR & frifed diferd gRT s fohar =1 &

Table Showing Total Cost of the Contract

Elements of Cost | YearRs. [l Year Rs. Total Rs.
Materials 30,000 33,000 63,000
Labour 20,000 22,000 42,000
Indirect Expenses 5,000 5,000 10,000
Depreciation on Plant

(20 % on Rs. 50.000 each year) 10,000 10,000 20,000
Total 65,000 70,000 1,35000

JeAIR SHER ¥ Sl Hed W 10 UfIRK o™ HA™T 2 | e SHT e 100 . AT
T G 3@ B Fel AN 100 B — 10 W = 90 ®. BRM| TH AR W IH BT A
ffoaRad gerR gmm

SHT oI = Hel ST X 100 + 90 = (1 1,35,000 X 100 + 90) . = 1,50,000
House Building Contract Account

(for-the first year)

Particulars Amount Particulars Amount Rs.
Rs.
To Materials 30,000 By Plant-at-site
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(Rs. 50]000-Rs. 10,000) 40,000
To Labour 20,000 By Work-in-Progress a/c
To Indirect Expenses 5,000 Value of work Rs.
Certified 75,000
To Plant Issued 50,000
To Balance c¢/d 15,000 Cost of work
Uncertified 5,000 80,000
1,20,000 11,20,000
ToP.&L. a/c 8,000 By Balance b/d W
To Work-in-Progress a/c | 7,000
(Reserve)
15,000 15,000
e -

Profit to be transferred to P. & L. A/c = Rs. 15,000 x 2 + 3'=x.80 + 100 = 8,000
House Building Contract Account

(for the first year)

Dr. Cr.
Particulars Amount Rs. Particulars Amount Rs.
To work in progress a/c By Plant at site 30,000
(Rs. (80,000-7,000) 73,000 Rs.(40,000-10,000)
To Materiasl 33,000 By Contractee’s a/c 1,50,000

(Contract Price)

To Labour 22,000
To indirect Expenses 5,000
To plant-at-site 40,000
To P.&L. a/c 7,000
1,80,000 11,80,000

qafich &M Wl ¥ W § fb g™ ay § 8,000 %. &I o™ deAT fgdig av 7 7,000 %.
BT I SheR & A—aIT TId BT pfec fhar T & |

3.9 o@l a¥f & 3Id H BT AT YUl B9 Bl |l

(Contract nearing completion at the end of the accounting year)

9 fooddl orar 9 & o # fHl 3@ R T BRI T ot @1 gaer g 7 o U
3BT BT oRAT qY, B T H T YU ZRIT IHT ded 2| VW TP W {Y B JTH a9 B
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A A A 7S | QUi 811 B TE JEIG © | 37 59 YR b S UR 374 o fhd M el
2R H AW BRI BT EIRT B H BN dTel AT FAT BT SASIR OB DI ol JFANI
AN S R ol SR & | AHRIad] ShaR $9 §ol anTd H gereaaRll & forg Wi graem
(Provision for Contingencies) |fFfeId &RAT 8| 39 UBHR A S I T3 Gl ATATNTT AR
P BT oI H W TS W I Sb W AJANTT M (Estimated Profit on Contract) ST &1
T B 9 UBR & Sh H IR ol a9 & foy ST @rer gd 9a T e & emeR
W E 9T B | 50 AR AN Y B {B HEMI A WA Al Bl oA H XEd gu
Ay & forg ue FRoMed ST WIar IR AR ST ®, O St ST A ST fhan
ST B

AT gof 9 dlel 3% WR SdaR & IM—8l @ 4 $fde fHd S ard o &1
AOHET: ST O M dTel 3d TR ol 9 & I H S W I oM IIfSid Bral 7, SaH 9
T 9T SHER & aM—8lY W § sfse T R, 39 I § R ga” T 3b WX

AN DT MR 91T AT 2 | 39 MR WX ShaR & AF—8l" W § sfse by
S aTel AT @ IO SRT gF §RT BT el &

= Estimated Profit on Completion of contract

x Work Certified + Contract Price xCash Received + Work Certified
Or = Estimated Profit on Completion of contract

x Cash Received + Contract Price
AT SUgT gF B YN fEa Sman 21 FH-aW feal S®heRrR gw

feferiRad gl § ¥ B T g3 gRT U AM—8I Wi § ise {6 S arel a9 &1
TOET &1 ST &

(i)  Profit to be credited to P.& L. A/c
= Estimated Profit on completion of contract x Work Certified + Contract Price
(i)  Profit to be credited to P. & L. A/c

= Estimated Profit on completion of contract x Cost of Work to date + Estimated total
cost

(iii)  Profit to be credited toP. & L. A/c

= Estimated Profit.on completion of contract x Cost of Work to date + Estimated total
cost xCash Received + Work Certified

Iugh dF1 AT H F AT T gF BT UART I HRAT AT SEfh §9 ISR BT W
g e oy g wte fder fear gom € O S99 Y & R W SdheR & amM—gI
d wfee fHY SM a1 am™ & T BRA ARy | Afe S Sd R BN B ar o
P SHER P AM—SIT W H WIFRIRT B AT 1RV |

¥

58
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Typical lllustratins

lllustration: 1 At the end of a year, a Contract Account stands debited with the cost of
materials issued, labour and overheads expended and plant issued, and it stands credited with
materials at site Rs. 2,000 and plant at site revalued at Rs. 8,000 after charging depreciation at
20% the net cost of the contract is Rs. 30,000, the materials, labour and overheads debited to
the Contract Account, are in the ratio of 3:2:1.

The Contract price is Rs. 50,000, 4/5 of the contract has been certified by the
contractee’s architect as completed. A month before the end of the year and 80% of the
certified work value has been received in cash. The accountant informs that 2/3 of the profit on
cash basis credited to profit and loss account on the contract is Rs. 8,000

Prepare in full the Contract Account showing the cost of work done but-uncertified, and
the work-in-progress from the above information.

WH 99 & 3T W UP o@l @il eitha A, &g 6 T sM 9 SuRegal qon frifha
@UC B AN Sfde fHAr gom € 9T I§ WIdT W W AU 2,000 B qAT WA W
e S 6 20 AR goa 8 A6 @) & URETd 8,000 . R YRS hG fHAT AT B, |
wfec fHar gom 21 gl S @) Yg NI 30,000 ®. T | TH Wi B e fHY T Al
S 9 SURST 3:21 B AT H T |

SHT & 50,000 %. 2| IY & ATH 1 A€ Y4 SHAMT & RIISGR 7 3H Sb & 4 /5
9T qof feham garm waiford R fear € = yHI Rl & Hed o1 80 Ui wdba UT 81 Tl
2| EBR F gfad fhar € fF 39 38 W Adhs MER W oM & 2,/3 AN Sl a—g1e
W1 BT diec {61 A7 T, 8,000 F. T |

ol f6 T g I B &1 FTe fS@rd §U Ydidd ol Tl ST @Il
TAT Fg—TF~ T IR BT |

Solution:
9 3B DI FoI AN T UHR AT B IS T

Memorandum Contract A/c

. Amount . Amount
Particulars Particulars
Rs. Rs.
Plant Issued Materials at Site 2,000
Rs.(8,000 x 100/80) 10,000 Plant at Site 8,000
Cost of Materials Net Cost 30,000

Labour and Overheads

Combined (Balancing Figure) 30,000

40,000 40,000

TSR AT, S 9 SURST B ARG 321 B SUId H Ob Bl SAC B g9 2| 39
JFUTT & SR R HYh NI (30,000 %.) Pl e WR AFRA &I NI Rs. 30,000 x 3 + 6 =
15,000 %. BT |
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AETHR B FITAR 9 Sb WR UHS MR W A4 BT 2 /3 AN S A'—2I+ DT
BT Biec fbar AT &, 98 8,000 ®. & | =1 JA §RT S Sbd W aY & 3 ddb Sa~ Rl
T (National Profit) 9 YR SITd fhar 1T &

Profit transferred to P. & L. A/c = National Profit x 2 +3 x 80+ 100
= National Profit x 2 + 3 x 80 + 100

Or Rs. 8,000
Or Rs. 8,000

= National Profit x 8 + 15

Or National Profit x 8 + 15 = Rs. 8,000
Or National Profit = Rs. 8,000 x 15 + 8

Or National Profit = Rs. 15, 000
JWRIRH UG PR D d16 Sl Il 3T YHR Ybe N forad 3 Wb 1 by

GO BT BT AN Hed T S 81 SIY:

Contract (No...............) Account

For the year ending

Dr. Cr.
Particulars Amount Particulars Amount
Rs. Rs.
To Materials 15,000 By Materials at site 2,000
To Labour 10,000 By plant at site 8,000
To Overheads 5,000 By work-in-progress a/c
To Plant Issued 10,000 Value of work Rs.
Certified 40,000
To Balance c¢/d 15,000 Cost of Work
(National Profit) Uncertified 5,000 45,000
55,000 (Balancing Figure) 55,000
ToP.& L. a/c 8,000 By Balance b/d 15,T
To Work-in-progress a/c
(Reserve) 7,000
15,000 (15,000
Work-in-Progress Account
(for the year ending)
Particulars Amount Particulars Amount
Rs. Rs.
@ To Contract a/c By Contract a/c 7,000
35 Value of work Rs. E (Profit in Reserve
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Certified 40,000 By Balance c/d 38,000
Cost of work

Uncertified 5000 45,000

45,000 45,000

lllustration 2: A construction company has undertaken to construct a bridge. The following
particulars relate to this bridge for the year ended 31* December, 2009:

T AT S UE g & i &7 erf fear 21 31 fewR2000 BT AT gY
¥ & fog fFr=iforRed faaror 59 a1 & wwfa &

Materials Rs.
Direct Purchase 50,000
Issued from Stores 10,000

Wages for labour 45,000

Plantin use:

Written down value 1,00,000

Depreciation therecon 10,000

Direct expenses 3,500

Share of General overhead 2,000

Materials on hand at December, 31 1,000

Materials burnt by fire 500

Salvage value thereof 150

Wages accrued at December, 31 5,000

Direct expenses accrued at December,31 500

Value of work certitied 1,59,000

Cost of uncertified work 4,500

The value of the contract is Rs. 2,15,000 and it is the practice of the contractee, as per terms of
the contract, to retain 10% of the work certified. Form the above particulars, prepare the
contract account, arrive at the cost of work-in-progress and show how the various items would
appear in the balance sheet.

(Sd BT o 2,15000 . & AR A B Al B ATAR SHI o dlel &I I8 YA ©
f, a8 U Hd BT 10 YRR AP oAl & | SRR fAaR0T F SHT @Il JIR BT |
IE—FHT BRI B AT T HIRY @R gaEy B A= 7 fig § o geR gee 8l )

Contract Account

For the year ending 31°" December,2009
Dr. Cr.
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Particulars Amount Particulars Amount
Rs. Rs.
2009 2009
Jan. to Dec. Dec. 31
To Materials (Rs. 50,000+10,000) 60,000 By Materials t Site 1,000
To Wages 45,000 By Salvage 150
To Direct Expenses 3,500 By P&L a/c(Loss by fire) | 350
To Depreciation on Plant 10,000 By Work-in-progress :
To General Overheads 2,000 Value of work certified 1,59,000
Dec. 31 Cost of work uncertified | 4,500
To Wages Accrued 5,000
To Direct expenses Accrued 500
To Profit ¢/d (National Profit) 39,000
1,65,000 1,65,000
To Profit and loss a/c 23,400 By profit b/d 39,000
To Work-in-progress (Reserve) 15,600
39,000 39,000
Cost of Work-in-Progress: RS.
Value of work certified 1,59,000
Add: Cost of work uncertified 4,500
1,63,500
Less : Profit 39,000
Cost of work-in-Progress 1,24,500
Balance Sheet
As on 31° December, 2009
Liabilities Amount Assets Amount
Rs. Rs.
Rs. 23,050 Rs.
Profit and Loss a/c 23,400 Plant 1,00,000 90,000
Less: Loss on fire 350 Less: Dep. 10,000
Wages Accrued 5,000 Work —in-progress Value of work
Certified  1,59,000
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Direct Expenses Accrued 500 Add: Cost of Work
Uncertified 4,500
1,63,500
Less: Provision 15,600
1,47,900
Less : Cash received
From Contractee 1,43,100 4,800
Cash From

Contractee 1,43,100 From
salvage a/c 150 143,250

femofl: r—81e W BT IIFTRT Yhd 39 UhR ST & TN 2 |
Profit credited to P.&L. A/c = 39,000 x 2 +3 x1,43,100 <+ ,59,000=23,400 <.

lllustration 3: A Contractor who prepares his accountson 30" June each year, commences the
Contract No. 278 on 1% October, 2008.The information at 30" June. 2009 is as under:

(T SHER o, W & MU W UfTay 30 TF B GIR FRAT 2, U SHT AT 278T 1
3fFaR, 2008 DI YRS fHAT | 30 S, 2009 BT IH S A G Gl 7141 TbR 8):

Materials sent to site Rs. 2, 51,000; Labour engaged Rs. 5, 65,600; foreman Rs. 81,300.

A machine sent to site Rs. 2, 60,000; has been on the site for 146 days. Its working life is
estimated at 7 years and its final scrap value at Rs. 15,000. A supervisor who is paid Rs. 8,000
per month had devoted approximately % of his time to this contract. The other expenses and
administration charges amounted to Rs: 1, 36,500. Materials at site on 30t June, 2004 costs Rs.
35,400. The contract price is Rs. 20 lakhs. Up to 3o™ June, 2004 2/3 of the contract was
completed; architect’s certificate had been issued covering 50% of the contract price and Rs.
7,50,000 had so far been paid in-cash on account.

Prepare the Contract Account and State as to how much profit should be credited to P.
& L. Account for the year ending 30" year ending 30" June,2004

(RreT TR Holl WA AT 2,,51,000 %, @RI A $I¥@ 5,65,600 ., BIRAT 81,300 %.) |

g 7o, RadT dRTd 2,60,000 % B, 36T WA W 146 a7 W& | 3AST Sad drel 7
Y AR IHBT AARME Hed 15,000 = AT fHAT AT | b FuRdTgoR, ST & 8,000 %.
gfer Ae & Sd &, 71 31U I BT STV QMM RT3 o@ WR I fhar ¥ | 3T g ud
URIATS el |71,36,500 . BY| 30 S, 2004 B HRIGAA W AHUT BT ARTT—H 350400
®. 7| 3P T 20 ARG %, ©| 30 S, 2004 Tb Sb B 2 /3 9N Yol B AT oI, RIeudR
RIS -gAT-F T 50 T S9aT e S@T Jed & 50 URRId & aRiEx o 3R 3
I # 7,50,000 6. e gl AT MY o |

Sd WIAT IR DY AR gAY & fHa=T & 30 S, 2004 BT FAG B aTel] 3fafer
& oy ArT—81 @ ®r Bfse fHar o )
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Solution:

SPT BRI 1 3fFCaR, 2008 DI YR BIAT| 30 S, 2009
T I D AT TR 9 HIE BY AT b forw i
P1d BT ANTT (Cost of work uncertified) 93 & &1

Statement Showing Cost of Work done

Particulars Amount Rs.
Expenses:

Materials sent to site 2,51,000
Labour engaged 5,65,600
Formen 81,300
Supervisor’s salary Rs.(8,000x9x1+2=36,000) 36,000
Depreciation on machine 14,000
Othe expenses and administration charges 1,36,500
Tatal Expenses 10,884,400
Less: Materials at site 35,400
Cost of work done (2/3 of the contract) 10,49,000

(i) 3ry=TfdTa 3@t ®rf @ rTa:

USIgAR S BT 2,/3 9RT Yol 81 T fbg RIUdR & a9 —u3l & AR 1,/2
9T €1 AT g7 € | 3fd: Sl BRI BT Sl AT JYHAIO &1, IFdb! AN T UbR S Bl
T ®

3% BRI B B ANTT = 10,49,000 +1x3 + 2 = &. 15,73,500

IO ST &R = 2/3 — % = 1/6 91T

JUHIOIT ShT BRI &I TR = Rs. 15,73,500 x 1/6 = 2,62,250
(i) srg=TiTG 3&T SR @B dAFTa:

Rs.
I DI AN 2,60,000
ECIMYSECE IR | 15,000
TNF BT AFTT ST 7 9§ b Saahial 2,45,000

sraferRad @) ST =Ry
7= &1 U a9 &1 o9— 8 = Rs.(2,45,000 +7) = Rs. 35,000
#elF &1 146 QAT BT o9 89 = Rs.35,000 x 146 + 365 = Rs. 14,000
SUYH ORI & d1& ISP WAl 7+ YR I91=1 TAT o—
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Contract (No. 278) Account

For the year ending 30% June. 2009

Particulars Amount Rs. | Particulars Amount Rs.
To Materials sent to site 2,51,000 By Materials at site 35,400
To Labour engaged 5,65,600 By work-in-progress a/c
Value of work Rs.
Certified 10,00,000
Cost of work
Uncertified 2,62,250 12,62,250
To Foremen 81,300
To Supervisor’s salary 36,000
To Dep. On machine 14,000
To other exp. and
Administration charges 1,36,500
To Balance c¢/d 2,13,250
(Notional Profit)
12,97,650 12,97,650
To Profit and Loss a/c 1,06,625 By Balance b/d 2,13,250
To Work-in-progress (Reserve) | 1,06,625
2,13,250 2,13,250

S® WX 30 S, 2009 BT FHTE B dTel] A & 7Y ST A ShaR & AM—a1 G
# wfee far T 2, @ TvEn 9 TeR @) TS '

Profit to be credited = National Profit x 2 + 3 x Cash Received +Work Certified
=Rs.(2,13,250 x 2 + 3 x 7,50,000 + 10,000) = Rs 1,06,625

lllustration 4: The following figures are extracted from the books of Jai Bharat Contractors for
the year ending 31°" December, 2009 :

(S 9RA Disded B YRl F 31 fIFwR, 2009 BT FHW B dlel 9Y & forg

PrferRed =% o ¢ B)

Work —in-progress on 31° Dec., 2009

Less: Advances

Maerials purchased

Rs. Rs.

8,50,000

5,50,000 3,00,000
60,000

94



Materials issued from stores
Wages
Working Expenses

Administrative Expenses

(of which Rs. 2,500 is chargeable to P. & L. a/c

Plant issued

Materials returned from conracts to suppliers

Materials returned to store
Value of contracts completed
Work certified

Profit taken upon contracts

Advances from contractee during the year

1,05,000
85,000
15,000

12,500
25,000
4,500
5,500
2,25,000
7,50,000
1,15,000
4,00,000

Prepare the con account and the contractee’s account in the books of Jai Bharat
Contractors. Also show how the work-in-progress would appear.in the Balance Sheet as on 31%

Dec., 2009.

(S 9RT dlded B JRIDI H SBT WK d Shardl BL AT IR DY | I8 41 garsy b
31 feHR, 2009 & IR BT SH dTel fRIes # IE—F7 &1 B Hd UeRid fvar Se?)

Solution: Contract (No. ...........) Account
Dr. For the year ending 31% Dec.,2009 Cr.
Particulars Q:wunt Particulars Amount Rs.
To work-in-progress 8,50,000 By Materials returned to
(opening-balance) suppliers 4,500
To Materials purchased 60,000 By Materials returned to store | 5,500
To Materials issued from store 1,05,000 By Contractee’s a/c 2,25,000
(Contrat completed)

To wages 85,000 By Work-in-progress a/c :
To Working expenses 15,000 Value of work certified 7,50,000
To Administrative expenses 10,000 Cost of work uncertified.

Cost of work uncertified.

(Balancing figure) 2.80,000
To Plant issued 25,000
To P.&L. a/c (Profit taken upon contract) | 1,15,000

12,65,000 12,65,000
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Contractee’s Account

Date Particulars Amount Rs. | Date Particulars ﬁ‘gnount
2009 Date of | To Contracta/c | 2,25,000 2009 By Balance b/d 5,50,000
Completion To Balance c¢/d 7,25,000 Jan. 1 By Cash a/c 4,00,000
9,50,000 Dec. 31 9,50,000
Balance Sheet
As at 31°' December, 2009
Amount Amount Rs.
Rs.
Work —in-progress Value of work
Rs. Certified 7,50,000
Add: Cost of Work
Uncertified 2,80,000
10,30,000
Less : Balance of 3,05,000
Contractee’s a/c 7,25,000

lllustration 5: Jaipur Construction Company undertook a contract for the construction of bridge.
On 1° January, 2009 the following balances were revealed from the costing records in respect
of that contract.

(FRIR HRERME AT 5 Th Yol G911 B Shl [T | 1 e, 2009 BT AN @l H 39
3% | | FrfeiRad fdavor Suarer 2):

Rs. Rs.
Materials at site 7,500 Cost work 30,000
Uncertified
Plant at site 18,000 Profit reserved 10,500
Work certified(Vlue) 1,80,000

(Cash received 80%)

During this year the following expenses were incurred. (39 @ & &R fr=faRad g
fra )

Rs. Rs.
Materials 24,000 Wages accrued on 31.12.2009 2,100
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Wages

Wages accrued on
01-01-2009

Materials at site
Certified Work

During the year (value)

Uncertified work(cost)

32,000 Administrative Expenses

Paid drring the year 8,400

1,500 Administrative Expenses 300
accrued on 1.1.2009

1,050 Contract price

1,80,000

1,100

4,00,000

Depreciation on plant is to be provided @ 10 percent p.a. Materials costing Rs. 830 was
found unsuitable for the contract and was sold for Rs. 790 Prepare Bridge Contract Account for
the year ending 31% December; 2009 and state as to what profit should be taken to P. & L.

Account.

(@I R JeI—§™ &I 10 YR d1fie &% ¥ UTae™ &A1 & | 830 . AN &I AR
3% & oy erguge Ul WY &R IW 790 ®. 7 99 AT AT 31 fATER, 2009 BT FAK B

Il 9¥ & U T35 SHT @A 9918¢ 9T I 9d18V b R &1 fhd=r 9T am—g8ify @ o

o ST SR )

Solution :

Bridge Contract Account

For the year ending 31°* December, 2009

Dr. Cr.
Particulars Amount Particulars Amount
Rs. Rs.

To work-in-progress (opening) 1,99,500 By Materials at site 1,050
To Material at site 7,500 By plant at site

(opening) Rs (18,000-1,800) 16,200
To Plant at site (opening) 18,000 By Cash a/c (Sale of Materials) 790
To Materials 24,000 By P. & L. a/c (Loss on sale of | 40

materials)

To wages paid 32.000 By Work-in-progress a/c.
Add: Accrued on Value of work certified

31-12-2009 2,100 Rs.(1,80,000 + 1,80,000)
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34,100

Less: Accrued on 1,500

To administrative
Expenses 8,400
Less: Accrued on
1.1.2009 300
To Balance ¢/d

(Notional Profit)

To profit and Loss a/c

To Work-in-progress (Reserves)

32,600

8,100
89,480

3,79,180

47,723
41,757
89,480

3,60,000
Cost of work
Uncertified 1,100
By Balance b/d

3,61,100

3,79,180

89,480

89,480

fewforf

(i) YRS E—T7a~ BRI B AR BT TUET S TBR DI TS & Rs.
1,80,000
30,000
2,10,000
10,500
1,99,500

Value of work certified
Add: Cost of uncertified work

Less: Profit reserved
Work-in-progres

(i) mi—=™ @ H R & SF. drel! IR 39 SR S0 3 TS &

Profit transferred to P.&L. Account

= Notional Profit x2 + 3 x Cash Received + Work Certified
=Rs. (89,480 x 2 + 3 x 2,88,000 + 3,60,000) = Rs. 47,723

(i) o1 peay ®T da TS 2|

(iv) s wiftd 1 a9 a1 Hifa v wrf &1 o ufererd ARy WY ? |

lllustration 6: The following particulars relate to two houses which a firm of builders had a

course of construction under contract.

(Frfafad fqeror <1 Aol & qwfd & e g qa= fFEfor o 9 o wR ferr )

Work —in-progress(Value) on 1°* Jan.,2009

Total profit up to 31.12.2008

Profit transferred to P.&L. a/c on 31.12.2008

Materials purchased

Wages
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Housr A
Rs.
78,000
10,000
6,000
1,15,000
1,00,00

House B

Rs.

83,000
70,000



Electrical Fittings 7,000 1,500

Road making charges 40,000 -
Contract price(including road making charges) 3,00,000 2,00,000
Cash received upto 31.12.2009 3,00,000 1,20,000
Percentage of cash received to work certified 100% 66-
Value of material at site on 31.12.2009 2,000 2,700
Uncertified work - 12,500
Value of plant used at site 60,000 30,000
Period for which plant was used 10 months 8 months

The total establishment expenses incurred during the year amountedto Rs. 61,200.
these are to be charged to te two contracts in proportion of wages. Depreciation fo plant is to
be charged @ 10% p.a.

Prepare the two contract accounts (in colummar form) for the year ending 31° Dec.
2009.

(@ & IR Hol FRIMUT &Y 61200 %. Y| 59 AN Bl AN TPl WR A &
aruTd # favIford &RAT 8| ve W JoI— i 10 URrerd aifffe @Y &) | TSl AT 2

31 fAWR, 2009 ®I FHC B dlcl 9Y @ fol¢ GH S @A (WHHR ©T H) IR
BT |
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Solution:

Contract Account

For the year ending 31 December, 2009

House House House A House B
A B
Rs. Rs. Rs. Rs.
To Work in progress 74,000 - By Materials site 2,000 2,700
Rs. (78.000-4,000)
To Materials Purchased 1,15,000 83,000 By Plant at site
(Less: Depreciation) 55,000 28,000
To Wages 1,00,000 70,000 By Contractee (Contract Price) 3,00,000
To Electrical fittings 7,000 1,500 By Work-in-progress Rs.
a/c: Certified 1,80,000
To Road making charges 40,000 - Cost of work
Uncertified 12,500 - 1,92,500
To Plant used 60,00 30,000 By P. & L. a/c (Loss) 75,000
To Establishment Expenses
(in the ratio of 10 : 7) 36,000 25,200
To Balance c/d(Notional Profit) - 13,500
4,32,000 2,23,200 4,32,000 2,23,200
ToP. & L. - 6,000 By Balance b/d - 13,500
To Work in Progress a/c (Reserve) - 7,500
- 13,500 - 13,500
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fewfort:
(1) 1.1.2009 BT g TI~ B BT ¥ §9 UHR T [HAT AT & Fel o
geTgd: |9y H @M AT M (10,000 — 6,000)
AMG—F~ BRI BT oI (IRMH)
(2) w9 T W YA BRI &1 100 YT AdHe UTd &1 37 & | 3T I Sl yof & 747 2|
(3) 9o & R A2 W H Hfee fFY T ™ BT TUET 39 UBR Y T8 B
Profit credited to P. & L. a/c = Rs.(13,500 x 2 +3 x 1,20,000 + 1,80,000)

lllustration 7: Sandeep Limited having an authorized share capital fo Rs. 20 Lakhs divided in 1,000
8% preference shares of Rs. 100 each and 1,00,000 equity shares of Rs. 10 each, commenced
business on 1% January, 2009. During the year they were engagedin one building contract, the
contract price of which was Rs. 80 Lakhs. The trial balance on 31 st December, 2009 was as follos:

(@l ferfice, foree! ffdrd ofer Yol 20 Rg &. & 3R ST 100 %, Tl 10,000 8 UfTerd 3ffeHT
M TAT 10 . dTel 1,00,000 SiFAST 3N § fAUfIa &, 7 1 THa™), 2009 BT ATUR YRAT b |
S 99 & IRM 9 Yo 9 01 & S H o o, RTAST Shl Hed 80 I . T 31 fa@wR,
2009 BT ITHT dAUYC $H UHR o)

Debit Rs. Credit Rs.
8,000 8% pref. shares, fully paid up - 8,00,000
1,00,000 Equity shares, Rs. 8 paid-up - 8,00,000
Sundry Creditors - 1,60,000
Land and Building at cost 6,80,000 -
Cash at Bank 1,80,000 -
Building Contract Account
Materials 16,00,000 -
Plant 3,00,000 -
Wages 21,00,000 -
Expenses 1,00,000 -
Cash Received in advance (80% of work Certified) - -
49,60,000 32,00,000

Of the plant and materials charged to the contract, plant costing Rs. 40,000 and materials
costing Rs. 40,000 were destroyed in an accident in the very beginning. On 31° December, 2009
plant costing Rs. 80,000 was returned to store. The value of materials at site was Rs. 80,000 and the
cost of work done but not certified was Rs. 40,000. Charge 10% depreciation on plant; carry to the
P..& L. A/c 2/3 of the profit to be reduced in proportion of cash received to work certified and
prepares the contract account for the year and a balance sheet as on 31° December, 2009.

(ST e U AT S TR Holl TRT off I | 40,000 . B ANTA BT WIUES TG 40,000

E.WﬁWWTﬁﬁwgﬁeTﬁW‘ﬁmﬁlm faawR, 2009 P 80,000 . @I
llOlJ




AN & T0E R BT dlel a3 TN, SRi—erd R I & AR &1 g3 80,000 . 3R gof
fhar T UR I HRI HI AT 40,000 . AT | WU WR 10 YRR -8R Aol HIIY |
AT BT 2 /3 9FT, YA SR & AR YT AHs & AU H bST ), AM—8I @I H of T8y
T ¥ & foIg ST @ 9 31 f3\wR, 2009 &1 ST 99137 |)

Building Contract Account

For the year ending 31°" December,2009

Dr. Cr.

Particulars Amount | Particulars Amount
Rs. Rs. Rs.
To Materials 16,00,000 | By P.&L. a/c
To Plant Issued 3,00,000 Plant cost 40,000
To Wages 21,00,000 | Materials Cost 40,000 80,000
To Expenses 1,00,000 By Plant returned to
store 80,000

To Balance c¢/d 3,34,000 Less:Dep. 8,000 72,000

(Notional profit)
By plant at'site
(3,00,000-1,20,000)

1,80,000
Less: Dep. 18,000 1,62,000
By Materials at site 80,000
By work-in-progress a/c
Value of work
Certified 40,00,000
Cost of work
Uccertified 40,000 | 40,40,000
44,34,000 44,34,000
ToP.&L. a/c 1,78,133 By balance b/d 3,34,000
To work-in-progress a/c (Reserve)| 1,55,867
3,34,000 3,34,000
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Balance Sheet

As at 31 st December, 2009

Liabilities Amount Rs. | Assets Amount Rs.
Issued and Subscribed Land and Buildings Rs. 6,380,000
Share Capital: Plant at site 1,62,000
At store 72,000 2,34,000
8,000 8% Pref. Share of Materials at site 80,000
Rs. 100 each fully paid up 8,00,000 Work-in-progress.
1,00,000 Equity shares of Value of work
Certified 40,00,000
Rs. 10 each. Rs. 8 paid up 8,00,000 Cost of work
40,000
uncertified 40,40,000
Sundry creditors 1,60,000
P.&L.a/c
Profit from Less: Profit kept
Contract 1,78,133 in reserve 1,55,86
38,84,133
Less: Loss in
Accident 80,000 98,133
Less: Cash Received in
Advance 32,00,0000 6,84,133
Cash at Bank 1,80,000
18,58,133 18,58,133
fewoiT

(1) 3B WR AN B SN 9N AW—8I @ § Bfse foar = 8, s|ar ToEr  fo=
UHR BT IS 2 |
Profit Credited to P.& L. A/c = Rs (3,34,000 2 + 3 x 32,00,000 + 40,00,000)
=Rs 1,78,133
(2) oM frPedH wUA § B TS B

Hlustration 7: Mr. Hunny took a contract for the construction of a cinema building on 1°* April,
2008. The contract price was Rs. 75,00,000. The following details are available at the end of 31%
March, 2009
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( fRex & 91 1 3, 2008 &1 U Rydr fafee fior o= &1 Sa1 forar| Sa1 g
75,00,000 %. T | 99 & 3= H 31 A€, 2009 Bl FrfeRad faror Iuarer o).

Rs.

Materials 12,00,000
Labour 4,50,000
Plant 6,00,000
Direct Expenses 3,00,000
Establishment Charges 75,000
Materials returned to stores 75,000
Wages Outstanding 90,000
Direct Expenses accrued 1,20,000
Materials issued from store 1,50,000
Cash recived(80% of work certified) 30,00,000
Work uncertified 7,50,000
Materials in hand 30,000
Plant in hand 4,50,000

Prepare the contract account and show .the amount that would appear in the Balance
Sheet.

SHT WAl 9918V AT gaangy b foes # o ¥Rl fagers sl ?
Solution:
Contract ledger of Mr. hunny

Contract Account

Dr. Cr.
Particulars Amount Particulars Amount
Rs. Rs.
To Materials: By Material returned 75,000
Purchased 12,00,000 By plant at site 4,50,000
Issued from Store 1,50,000 | 13,50,000 By Material site 30,000
To Labour 4,50,000 By work-in-progress
To.Plant 6,00,000 Work certified 37,50,000
To Direct Expense Work uncertified
3,00,000 7,50,000 45,00,000
Add: Out. 1,20,000 4,20,000
( ]
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To Establishemt Charges 75,000
To Wages Outstanding 90,000
To Balance c/d 20,70,000
50,55,000 50,55,000
To Profit & Loss a/c 11,04,000 By Balance b/d
To work-in-progress (Reserve) a/c | 9,66,000
20,70,000 20,70,000
Balance Sheet
As on 31°* March, 2009
Liabilities Rs. Assets Rs.
Outstanding Expenses: Rs Materials in hand 30,000
Wages 90,000 Plant at site 4,50,000
Direct Expenses Work-in-progress:
1,20,000 2,10,000

Profit and Loss a/c 11,04,000 Work certified 37,50,000

Work uncertified 7,50,000

45,00,000

Less: Reserve

9,66,000
35,34,000
Less: cash recd.
From contractee 30,00,000 | 5,34,000

fewfordt: (1) @™ &1 R 39 ysR fear SRR

Profit = Total Profit x 2 + 3 x Cash Received + Work Certified
=20, 70,000 x 2 +3x 80+ 100=Rs. 11,40,000

(2) @Te], PRI BT HeATH: YA DI BT oI + AT BRI Bl
ST — WA T T 9T 37 (37,50,000 + 7,50,000 . —

9,66,000 ) %. = 35,34,000 . BT |

——
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gl / QUESTIONS

1. What is a Contract Account? Discuss in brief the various items appearing on debit and

credit sides of a contract account. lllustrate your answer by taking an imaginary example.

(SHT @A T B? TP ob WA @ Ifdc T dfec vl # Udhe 8F arell A= #ci &1 dey
H qUiF BINTY | TH BTA D IATERVT B T IR DI WL HIFTY |)

. The following are the particulars relating to the construction of a house for the year ending
31° December, 2009:

(fFre=Tifed faavor 31 fagwR, 2009 @1 FH@ B8F dld 99 & foIw e ag— fAmor |

TR ©):
Rs. Rs.
Work-in-progress on 1,40,000 Cost of extra work done 14,000
1.1.2009(excluding Rs. Cash received upto
8,000)Estimated Profit 31.12.2009 6,00,000
Creditedto P.&L. a/c
Materials purchased 1,80,000 Materials.in hand on
31.12.2009 4,000
Wages 1,70,000 Plant issued to contract 1,20,000

Period of plant used on

Side during the year for 10
month

Electriacal fittings 20,000
Establishment charges 72,000
Contract price including

Extra work 6,00,000

Depreciation of plant is.to be taken into account @ 10% p.a. prepare the Contract Account.
(I TR I g 10 URerd a1 &1 &% | ST ST & | ShT WAl TR DI [)
[Answer : Loss on Contract Rs. 10,000]

3. On 1% July, 2008 Arora Construction Company Limitted, started their work to build a new
hotel. The contractproce was Rs. 9, 60,000. The following information is available with

regard to this contract on 31°* March, 2009.

(1 g, 2008 BT IRIST HRERM HHAI fAIffcs o b AT Bed M BT HMH TH
fBaT| ST oI 9,60,000 ®. AT| 31 AE, 2009 P A Sd A FHEiwA Frfalad @

Il o) :
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Rs. Rs.

Materials 2,40,000 Material at site 1,60,000
Wages 2,880,000 Plant at site 32,000
Plant sent to site 40,000 Work certified(vlue) 3,00,000
Other Expenses 12,000 Cost of work uncertified 20,000

Prepare the contract account and state as to how much profit should be credited to the
contractor’s profit and loss account for the year ending 31 March, 2009 75% of work
certified has been received in cash.

(ST AT IR DINY AR gy f6 ™ &1 fhaar 9T SheR & av—8lfv @ H 31
AT, 2009 BT FHATK 8 dTd 99 & 1w dfse fear Sv | v &Rt 75 gfdera dde o

U 8 gl © )

[Answer : Loss on Contract Rs. 60,000]

A firm of builders worked on contract No. 152 during the year ending 30" June, 2009. The
following expenditure was incurred in connection with this sontract.

(a1 TR @1 b ®H 7 30 S, 2009 BT FATK BH-dTel a¥ & o7y ST AT 152 W
SR b | 391 S & R fAfeiRad < gu):

Rs. Rs.
Bricks and motars purchased 18,165 Wages 24,600
Materias from store 2,800 Sundry Expenses 2,025
Wodden Doors, Windows etc. 2,500 Materials at site at the end 1,600
Iron. Steel etc. purchased 3,600 Proportion of supervision charges 3,700

The contract price was Rs..3, 00,000 and the work certified by the engineer, after deducting

of 20% retention money was. Rs. 48,000 up to 30t June, 2009. The cost of work done but
uncertified was Rs.4, 000.

Prepare the Contract Account and show the work-in-progress account.

(BT HeT 3,00,000 ®. AT 3R SRR gRT 30 S[F, 2009 T YA &, 20 Ufoerd
3R IR FESH & d1g 48, 000 . 1| fHY Y UR=] AYHAIOG BRI B AN 4,000 .
off | SHIWIAT qAT Ag—FFI~ BT TWAT IR DIFY |)

[Answer . Work-in-progress on 30-06-2004 Rs. 55,790; No profit to be taken to the credit of
P.&L.A/c.]

The following information is available relating to a contract for the half year ending 31*
March, 2009.

(31 A/, 2009 BT WATK BN dTcl Ag—aY & foly, U ob 4 wHfa frefalRad gaemi
I B):
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Rs. Rs.

Materials issued 1,80,000 Cash Received 3,16,800
Wages paid 1,00,000 Work uncertified(cost) 18,000
Plant issued on 1.10.2008 1,50,000 Contract Price 6,00,000
Supervisor’s salary paid 11,000 Materials at site 8,400

The work commenced on 1° October, 2008. The wages of workers for one week-and
salary of supervisor for one month were due at the end of the period. Plant costing Rs.
5,000 and materials costing Rs. 3,000 were lost on 31st December, 2008. Plant costing Rs.
8,000, found unsuitable to the contract, was sold for Rs. 6,500 on 28t February, 2009.
Depreciation on plant is to be charged @ 12% p.a. Material costing Rs. 5,000'was sold at a
profit of Rs. 1,000. The cash received is 90% of the value of work certified.

Prepare the contract Account. Contractee’s Account and Work-in-progress Account
also show as to how the work-in-progress would appear in the Balance Sheet on 31°* March,
2009.

(BRI 1 3fFCER, 2008 DI YR AT SABIB] Tb T8 Bl HoIGY! qAT GURATGOR Bl Uh
HIE BT I I[A & 3T H IHIAT AT| 5,000 H. AN BT OC TAT 3,000 B, BT AR
@ G 31 fEEER, 2008 B W TS| 8,000 H. B AN HI wve Sl f Sa forg
JJUYTh U AT, 28 WA, 2009 B 6,500 . H g9 AT TT| @IUE W JA—FR 12
gfererd a1 @1 X | ST & | 5,000 . ARG &I AHAT 1,000 . & oM W 9
T | IS BRI & Hed BT 90 YRS Fhe H U< eIl 2 |

ShT WA, SPhErd] bl WAl dAT JEe—T&H~ HR Wil 99130 | I8 O fowsy fb
NG—T~ B 31 A, 2009 DI fFeg # fow yeR f@mr S |)

[Answer : Notional Profit Rs. 80,430: Pofit' credited to P.&L. Account Rs. 48.258]

M/s. Ranu Brothers disclosed the following position in regard to a River-Bridge Contract for
the half year ended 30" June, 2009

(s I 99 9 30 S, 2009 BT FATG B ATl Ag—d¥ & oY qGI—Jl S A T
frfaRaa Refa gdwe 3l):

Rs. Rs.
Purchases of materials 1,68,000 Cash Received 5,04,000
Plant issued 1,40,000 Depreciation on plant to

The date of certification
Labour charges 1,80,000 Contract price 7,000
Miscellaneous Expenses 36,000 12,00,000

Prepare the River-Bridge Contract Account for the half year, ending 30" June. 2009 after
giving effect to the following adjustments:

(i) Provide for expenses incuured prior to 30" June, 2009 but after certification
included in above materials Rs. 8,000 and work were charged on the basis of labour
charges.

(ii) Overhead apportioned by head office to this contract Rs. 33,200.

( 1
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(iii) The contractee’s account is credited with the work certified less 10%

(30 S, 2009 BT WAT B Aol Ag—ay & forg FrefoRad S9RSHl &1 &
Ed gU, T4I-Jd S&HT WAl IR HISTQ): I gd feg gooiane & 915 fod T
2 S U Al # afaferd 8, 5 forg wraem i

(i) 30 S, 2009 ¥ gd fo=g gAMNR & 915 {5 R @ ST SUYH
et # wfAferd 2, @ forg uraems Hifvre:

AT 8,000 ®. TAT S 15,000 .| fafdey =g S w1 & U sWm @dl W)
AMETRT B |

(i) U ST §RT 89 S B Mdfed SURIT 33,200 6. o |
(iii) SHETT BT War GO HR & God H A 10 Fa9d gST o dise fhar SIrdm 7 |
[Answer: Notional Profit Rs. 1, 61,800: Pofit credited to P. &L. Account Rs. 48.540]

7. X Ltd. closes his account books on 31°' December, each year. The company commenced
work on a contract on 1% January, 2009. The following information relates to the contract as
on 31° December. 2009

(U fafics Ul of@r geds Yfd 99 31 faqmR &1 g7 SRl & | A U o UR 1
SIER], 2009 BT BRI YRH fHAT| 31 THAR, 2009 BT $6 Sdh W TR G T
JHR 2l):

Rs. Rs.
Materials issued 1,25,500
Wages 2,82,800
Salary to foreman 40,650

A machine costing Rs. 1,30,000 had been on the site for 2/5 part of the year, its
working life is estimated at 7 years and its final scrap value at Rs. 7,500. A supervisor, who is
paid Rs. 4,000 per month, has devoted 1/2 of his time to this contract. Other expenses and
administrative charges amounted to Rs. 68,250. Materials at site at the end of the year
costs Rs 17,700. The .contract price is Rs. 10 lakhs on 31 December, 2009 2/3 of the
contract was completed. The architect had issued certificates of approval comering 50% of
the contract price and-the contractor had been paid Rs. 3,75,000 on account.

Prepare-contract Account and work-in-progress account. Also show how the work-
in-progress will appear in the Balance Sheet of the contractor on 31° December, 2009.

(1,30,000 %, AN B T WA SPH—IA R ¥ & 2 /5 WM & oY UYth gg, SABI
Silae It 7 ay AT Jff~TH JFARME oI 7,500 . AFAN fhar MAT| U GuRAEOR
RS 6 4,000 ®. URT A PFIAM fBA1 ST €, 7 39 S WR AU FHI BT AR 91T
I fhar 2| =y Sy doIl YIS W 68,250 % §U | 9¥ DI FHING WR Sdl W W
A 17,700 . B AN B | SHT eI 10 A B, | 31 AR, 2009 BT B B
2/3 9FT Yo & AT 7| RIUdR 9 3P Jod & 50 Ul 90T & forg wiepfa &
THO—UF © f&d o 9AT ShaR B W WR 3,75,000 . DT YA B f&IT 17 o |

SHT GAT qAT IE—TF~ B WAl IR HIY | I8 ) gy & g—aw~ &l 31
fogmR, 2009 BT PSR B fIes H fFT UPR Ydbe BN |
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[Answer: Notional Profit Rs. 1, 02,125; Pofit to be credited to P. &L. Account Rs. 51,062.50]

Hint: Cost of uncertified work is to be calculated.

8. Mr. Kamal commenced a contract on 1° January, 2009 total contract price was Rs. 5 Lakhs
(estimated by contractee) but Mr. kamal agreed to work at 10% less Actuals for the year

2009 and estimates for the year 2010 are given below:

(FReR @9 1 1 SFa’l, 2009 BT U S UR BRI UR™ fhaT| Bl SHI Jod 5 e .

(Sbarar gRT SgATd) o, fbg M. &qa 7 10 ufded &9 Jea

W B BT DR

fehaT| 2009 9Y % RIS b FoI 2010 IY B IFAM el QU 7Y B):

Materials issued
Labour paid
Labour accrued
Plant issued
Expenses
Materials at site
Work certified
Work uncertified

Cash received

Plant returned (orginal cost)

2009 (Actual)

Rs.
1,75,000
90,000
10,000
1,00,000
40,000
10,000
4,00,000
15,000
3,00,000
30,000

(on 31.12.2009)

2010(Estimated)
Rs.
30,000(fresh)
20,000

5,000

Full

Full
70,000

9.2010)

Depreciate plant @ 20% p.a. on its:written down value. Contract is likely to be completed on 30"
September, 2010. Prepare contract account and state as to how much profit should be credited to
the Profit and Loss account of the contractor for the year ending 31°' December, 2009

(lve & SmfelRad Hou U= 20 Uferd a1 &% ¥ He—8N o Tigy | S& & 30 FAa=R, 2010 &I

ol M @I FHE Bl SH WAl IR HIY R qarsd f6 a1 fhdAr W SdhaR @
AT W A 31 faqmR,2009 BT AT B9 a1l 99 & foIv wfse far o)

[Answer: Notional Profit Rs. 90,000; Estimated Pofit Rs. 61,600; Profit credited to P. &L. A/c Rs.

41,067 approx]
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gRarers g fAreizor dfa
[Operating Costing Method]

Rt ard FaRer AT & G 39 UeR & GeEl # fRar S § S awqgeli. o
IATET el R & AUG [P YR B Fa F& B 2 | WAL UHT & AJAR, ‘R
SIRT T 3R AT Y& B+ Bl ard | & |

ISERV— ISR URaes 7, oReE fdga Avsd, Siaer faumr, vRd™ ¥, gi=qare
ST, I BT, B, R, glcd, gdre anfe |

Selar (Objects):
gReEmer aTd Rerivor Qfy & fereforfRad Seg &

(i) g1 AW =T BRAT;

(i) U S®1E aTTd ST BT,
(iii) Y™ & TS HAT BT URTHA Hed WRIMUT HRAT,
(iv) = oR =T enfid &=

(V) ST &1 3, 3fafel Jorcdd eI DT,

(Vi) FTd &7 30 B JATCHSD ST HRAT,

(vii) TAf¥=1 Tarell &1 Ja-TIcAD FeTIT BRA] |

A R &1 RS Fr=falRaa a1 Aty & 9 fa=it Y fafer grr fvar <1 |aar =
1. URYE e fhaMex (Absolute Tonne km.) 3ierdT

2. aIfoTfid < fhaMier (Commercial Tonne km.)

1. iRl <7 ferdriler— ga A & o=Ffa 99 AT €& gRT & T8 ol amar &1
AT BT G AT Jel & AR & IMER W A= gRAl 4 dic faar Smar 2 3R 39 UaR
T & UG G0 B SA G DI AA I I aTel AR & AT JAAT Al § IR |
Ton R fear Siar g1 e R amEr & fag Aanr € aRyg e fdheMier FEardr 21 a8
ferferRad IeTERY | W 81 S

JETERU— SAYR ¥ T ¢h 10 T dlg & ARY ol ISR & fof G gl | A 2 e
ARY AR H qAT 3 <1 ARY Aierare] # Wrell fHd TAT Y A1l S<AYR H Wrell fbar| I8
b ISIYPR. W SR Tb Wlell 3MAT| AT SRYR A AR 130 fhaarfier, ot 4 Wierdrs!
137 fhedMIex TAT Wiedrs! A ISYYR 200 fheAMIcx 81 1 $9 ¢ §RT SYR—ISIR I |
[T IR e fhelMier S HIfY |

Bl
Hid @ 3MER WR Rl A &1 AR (e LUTHd
AT BT fauro (Fretsfiex &) #) (@ frarie)
SAYR—3ISTR 130 10 1,300
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JTSTHR—HTeTaTST 137
CIKEICIEESTERIE 200
ITIR—SIIYR 467
uRglg e fhariex

2. qItTRA® e fhdific— aitigs e fFarier 9| &) &g

1,096
1,000

3,396

ey fafy= =t

W o SR T A AqdT AT BT AT A1 fhar S & SR AT Bl AT Bl 7o
R M IR QAT ST 2| I8 UG B aveud e fhamiey dEdkl 5| SUg
IETERTT H qIvie e fhdMier &1 UR&ed 74 9&R B8R

JRIT R (10+8+5+0)

+ 4 = 934 fHaMR

qIdSTd e fheAlier = 934% 5.75 = 5,370.5 T fdhailHiex

.9, R DI IATER aRyg e fharier IR e fhatMier
1 AET B IT—TUS] H | 3HD A=A FYOT AT DI | GAD =i AT Bl
[EEINE] T B A @ G | UE SHR AT AT § RiR
AT B I AR & AR | SU—gvsl H faqre= =2
w® o= Sugosr § g | fear Srar 2
fegr e 2
2 CIESICED IJET | s9BT URBAT o TR T | 3BT URGAT o O™ T
AT /aRAfdd WR | TR @ aRdfde . AR | AR @ oI AveT 1erdT
P AR R YRGAT | AT JUqdT IR<AfGd TR & | I T AT P ARG IR &
MR GR fham rr 2 | MR W) fHar rar 2
3 qed b Wioll dlied | 39® 3d. died & Wlell | 39& =T RING]
TR IR dle W 3Hs &1 Jed I | 91 /3ad IR Harer |
HAST ST & | I I SHIS DI AT H T
ST 2 |
4 TREeTT | SAfeeld] gPBT URPBAT Biod B | TUHT GGl OV 2 |
5 IR H IJHIadl | FdeR § 59 A @1 | aerR # 39 Ay &1 em
AR AR SR fhar Sirar 81 | AT far ST g |

lllustration 1: A transport service company is running 4 buses between two towns which are 50
kms apart. Seating capacity of each bus is 40 passengers. The following particulars were obtained

from their books for April, 2009.

(TP AT B ST TRI & §E Uh

TR ¥ 50 fHeaarier R B, 4 99 Tl & 2| AP 99 A

do+1 B &I 40 ATAT & | AU, 2009 b oy e fqavor Sa) geasi o fog T 2):

Wages of drivers & conductors
Salaries of office staff

Diesel Qil

Rs.
2,400
1,000
10,800
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Repairs & Maintenance 5,400

Tax & Insuracne etc. 2,000

Depreciation 9,000

Interest and other charges 1,800
32,400

Actual passengers carried were 75% of seating capacity. All the four buses ran on all the days of the
month. Each bus made one round trip per day. Find out the cost per passenger km.

( ardfa® I S o O T, 989 B &EaT & 75 ulaed O | 9 IR 9 A8 gEwd fod
Tl | TP & 7 Ufifed Y& 3MF—<T™ &1 A3 D | Ui I fhariex TS $IfoTg |)

Solution :
Operating Cost Sheet of 4 Buses
For the month of April, 2009
(Total Passenger Kms. = 3,60,000)

Total cost Per Passenger
Km. Cost
Rs. Rs.
A.  Fixed Charges:
Wages fo drivers and conductors 2,400
Salary of Office Staff 1,000
Tax and Insurance etc. 2,000
Interest and other charges 1,800
Total fixed charges (A) 7,200 0.020
B. Variable Charges:
Dieses. Oil etc. 10,800 0.030
Depreciation 9,000 0.025
Repairs and Maintenance 5,400 0.015
Total variable charges (B) 25,200 0.070
Toal cost (A+B) 32,400 0.090

fewof: get A fheMicR o1 URSe = YA &I WErRIal ¥ 59 YR fbar T &

Hd AT fHAMCR = FH B G x AW B G AM — SN DI x AT B FAT X
AR FAT X IUANICT AU = 4 x 100 x 30 x 40 x 75 / 100 = 3,60,000 I3 fb.

{113}



T fbedd 9 TIMET 3T db BT TS 2 |

lllustration 2: The following information is available in connection with two trucks operated by a

transport compay:

(T ATATTT S §RT I T &1 gl & - | 9 o Suae 3):

Truck No. 1 Truck No. 2

Rs. Rs.
Driver’s Salaries 12,500 12,500
Cleaner’s Wages 6,100 6,200
Diesel Oil 4,000 4,500
Garage Rent 1,500 1,500
Taxes, insurance etc. 800 800
Depreciation 40,000 45,000
Supervision expenses 1,500 1,500
Repairs 1,600 1,800

The two trucks respectively covered a distance of 4,000 and 4,500 kms. For the half year ending
31 Dec. 2009 and carried every time 200 tonnes of goods each. Prepare an operating cost sheet
and fond out cost per tonne km. for each truck.

(31 fEHRR, 2009 ®I AT B dTcl E—aY H ¢db B foly Ui T fFadMier & S1d I |)

Solution:

Operating Cost Sheet of Two Truks
For the half year ending 31°* December,2009
Total tonne Kms. = Truck No. 1-8,00,000.and No.2-9,00,000

Particulars Total Cost per Tonne km.
Truck No. | Truck No. | Truck Truck No. 2
1Rs. 2 Rs. No. 1Rs. | Rs.

A. Fixed Charges:
Driver’s salaries 12,500 12,500
Cleaner’s wages 6,100 6,200
Taxes, Insurance etc. 800 800
Supervision expenses 1,500 1,500
Garage Rent 1,500 1,500
Total fixed charges(A) 22,400 22,500 0.028 0.025




B. Variable Charges:
Diesel Oil
Depreciation
Repairs

Total Variable charges (B)
Total Cost (A+B)

4,000 4,500 0.005 0.005
40,000 45,000 0.050 0.050
1,600 1,800 0.002 0.002

45,600 51,300 0.057 0.057

68,000 73,800 0.085 0.082

fewol: et e fhamier @l ToET 7991 ISR &1 75 &

Th HE&T 1 = T X R = 4,000 X 200 = 8,00,000 7 .

Th G 2 = T X IR = 4,500 X 200 = 9,00,000 7 .

o fhead 9 SIHald 99 &) TS B |

lllustration 3: From the following data you are required to ascertain the cost of running the

vehicle per tonne kilometer per week:

Total tonnage carried in a vehicle: 30

Total Kilometers Covered in a week: 600

(FreafoRad sifbst & 3T T LT & =A™ dl Ufey e fhaier i awrs arrd s Sifoie)

ST | /T AT ATA (€9 H) = 30

U AWE H ol [haaMiex ST dell = 600

Details of the above are as follows:

([ugw &1 faaver fF=fafRad gaR 7))

Monday
Tuesday
Wednesday
Thursday
Friday
Saturday

Expenses for the week are as follows:
(Fwis & @ freferRad 8):

Driver’s Salary Rs.

Cleaner’s Salary Rs.

Diesel, Qil etc. Rs.

Repairs Rs.
(

Kilometres Tonne
120 6
125 5
110 4
100 5.5
80 4.5
65 5
600 30.0

800 per month
400 per month
1.20 per kilometre
1,200 per month




Depreciation Rs.

Other expenses Rs.

You are to assume 4 weeks in a month
(39T T AT H IR AwlE A 2 )
Solution:

Operating Cost Sheet for Week
(Total Tonne Kms.3,020)

1,600 per month

800 pr month

Total Cost fost Per
Particulars tonne Km.
Rs. Rs.
A. Fixed Charges:
Driver’s Salary Rs. (800+4) 200
Cleaner’s Salary Rs.(400+4) 100
Other expenses Rs. (800+4) 200
Total Fixed Charges (A) 500 0.166
B. Variable Charges:
Diesel, Oil etc Rs. F(1.20 x 600) 720 0.238
Repairs Rs. (1,200 + 4) 300 0.099
Depreciation Rs. (1,600 +4) 400 0.133
Total Variable Charges (B) 1,420 0.470
Total Cost (A+B) 1,920 0.636
fewofl: gt e fhariier &1 oA 7991 9hR &1 TS &
e fepel. ol T fo,
GIECIN 120 6.0 720
HTAIR 125 5.0 625
EEIN 110 4.0 440
EESINEIR 100 5.5 550
NETIN 80 4.5 360
HIBEIN 65 5.0 325
anT 3,020

——
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T fhedd 9 SIMHld bl ddb BT TS 2 |

lllustration 4: The following were the expenses incurred by a company in operating tow trucks

(for the conveyance of raw material) and a Bus (for the conveyance of staff) during the month of
July, 2009:

(A8 TS, 2009 H UH HHAI T PHed HA b SMANEA B oY 2 THI W JAT HHARAT b
MA@ oy v 99 R ffafRaa =g 6 )

Monthly Cost

Truck A Truck B Bus C
Driver’s Salaries 800 850 900
Cleaner’s Wages 400 500 400
Diesel 1,700 1,900 1,100
Oil 50 60 40
Repairs 300 200 300
Depreciation 1,500 1,800 2,000
Supervision 600 600 600
Garage Overhead 200 250 200
Road and Other tax 400 400 300
Other Overhead Expenses 350 400 200

The following raw material and passengers were carried by the above vehicles during the month.
(A8 ¥ Fr=ferRad A1l iR I yalad afgdl gRT o S T |):
Truck A total 100 tonnes of Raw Material in 25 days

Truck B total 120 tonnes of Raw Material in 25 days
Bus C 25 Passengers daily for 25 days

At the same time their respective kilometers during the same period were:

(G0 T I Iafy # BB HAGAR fheiie o |):

Truck A 7,500 km.
Truck B 10,000 km.
Truck C 2,000 km.

From the above statistics prepare an operating cost sheet for the three vehicles.
(SUYh FHBT ¥ THT arel & foy gRATe ANTd el JAR SIS )

Solution:

Operating Cost Sheet for the month of July,2009
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Truck A Truck B Truck C
Rs. Rs. Rs.
A. Fixed Charges:
Driver’s salaries 800 850 900
Cleaner’s wages 400 500 400
Supervision 600 600 600
Garage overhead 200 250 200
Road and Other taxes 400 400 300
Oter overhead expenses 350 400 200
Total fixed charges(A) 2,750 3,000 2,600
B. Variable Charges:
Diesel 1,700 1,900 1,100
Oil 50 60 40
Repairs 300 200 300
Depreciation 1,500 1,800 2,000
Total Variable charges (B) 3,550 3,960 3,440
Total Cost (A+B) 6,300 6,960 6,040
Total Tonne/Passenger Kms. 30,00 48,000 50,000
Cost per Tonne/per Passenger Km. 0.210 0.145 0.121

THh AR % B® foru < fhciifier drTd s&18 3R a9 & forw Il fhalmier anTd s&1g &1
g fopar T B

fewof:
HA AN gDy & RGBT 74 ISR fHar 1 =

Th A:

gfafed ¢ AERT of STRIT A7 3fAd ATef = 100 Tonnes + 25 = 4 Tonnes
gfafed g6 A gRT &1 78 3N\d AT = 7,500 + 25 = 300 Km.

HA A fhAMICR 4 x 300 x 25 = 30,000 €4 AR

<h B:

gffes ¢ B §RT of STRIT 7471 3 A1 = 120 Tonnes + 25 = 4.8 Tonnes

gfafed ¢ B gRT @1 18 8fad Ir=1 = 10,000 km + 25 = 400 Km.
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Gl e fharier 4.8 x 400 x 25 = 48,000 €7 fbainier

T C:

gfafes 99 gRT o 9T T JR™7 &) G@r = 25

gfafes 99 gRT &1 =1 I3 = 2,000 km. + 25 = 400 km.
gt AT fFeAMier = 25 x 80 x 25 = 50,000 AT fhatreR
ST IuFifrar argura (Vehicle Utilisation Ratio) :

9 AU S HRH ¥ g8 A1 a1 S1ar § b St 1 SuANT fhw A4 da fhar
2| 39 g UD TSl & oY @R goie a1’ gH1d SUANT MeiRd &r faar Siwr 2| Fi¥ed
A & UTEd IS SUANT BT YA IUART W JocAD JeqT {Ha1 SIAr 2 qom Iuifrar
yfcrerd =Ta foar SIar © | SR U Sd BR gg faiRad A w1 G far S |dwdn
g
Il wfsAl & fag—

Actual Passenger Kilometers +Budgeted Passenger Kilometers x 100

Hid <1 arell wfsal & ferg—

Actual Tonne Kilometers + Budgeted tonne Kilometers x 100

lllustration 5: A transport company operates a truck. In order to exercise control over its
operation, the periodical budgets are drafted. For the period from 1% July, 2009 to 7" July, 2009.
the budget have laid down the operational targets of 7,000 tonne kolometers for this truck. During
the same period the performance of the truck has-been reported as follows:

(T TTEUIE S U ¢ a8 g9d URAle IR &30 9+ g AFRe dofc a91-) S
g1 1 e, 2009 ¥ 7 Sellg, 2009 Tb B! Al & T 59 ¢ & T 7,000 7 fdhelHer &
gRaEre &1 ey MuiRa fear a1 21 st erafy & st ¢ &1 uRares & for yaR ufafed
fomar ar 2)):

Date 2009 Distance covered in Kms Load carried in tonnes
July 1 300 4
July 2 200 5
July 3 250 3
July 4 100 2
July 5 200 5
July 6 - -
July 7 250 6

Calculate the utilization ratio for this truck.
(€9 <P @ folu SUARICT U &1 IO BHIFY |)
Solution:

Calcultion to tonne kilometers covered by the truck
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Date 2009 Distance covered Load carried in Tonne-Kilometers

in Kms tonnes (Distance x load)

July 1 300 4 1200
July 2 200 5 1000
July 3 250 3 730
July 4 100 2 200
July 5 200 5 1000
July 6 - ) )

July 7 250 6 1500

5650

Utilisation Ratio = Actual tonne Kilometers/Budgeted tonne kilometers x 100
=5,650 /7,000 x 100/1 = 80.71%

gfd e feaifier @rra vd s &1 Igurd (Ratio of per tonne km.cost to revenue) :
SHBT FEIAT I Ul e fhedMier anra &1 ufd e fhariex o 9 Jocdd g fhar
ST & SR I8 =7d fopar orar 2 o args g & ot 81 Xer-® 31T iy | fafd= 9rt w39
3UT BT AT TR IE S fhar Sl 2 fh S—1 AR rue & 3R ST IS | S7a)
T I I8 A1 eqg fHA1 o Fohar & {6 T emiue a9l R SffSid &T9ar aTel a18+ ol TThR
IAPT ATIE R # Il I Fahdll & | 39D AT Hab fo1g feiRaad AT &1 STANT fhar
ST &

=it mfsal & forg—
Actual Cost per passenger Kilometers +Actual revenue per passenger kilometer x 100

Hid <1 arell wfsal & ferg—

Actual Cost per tonne kilometers + Actual revenue per kilometers x 100

lllustration 6: A Hotel has three types of rooms viz. A, B and C. You are to suggest what rent
should be chargedfor each type of rooms on the basis of the following information:

(TP Bied H 9 UBR & 9 = A, B I C 71 ARl & R WR UG IS TSR & B
& o age 6y S a1t fRiy & forg geima <= 2 )

(i) The rent of B.type rooms is to be fixed as 1 %2 times the C type rooms and that of A type
rooms as twice the C type rooms.

(@ P & HRI BT frn AT {6 & SR A 1% A7 3l U fSH & HRI BT fbRm
A [ & RI ¥ T A1 FiRT R 2 )

(ii)  There are 20 A type rooms. 30 B type rooms and 100 C type rooms in the Hotel.
(@rcdt # 20 T €/8Y HN, 30 1 TRY HR TAT 100 A TRT TR 2 )

(iii)  Normally 60% of A type, 80% of B type and 90% of C type rooms are occupied in summer.
In wrinter 20% of A type, 20% of B type and 50% of C type rooms are occupied.
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(AHT=IaT THT H U 18U @7 60 UfRrd, 91 18U &1 80 UfRIG T ¥ <18U & 90 faerd
WRT AT ©| Wl § T TY BT 20 Uferd, €1 e8U &7 20 UfAerd dom ¥ e89 &7 50
gfererd ¥RT X8l B |

(iv)  Actual expenses are as follows:
(arfas @ f=falad 2 1)
a) Staff salary Rs. 2,20,000

b) Room attendants salary (when occupied):

Room Type Summer Winter

A Type Rs. 4 per day Rs. 6.00 per day
B Type Rs. 3 per day Rs. 4.50 per day
C Type Rs. 2 per day Rs. 3.00 per day

c) Lighting per month if occupied for full month for both summer and winter:
A type Rs. 80 B type Rs. 60 CtypeRs. 40

d) Power per month if occupied for full month for.both summer and winter:

AtypeRs. 40 B type Rs. 30 CtypeRs. 20
e) Repairs & Maintenance Rs. 42,000
f) Decoration Rs..50,000
g) Sundry expenses Rs. 76550

h) Depreciation:
Building @ 5% on Rs. 14 lakhs
Furniture @ 10% on Rs. 3 lakhs

(v) Summer may be assumed for 7 months and winter for 5 months in a year. Normal Days in a
month may be taken as 30.

@ & 7 W T AR5 HEN T HAAT ST FhaT g Ao H ARG @ 30 AF S
Ahd B)

(vi) Profit on cost is 25%
(T TR T 25 Ufaerd ® )

Solution:

Statement showing the total cost on maintenance of hotel and the rent which should be charged

Rs.
Staff salaries 2,20,000
Decoration 50,000
Room Attendant’s Salary 93,150
Lighting 55,400
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Power 27,700
Repairs and Maintenance 42,000
Sundry Expenses 76,550
Depreciation (Building Rs. 70,000+Furniture Rs. 30,000) 1,00,000
Total Cost 6,64,800
Add: Profit on Cost @ 25% 1,66,200
Total amount to be recovered as rent 8,31,000
Number of Rooms days 41,550
Rent for C type room per day Rs.(8,31,000+41,550) Rs. 20
Rent for A type room (Twice of C type) Rs. 20x2 Rs. 40
Rent for B type (1.5 times o C type) Rs. 20x1.5 Rs. 30

fewfray: (i) o7 feasdl (Room days) &1 IRGaw 9 daR foar a1 & o= e 9
[T ST &gl &1 qomET Frefoiad g3 @ derddr 9 o TE ©

AR B G&T X U HIE § fel &) 9 x HaR) &) G x SYIIEr gfaerd

CX N

U fa: YIS HTel 7 X 30 x 20 X (60 + 100) 2,520
9T ®Id 5 x 30 X 20 x (20 +.100) 600
T FH b IR D [ HAI QA 3,120

1 foa: YIS HTel 7 X 30 x 30 x( 80 + 100) 5,040
3T ®Id 5 x 30 x 30 X ( 20 + 100) 900
' fFH & R & B S faad 5,940

M foer: I BTt 7 X 30-% 100 % ( 90 + 100) 18,900
3d Tt 5% 30 x 100 x ( 50 + 100) 7,500

(i) cat § T fFH & TR T TAT W TEY FT HRT TG4 BT ¢ | T ST &1 A 9 FIAT 3R

G TRUH A F 1Y% oM 2| 3 A= R BT FAM 3HIS H UK PR b g U
IR ) TISU B BRI BT A T8Y H BRI Y a7 7T B |

AT & BT fea = 3,120

C clgV f[ DUTNUT hYq UX = 3,120X 2 = 6,240 hHN EERZI,
B T3U & &HRT fead = 5,940
C 18U &1 HHRT a9 = 26,400
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3 TIRY & IIIER, HFRT [SAl B el TR
= 6,240 + 8,910 + 26,400 = 41,550

(i) RT FaHT & Ia9 B TOET & fog 9 g3 BT A fEar T @ e fiaw x gfafes
g9 | T qAT NI B WG B AT —3(T ddd T T 7, qd: Al <Ul B HEHR b folv
3IP! TUET 99 IR BT TS B

U 41 f RIREES
Tt (2520 x4) = 10,080 (5,040 x 3) = 15,120 (18,900 x2) = 37,800
sfiaeTer (600 x6) = 10,080 (900 x4.5)= 4,050 (7,500 x2) = 22,500
g 13,680 19,170 60,300

(iv) fasTelt iR wIfth @& aFTd &1 ge ufd &1 ufa #e fear o ) fafrs s & i @
9 R B A Radl @1 d@ e fewl (i) & gaR 9 aR ol 7% | It 9 6 |
30 @ 9T AT SR AT 39 61 B ST f9d9 | HHRT A8 § HYRRY & ST | §9 UHR
S B TS WA BT Ul A8 Ui BRI, ARG W YOT R W AN B & SRl By faotelt
3R BIfh @ Fof AN ST BT S |

foctell &9 SING] RIS RCIp] AT
T (3,120%80+30) 8,320 T (3,120%40+30) 4,160
41 (5,940x60+30) 11,880 41 (5,940x30+30) 5,940
¥l (26,400X40+30) 35,200 T (26,400%20+30) 17,600
IIT 55,400 pIn 27,700

Typicall lllustrations

[llustration 1: A transport Company charges Rs. 60 per tonne for a 5 tonne lorry load from A
station to B station. The charges for return trip are Rs. 56 per tonne. In the month of December,
2009 the truck has made 10 outward journeys with full load out of which 3 tonnes were unloaded
twice at C station in the way. It returned without any load once only from C station to A station.
The expenses incurred were as under:

Annual fixed charges Rs. 19,200; Annual maintenance Charges Rs. 9,600; Monthly running
charges Rs. 1,202.

You are required to find out the cost per tonne Km. (Absolute) and profit for the month of
December, 2009 assuming that no concession is made for delivery at the intermediate stations.

Distance from A station to B station is 210 kms. And from A station to C station is 120 kms.
The truck carried a load of 8 tonnes 5 times in the month while returning from B station but was
once caught by police and was fined Rs. 1,000.
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(UH ATl URTET HHAI 5 €4 AR dlcl P &I U I ¥ 41 IF ddh A1l of 5 Bl
foRTar 60 . UfY <1 ol B 1 A1) TddR BT fRr 56 ®. ufd < &1 feawR, 2009 918 # €@
ol IR 9fzd 71 o 9F @ fau 10 Fae] o Rrad ¥ Anf § W )WeH W 3 e A Q1
IN IART| Padl T R AT LI A T I db 59 47 a1 v amasq oie 1 ger1| &g 8y
gpR fhd T

s IR &Y 19,200 %.; MG IIREVT Y 9,600 &,; TAT ANID UR=ATAT T 1,202
w.| I8 99d 8¢ 6 99 & wemi @ forv fomid ¥ fodl geR @ @ Rama 98 & 9l g,
3! fe=R, 2009 A8 & foy Ufar e fharier (UReg) & AT T o™ S1d &Rl & |

T WY ¥ § I B g 210 fHAL qAT U LIH A A I B g4 120 fHAL 21 39
e H d) WA ¥ died 99T ¢h §RT 5 9R 8 T HAlel of ST T, offdbd Ub IR Yferd gRT
qdhe WM & HROT 1,000 . AT ST TS|

Solution:

Operation cost sheet for the month of December, 2009

[Total Tonne kms. (Absolute) 23,010]

Total Cost Cost per Tonne
particulars km.(Absolute)

Rs. Rs.
Fixed Charges Rs. (19,200+12) 1,600 0.069
Maintenance charges Rs. (9,600+12) 800 0.034
Running Cahrges 1,202 0.052
Fines and Penalties 1,000 0.043
Total Cost 4,602 0.198

fewoft: T fpeaq 9 <eMaa g @1 TS B
Statement of profit for the month of December, 2009

Rs.

Collection from freight charges for services rendered

For 10 Outward JourneysRs. (10 x 5 x 60) 3,000
For 5 Return Journeys Rs. (5 x 8 x56) 2,240
For another 5 return Journeys Rs. (5 x 5 x56) 1,400
Total Collection 6,640
Less: Cost of service rendered 4,602
Profit for the month 2,038

fewof: gt e fhaidier (URYE) @1 aReberd =1 TR fbar T &
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Tonnes Kms.

Outward Journey from A station to B station

8 times: 8 x 210 km. x 5 tonnes 8,400

Outward part Journey from A station to B station

2 times: 2 x 120 km. x 5 tonnes 1,200

Outward part Journey from C station to B station

2 times: 2 x 90 km. x 2 tonnes 360

Return Journey from B station to A station

5 times with 8 tonnes — 5 x 210 kms x 8 tonnes 8,400

Return Journey from B station to A station

4 times with 5 tonnes —4 x 210 kms x 5 tonnes 4,200

Return Journey from B station to C station

with 5 tonnes once— 41x 90 kms x 5 4500

Return part Journey from C station to A station no load

Total tonnes kms. 23,010

729 QUESTIONS

1. (a) What are the objects of operating costing?
(b) Differentiate between ‘Absolute Tonne km’s and Commercial
Tonne km’s Explain and lllustrate.
(c) How do you measure the proper utilization of a vehicle during a
period? Explain.
(37) gRETe™ AT oIThT & ®T I 27

@) uRgg e (Parier wd qiftiges e fharier H 9 qargyd del I&TERv Afed
NEEIMG

(9) To Ay # UH ST BT ST SUART g & AT LN, MY H¥ AT 27 FHSMSY |

2. A truck started is journey from Jaipur towards Delhi with a load of 10 tonnes. A part of the
load weighing 2 tonnes was unloaded at Shahpura and further 3 tonnes at Kotputli. At
Behror, a fresh load of 6 tonnes was loaded and the truck was completely unloaded at
Delhi.

On its return Journey, truck started from Delhi with a load of 8 tonnes, out of which 4
tonnes were unloaded at Alwar. A fresh load of 5 tonnes was also loaded from Alwar. The
truck was completely unloaded at Jaipur.
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The station-wise distances covered by the truck were as follows: From Jaipur to Shahpura-
60 kms. Shahpura to Kotputli-65 kms. Kotputli to Behror 25 kms.Behror to Delhi 140
kms.Delhi to Alwar 170 kms. and Alwar to Jaipur 150 kms.

Calculate for the journey of the truck.
(i) Absolute tonne kilometers; and
(ii) Commercial tonne kilometers.

(T g =1 3T AT BT YR SIIYR A 10 ST ATl iR facell &l aRe fhar| 2.2 &
31T IR SMEYRT # g fF T & YR HIcYdell H IART A7 9e3€ H 6 T AT iR
STET AT 3R I+ ATt &1 facel § SaR fear Tar| aro=t I # ¢ ficell § 8 e &1
R IR AT B3 FOTEH I 4 T SfefaRk § SART 47 |

AR W 5 T Bl YT YR IST TAT| §b SIAYR H Tell PR g1 47|
THh gRT1 A= e 4 99 @1 18 9 1991 UaR of:

SAYR ¥ TMEYRT 60 A1, TMEYRT | PIcydell 65 fBHl., dicydel ¥ da<rs 25 fHHl, q&vrs
A facell 140 fHHl. facel A TR 170 fHHI, Td felaR I SIIYR 150 . |

A ©H O AT d foIT TOET DIV
(i) aRglg e fharieR, dem
(i) qIforRIds e fhariiex |)

[Answer: Absolute tonne kms. = 5,495; and Commercial tonne kms. = 5,185]

3. A transport company maintains a truck for carrying goods from Jaipur to Kota 250 km off. It
operates for 25 days on an average in a. month. Every day it starts from Jaipur with a load of
6 tonnes and returns from Kota with a load of 4 tonnes. The details of expenses are as
follows.

(T AT P STIYR H BIe] GT 250 fheMier & g R Red 2, 91 of 1 &
fU U& ¢& &l © | I8 AT Ud A8 | 25 3T @ aRar 2| I8 ufifed SR ¥ 6
T A SHR AT BIAT 2 3R PICT § 4 ST Al PR 99 dledl § | aai &1 faavor

RreafoiRad T@R 2):
Salary of driver Rs. 800 per month
Salary of cleaner Rs. 400 per mont
Taxes and insurance Rs. 3,000 quarterly
Repairs and maintenance Rs. 2,000 monthly
Grage Rent Rs. 2,400 annually
Diesel Rs. 12,000 monthly
Depreciation Rs. 3,000 monthly

Yourare required to calculate total cost for one month and also cost per tonne km.
(@MIBT TH AE B Ff AFTT qAT Ufae fherier dnTd S wRAT 2 )
[Answer: Total cost Rs. 19,400 Cost per tonne km. —Rs. 0.31]
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4. From the following data relating to two different Vehicles A and B, compute the cost per

running km.
(T T SR g RrefRad sifeer & uRy ReeiieR T ST #IRT) -
Vehicle A Rs. vehicle B
Rs.

Kms run (Annual) 15,000 6,000
Cost of vehicle 50,000 30,000
Road Licence (Annual) 1,500 1,500
Insurance (Annual) 1,400 800
Garage rent (Annual) 1,200 1,000
Supervisor’s salaries 2,400 2,400
Driver’s Wages per hour 6 6
Cost of fuel per litre 6 6
Kms run per litre 20 kms 15 kms
Repairs & Maintenance per km (Rs.) 3.30 4,00
Tyre allocation per km (Rs.) 1.60 1.20
Estimated life of vehicles 1,00,000 kms 75,000 kms

Charge Interest at 5% per annum on cost of vehicles. The vehicles run 20 20 kms per hour on an
average.

(M B AFTa R 5 gfera aiffe e dwisy | At id 20 fharier ufa ger @ f2ae
3 T B ) [Answer: Cost per km — Vehicle A = Rs. 6.60 per km and Vehilce B = Rs. 7.50 per km.]

5. A city municipality arranges for the removal of its garbage by means of motor vehicle
transport. The following vehicles are maintained.

(T® TR B TRUADT BT BIHE B & oy Al AT HI el Bl 2| 4
mgﬁ'$§a@ﬂ‘ %_a“wﬁw-cﬁ%‘):

No. of Vehicles Specification

40 5 tonne lorries
50 4 tonne lorries
20 3 tonne lorries
20 2 tonne lorries

On an average each lorry makes 4 trips a day and in each trip covers an average distance of 20
km. Each lorry carries garbage weighing only 60% of its capacity on an average. 10% of the
lorries are laid up for repairs every day. The following are the monthly charges incurred.
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(URs AR SHAT 4 Fah) Ufdfad AT & qA1 Ul Fap) | i 20 AL @ g T
B | TS AR IO AT @ 60 UfRId g Bl of il 7 | &fga ufafes 10 ufoera &Ry
TR Bg ¥l W&l & | U Are H FrEfaRad =gy fey 1)

Salary : manager, Motor Vehicles Department Rs. 3,500
Salary of 2 Transport Technicians Each Rs. 2,000
Salary of 140 Drivers Each Rs. 600
Wages of 400 Labourers Each Rs. 400
Consumable stores Rs. 25,000
Diesel Rs. 80,000
Lubricants Rs. 20,000
Replacement of Tyres, Tubes and other parts and accessories Rs. 10,000
Garage rent and rates (adjusted in the books of Municipality) Rs..3,000

Gas and electric charges Rs. 2,000

There is a repairs workshop attached to Motor Vehicles department which also carries and repairs
for office cars and other Vans and Vehicles. 50% of the Manager’'s salary is debited to the
workshop. Motor Vehicles Department be charged Rs. 15,000 month for the services rendered by
the workshop. Assuming that a month consists of 30 days, calculate the cost per tonnes km. for
removal of garbage.

(AR LT IR & A1 U AR BT |l B S [ SEed & SR a7 T drgdl dl |l
AT HRAT & | AoR & dd- &I 50 Ulerd &Reme O R ST STaT & | SR faumT
ERT YSH @l T8 Jarelft & forg #ex fqmT W= 15,000 ®. URT /18 o1 2| 98 A0 gY & Arg
30 faT &1 €, Hel 8 &I Ufa e . 1. dmre = Sy |)

[Answer: Cost per tonne km. Re.-0.624.]

6. From the following information furnished by a Hotel owner, you are requested to advise
him that what rent should be charged from his customers per day per room so that he is
able to earn 25% on the total cost other than interest.

(i)  Staff salaries Rs. 80,000 per annum.

(i) Room attendant salary Rs. 2 per day when the room is occupied. There is one
attendant for one room.

(iii) Lighting, heating and power, the normal lighting expenses for a room is Rs. 50 per
month if occupied for the whole month, power is used in winter only costs Rs. 20
per month, if occupied.

(iv) Repairs of Buildings Rs. 10,000 per annum.
(v) Sundries and Linen etc. Rs. 11,400 per annum.
(vi) Decoration and furnishing Rs. 10,000 per annum.

(vii) Building and other equipments cost Rs. 4 lakhs and Rs. 1 lakh respectively to be
depreciated @ 5% and 10% per annum.

(viii) Interest on Capital Outplay Rs. 5 lakhs @ 5%
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(ixX) 100 rooms are there and 80% are normally occupied in summer and 30% in
Winter. Period of summer and winter be taken as six months each. Normal days in
a month be assumed to be 30.

(TP Blcd & WMl g1 FrefoRad ued gaamsil & MR WR ATYHI WHER & & oy
ffae far & 6 e 9 ufafed ufd a1« famer 9t Y R & 98
TS & AR M ol AT W 25 Ul A 3ifoid B A |)

(i) @H=nRAT BT 9a9 80, 000 . aTf® |

(i) &R & IRIRS B 99 2 . YT Safdh HRT MR G 2| U I D foIg
Th HART IRARG BT © |

(i) weTer, TUF g WRH: AETT YD1 FI URHTE Ui HFRT 50 6. @ Al 98 W_T gall
21 2P BT SYANT Bddel Mdial ¥ fHar Sdr & 9o 20 %, 9y 918 ufd da-0
2, af T garr B

(iv) ¥a=i &1 FFd 10,000 . AP |
(v) fafay e vd fomst onfe 11,400 S.a1f® |

(vi) Soae Ud SUHRT 10,000 6. TP |

(vii) 999 TG SUBRUT PHHIT: 4 AG AR 1 oG . N @I 8| 7 W HAIM 5
gfererd afiies Hed & T 2 |

(viii) 5,00,000 %. & <RT goil fafanT o= 5 GRS T 7 |

(ix)100 R B TAT ARIROITAT TH H. 80 Ufrerd dr Nadiad § 30 Ufed &R R
JEd B | THT 3R AT BT THY 66 HIE forar WY | U ATE H 30 foF A9 9 |

[Answer: Room Rent — per day room Rs. 15]
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SECTIOND

ufear omra fAeivor Afa

[Process Costing Method]

IS T H P SN B I YOl 89 UHR HI B8Rl & FoTaH T Al Bl

ffa avg § wuraRa a=7 & oy sm& ufshamsii (Processes) § & 8Ia) I[oRAT Usal @ | U
oM ¥ ugell ufran &1 AT A1a R ufhar & foflw @ ARl &1 @R eRar ® ud g
ufsear &1 AT e TR uforer & forg @l ARl &1 BRI wRAT @ 9T I8 A SffH dd
SRT IEdT B, el W T SR 9Rr 87 ofan ® iR o] fad g 99 OIRl B 39 UBR &

SN | T Sd bR Bl off Ay = ol @ SS9 ‘ufear amra fHefRor fafer «=d 21
yfehar uReare= T a1 31fdh UfhATsi &1 ST S DR &1 Uh fIf & ST bl Irf

&I T Sae & wuraRd 5 99 9 9Heg 2 |
ufear arra freivor Sfa & fallierarnd:

1.
2
3.
4

5.

ITe BT fafer=T ufdbamsti | I[oiRAT

. fafr= uforametl & arel &1 e v
IR I S ARI—T 107 IATE g FE—IdT& BT 41 BT
. SdTEd BT YHIOIT WR BT 8T

yfeparail o1 wa Hfd=a g

d@ree fafer
(Accounting Procedure)

afspdr ArTd fHeiRor fafer &1 UART @R dTel SENN # URd UfhAT B AN S bR B

gdh—YIdh W Wil 9 © ol Ufshar @ (Process Accounts) ed 2| $9 @[ & Sfde
el H R U¥eT Ud JUIET WIT BT oikdl fhAT AT & dAT hfsc U § WEAl B &g el

ATl & AR BT Tol fhdT SdT & | T UfBAT Wi &1 YTy 4 YbR 8 JobdT &

Process Account

Particulars

Amount Rs.

Particulars

Units

Amount
Rs.

To Direct Material
To Direct Wages

To Direct Expenses
To Indirect Expenses
To Other Expenses

(if-any)

By Wastage

By Next Process
a/c (Transfer)
Cost per Unit
Total Process

Cost




Total production

lllustration 1: The product of a manufacturing company passes through three different
processes before completion, the product of one process being passed to the next process and so
on. The expenses incurred in each process are as follows:

(Ten o SR &1 SR U B 9 g4 o fAfteT ufhanet § 9 oRar 7, ue ik
HT IATE 3Tl IHAT B ARG HR Qa1 Sar & IR I8 HA Fordl I8al 2| Gdd Ufshan
R gY &l BT [qervr EfaRad yeR 8):

Process X Process Y Process Z
Rs. Rs. Rs.
Raw Materials 1,80000 1,20,000 60,000
Labour 50,000 60,000 70,000
Direct Expenses 15,000 25,000 50,000

The indirect expenses for the period amounted to Rs. 3, 60,000 which is to be apportioned
in the ration of labour charges. 1,000 units were manufactured. There were no openings or closing
stocks. Prepare the Process Account and Finished Stock Account showing the cost per unit in each
process.

(erafer & fory arucaer <y 3,60,000-%. & RAHI SIS 319 FAT & U H AT & |
1,000 3Pl T g2 ol | URMS T il i 1 € | U Ufshdr ¥ Ui gprg omTd fe@md
B Ul W JoI TR eid QT a918¢ |)

Process X Account

. . Amount . .
Particulars Units Rs Particulars Units Amount Rs.

To Raw Materials | 1,000 | 1,80,000 By Process Y a/c Transfer) | 1,000 3,45,000

To Labour 50,000 Cost per unit
To Direct Expenses 15,000 Rs. 3,45,000/1,000
=Rs. 345
To indirect Expenses 1,00,000
1,000 3,45,000 1,000 3,45,000

Process Y Account

. . Amount . )
Particulars Units Rs Particulars Units Amount Rs.

To Process X a/c By Process Z a/c 1,000 6,70,000
( 1
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(Transfer) 1,000 | 3,45,000 | (Transfer)
To Raw Materials 1,20,000 | Cost per unit
Rs. 6,70,000/1,000
Rs. 670
To Labour 60,000
To Direct Expenses 25,000
To Indirect Expenses 1,20,000
1,000 | 6,70,000 1,000 6,70,000
Process Z Account
Particulars Units ﬁ‘gnount Particulars Units Amount Rs.
To Process Y a/c By Process Z a/c 1,000 9,90,000
(Transfer) 1,000 |6,70,000 | (Transfer)
To Raw Cost per unit
Materials 60,000 Rs. 6,70,000/1,000
Rs. 670
To Labour 70,000
To Direct
Expenses 50,000
To Indirect
Expenses 1,40,000
1,000 9,90,000 1,000 9,90,000
Finished Stock Account
Particulars Units ﬁ‘gnount Particulars Units | Amount Rs.
To Process Z a/c | 1,000 9,90,000 By Balance c/d 1,000 | 9,90,000
(Transfer)
1,000 9,90,000 1,000 |9,90,000
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T &g, MM &g Ud g 99d
(Normal Wastage, Abnormal Wastage and Abnormal Effectives)
ATATICT STTEA & UH Ufhdr Ud Iavad) Ufshareti # Srefl 18 dedl ar il (Input of

Raw Materials) @ @1 &% _EX Sdeq (Output) &l BT & difed Iafe  foham,
1A Td PBlc—Bic 3¢ P BRI IdNed ShIsAl § U BT WP 2| SAre Ufhar |
9 UBR B dTell 1Y BT &9 (wastage) H&T 9T 2| ¥ e 94 UeR & & ddhd &

1.

A= & (Normal Wastage): SIrnfl @ U1 819 &7 ST Sdred Ufshar | qr=iean
UAdh IUTEHh & HREM H Bldl 8, U M &Y $ed 2| 59 M &9 & Pbs HRIT
B Whd © Oi— dTIeRUT g§RT T & G& ST, Bied AT Blel IR GHAN &I HB 91T
T BT ST 3T ATl & g afe |

™= &g (Abnormal Wastage): afe faxit ufshar # Srefl =it Gl ©® Sdres
gfhar & SRM gRafde B @l | fEar gr1 FaiRa vd srgarfa s &1 4= |
AfSrd BT ® AT onfera arell &1 &1 ‘A= e’ (Abnormal Wastage) 59T ST € |
JaTeRoTe, UfshAT ‘g H 950 ShIgAT Slell Mg 3R IUGd gRI I8 AFANG fhar T
gfoear ‘9’ § 10 gfoerd g1 891 =1fee ar ufssar ‘9 | 950 X 10 /100 = 95 SHIZAT d
WM &g AT SR a1 39 1 g1 8l df |ifiiRes 81 &1 M= &g AT
SR | A SIS Ufshar ‘9" § IcaTe 830 SHhIsAl BI 8 AT Al Bol &I 120 shIedl 4
W 95 SHISAT Bl B AHT & qAT 3IAIRD (120—95) 25 SHISAT BT I ISRAFRT &
AT ST |

=1 gad (Abnormal Effectives): &fi—a0t fo<il uftear & Sl 18 9l w®
SUGEH b AADAYY YAl & HRUT Iied H IRGAdd B SHd gRT
AEFI B | HF BT © I AT A 81 8 § S 99d 8l §, SS9 S Ufshal

# =g 9ad Abnormal Effectives) ®HT STrdr € |

[llustration 2: A product passess through three distinct processes to completion. 10,000 units
were introduced (valued at Rs. 50,000) in Process A. Following expenses were incureed:

(T® Scared qof 89 | gd A fafi= ufhamell &1 g Toar 2| ufssar A # 10,000 Shrsaf
(50,000 ®. FeT HI) M TS| A I Y W )

Process A Process B Process C
Machine Expenses Rs. 5,000 4,000 3,000
Labour Rs. 20,000 30,000 25,000
Direct Expenses Rs. 11,000 16,400 4,600
Normal Wastage 5% 10% 5%
Scrap Value Per Unit Rs. 1.00 2.00 2.50
Actual output(units) 9,000 8,000 7,700

Prepare Progress Accounts showing the cost of output and the cost per unit at each stage of
manufacture along with Normal Wastage Account, Abnormal Wastage Account and Abnormal
Effectives Account.
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(ST & TP TR TR UM 3PS N T IUIH B el AN gdid g¢ UlhaT @M g1y
T AT &7 QAR SRIMAY &7 WTaT dfil SNTHg gad @rar Y 99187 |)

Process A Account

Particulars Units Amount Rs. | Particulars Units Amount Rs.
To Cost of Input 10,000 50,000 By Normal
Wastage a/c 500 500
To Machine By Abnormal
Expenses 5,000 Wastage a/c 500 4,500
To Labour 20,000 By Process B a/c 9,000 81,000
(Transfer)
To Direct Expenses 11,000
10,000 | 86,000 10,000 | 86,000
Cost per unit of Good unit = Normal Cost of Process / Normal
Production of Process
= Rs. (86,000 — 500)-/ 9,500
= Rs. 85,500 /9,500
=9 per unit
Cost of Abnormal Wastage = Units of abnormal wastage x Cost per unit
=Rs. (-500x 9 ) = Rs. 4,500
Process B Account
Particulars Units Amount Rs. | Particulars Units Amount Rs.
To process A a/c 9,000 81,000 By Normal
To Machine Wastage a/c 900 1,800
Expenses 4,000 By Abnormal
To Labour 30,000 Wastage a/c 100 1,600
To Direct By Process C a/c 8,000 1,28,000
Expenses 16,400
9,000 1,31,400 9,000 1,31,400

Cost per unit of Good unit =1,31,400- 1,800 /8,100

= Rs. 1,29,600 / 8,100 = Rs. 16 Per unit

Cost of Abnormal Wastage = Rs. (100 x 16) ? Rs. 1,6(%0
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Process C Account

Particulars Units Amount Rs. | Particulars Units | Amount Rs.
To process B a/c 8,000 By Normal
To Machine Wastage a/c 400 1,000
Expenses By Finished Stock 7,700 |1,61,700
To Labour A/c
To Direct
Expenses
To Abnormal
Effectives 100 2,100
8,100 1,62,700 8,100 | 1,62,700
Cost per unit of Good unit = Rs. 1,60,600 — 1,000 / 7,600
=Rs. 1,59,600 /7,600
=Rs. 21 per unit
Cost of Abnormal Effectives = Rs. ( 100 x 21 ) = Rs. 2,100.
Normal Wastage Account
Particulars Units anount Particulars Units Amount Rs.
To process A a/c 500 500 By Cash a/c 500 500
To process B a/c 900 1,800 (of Process A)
To process C a/c 400 1,000 By Cash a/c 900 1,800
(of Process B)
By Cash a/c 300 750
(of Process C)
By Abnormal
Effectives a/c 100 250
(Shortfall of Sales)
1,800 3,300 1,800 3,300
Abnormal Wastage Account
Particulars Units ﬁ‘gnount Particulars Units | Amount Rs.
{ 135 }



To process A a/c 500 4,500 By Cash a/c (Sale) 500 500
To process B a/c 100 1,600 By Cash a/c (Sale) | 100 200
By P. &. L. a/c - 5,400
600 6,100 600 6,100
Abnormal Effectives Account
Particulars Units Amount Particulars Units At
Rs. Rs.
To Normal By Process C a/c 100 2,100
Wastage a/c 100 250
(Shortfall of Sales) 1850
ToCosting  P.&L.a/q
100 2,100 100 2,100

lllustration 3: The product of a factory passes through three processes X, Y and Z. Following is the
expenditure on these three processes.

(UH HREM & IAE UaT 918 9 o€ AMd 19 URhamil | 3R 81dl © | 89 a9 ufshami &

oy frfemad 8)

Material Used
Wages

Indirect Expenses

Units issued to (50,000 units)

Normal Wastage

Process X
Rs.

Rs. 10,000
Rs. 15,000
Rs. 2,500

Rs. 20,000
4%

Process Y
Rs.

5,000
7,673
2,500

10%

Process Z
Rs.

2,500
7,485
3,750

10%

The percentage of wastage given above should be calculated on the units entering each process.

The wastage of process X is sold at Rs. 10 per 100 units and that of process Y and Z at Rs. 25 and Rs.
10 per 100 units respectively. The finished product of Z is transferred to Finished Stock Account.

(SR &R &g B YRR & TN e Uihar 3 Jde &R dTell SHsdl W &l 2 |

TRT UfhaT &1 &7 10 ®. Ufd 100 SHISAT ®I X I dAqT Il 9 ol UlhIRI &1 &1 HHIT:
25°%. 9 10 . Ul 100 SHILAT P X W 9= WAl 2| o Ulhar &1 ffa sare g <ie
W H IR B fear ST 2

GiehaT Ua &1 IATG 47,520 SHIAT &, a1 UlHAT BT 43,460 SHISAT TAT SIS UfhaT &1
38,960 SHIZAT B | UfhAT W TAT MG & Ud SRR §9d @I (IR HIoTg |)

(

1
l 36




Process X Account

Particulars Units anount Particulars Units Amount Rs.
To Input of Units 50,000 20,000 By Normal
To Materials 10,000 Wastage a/c 2,000 200
To Wages 15,000 By Abnormal
To indirect Wastage a/c 480 473
Expenses 2,500 By Process Y a/c 47,520 46,827
(transfer)
50,000 | 47,500 50,000 47,500

fewof: Cost of Abnormal Wastage
= Normal cost of the process / Normal production of the process x No.

of Abnormal wastage
=Rs. 47,500 — 200/50,000-2,000 x 480/1
=Rs. 473

Process Y Account

Particulars Units anount Particulars Units Amount Rs.
To Process X a/c 47,520 46,827 By Normal
To Materials 5,000 Wastage a/c 4,752 1,188
To Wages 7,673 By Process Z a/c 43,460 61,796
To Indirect (transfer)

Expenses 2,500
To Abnormal

Effectives a/c 692 984

48,212 | 62,984 48,212 | 62,984
fewof: Cost of Abnormal Wastage
Cost of Abnormal Effectives = Rs. 62,000 — 1,188 / 47,520 - 4,752 x 692/1
=Rs. 60,812/42,768 x 962/1 = Rs. 984 approx.
Process Z Account

Particulars Units anount Particulars Units anount
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To Process Y a/c | 43,460 61,796
To Materials 2,500
To Wages 7,485
To Indirect
Expenses 3,750
43,460 | 75,531

By Normal
Wastage a/c 4,346 435
By Abnormal
Wastage a/c 154 296
By Finished Stock
a/c 38,960 | 74,800
43,460 | 75,531

Cost of Abnormal Waastage = Rs. 75,531 — 435 / 43,460 — 4,346 x 154/1
= Rs. 75,096/39,114 x 154/1 = Rs. 296 approx

Abnormal Wastage Account

Particulars Units | Amount Rs. Particulars Units | Amount Rs.
To Process X a/c 480 | 473 By Cash a/c (Sale) 480 48.00
To Process Z a/c 154 | 296 By Cash a/c (Sale) 154 15.40
By Costing P & L. a/c 705.60
634 | 769 634 769.00
Abnormal Effectives Account
Particulars Units | Amount Rs. Particulars Units | Amount Rs.
To Normal By Process Y a/c 692
Wastage a/c 692 173
(Shortfall of sales)
To P.&L. a/c 811
692 984 692 984
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SYIUIE Uqd Hg—3dlg

(By — Products and Joint — Products)

FE IEN BT I U § I IR S ARI—AT B 3 IAIE W I~ 8 IR 2 S
f& SUlcaTe 3ferar WE—SeUTE B L H & Wehdl &

Juicure (By Product): 5@ &l ufham # Al | U@ SR T IR R T ATNETD
(incidental) ®9 ¥ §B = Ty IAIfed 8 SRl 2 S fdhd AFT Aqa] FgeR A
(Saleable or Usable) gl & @I 3 IUIITE HEanl ¢ |

§Ib BO TIE IEERYT 1 PR 8-

ST I AT JUIcdTE AT M IS
1 Tl el Sel] o el
2 | |gT SN SER TR
3 | ®g == ] BRI
4 | = SEN Elxll 9iRT (Molasses)
5 ST TR HRIE T TR BB
6 | Plb AN #% (Coke) 9, SR anfe
7 | dat oA SEn NIESIGE] Aeh] Td IS ETe 37T

Sarg a1 fallrerare
Scre B faRivdiy 74 garR &
1. ¥ IUTE UhAT § U9 UG b AIRI—A1 S IT IS § I~ 81 SN & |

2. UG IATE B JoIl H b1 fasha AT HF 98d $HH Bl © |

3. @3 IR $° A Ay g9 Bq ST Ufshaie=1 (Processing) &_1 U=dl & |

4. UgI ITE P IATeA UishaT H U FREd fawg R s A Iaure s (Split off) &1
S € |

5. HH—HH IATEH UHAT & SR 99 & AT Y ¥ Ig IUE IR & WM ¢ |

¥e 3drq (Joint Products)

PH—HHT b B Ufhar § & AT &1 I 3AfAd aRY SRR Heed Bl b A1 AT B St
2 Jffd FHvIGdT BT I9eg & AT RN 991 BT © | 3R Ud 9% &I yoiar & fory &t
3= YihAT3l Bl ATaIBAT 59 YHR Bl & [ 399 I [l ¥ 9 a1 IUIE I T/ IR

&l ‘@Bl S Webal & A 8= We—sare (Joint product) H81 AT & §70 HB T4 IaTexl
/=1 TR &

HE | SN E— S
1 SEIRICERSCIET RIRE Ao, se9 da, SRIfea d@ (Paraffin
wax) Slesl, dldaR qr ENfea o (Crude
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oil) amfe |

2 ST AN G, gD, HIF, HIGA [dHell g g
(Skimmed milk)
3 PIIT ST g ®Ih, WYe BIdb, WH did e faf=

el & Pt |

4 AR Tdhs! ST

faf=1 fet & o<l anfe |8 e B4 2|

Hg—sare o1 fallizrdaie

JE—ITS P! faed = JaR &:

1. A IAE U & dedl GEdl ¥ IR B 2 |

2. AMEFId: ¥ IS o9 H9F J8d & Bl © |

3. forem fa=g (Split of point) & gd, A I U& & Ufhar F [oRd 7 |

4. JIEH BH B ITAN ARG §9 W S 3R UfhAie @l rasadr el ¢ |

Typical lllustrations

lllustration 1: The product of a factory passes through three processes X, Y and Z. Following is
the expenditure on these three process:

U@ HREM & ISUR [HY, a8 d o€ AMd A Ufhapi | 8dH: JoiRkdl 2 39 o

et & @r Prefma 2)

Particulars

Process X Rs.

Process Y Rs.

Process Z Rs.

Materials used

Wages

Indirect expenses

Units issued to (50,000 units)
Normal wastage

Sale of scrap per 100 units

10,000
13,000
2,800
20,000
4%

10

5,000
12,696
2,500

10%
25

2,500
7,223
3,750

10%
10

The percentage of wastage given above should be calculated on the units entering each
process. The Finished product of Z is transferred to finished stock account.

(SR TS & B ufaed B TUFET UAD UlhAT § U B dTell IHSAT W AT 2 | TS
ufshar &1 A arar fAfd Wie @ § sxaiaRd &A1 &

ufshar X &1 SATET 47,520 $HhIgAT, Y UfhAT BT 43,460 SHISAT AT Z UfhaT HT 38,960
SHIZAT B | UfhaT WA AT SN &9 U4 99d @A TIR HIFoTg |)

——
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Solution

Process X Account

Particulars Units anount Particulars Units Amount Rs.
To input of uints 50,000 20,000 By Normal Wastage a/c
To materials 10,000 (4% of 50,000 units) 2,000 200
To wages 13,000 By Abnormal Wastage
To indirect Exp. 2,800 a/c @ Re 0.95 480 456
By Transfer to Process
Y a/c @ Rs. 0.95 47,520 45,144
50,000 45,800 By Transfer to Process 50,000 45,800
Note : Cost per unit = Rs. 45,800 — 200 / 50,000 — 2000
=Rs. 0.95
Abnormal Loss = 480 x 0.95 = Rs. 456.
Process Y Account
Particulars Units anount Particulars Units Amount Rs.
To Transfer from By Normal Wastage
Process X a/c 47,520 45,144 10% of 47,520 units 4,752 1,188
To Materials 5,000 By Transfer to process
To Wages 12,696 Za/c@Rs. 1.5 43,460 65,190
To Indirect Expenseas 2,500
To Abnormal
Effectives a/c
@ Rs. 1.5 692 1,038
48,212 66,378 48,212 | 66,378

Note : Cost per unit ( 65,340 - 1,188 / 47,520 — 4,752)
=64,152/42,768

=Rs. 1.50

Abnormal effectives = 692 x 1.5 = Rs. 1,038.
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Process Z Account

Particulars Units anount Particulars Units Amount Rs.
To Transfer from By Normal Wastage
Process Y a/c 43,460 65,190 10% of 43,460 4,346 435
To Materials 2,500 By Abnormal wastage
To Wages 7,223 af/c @ Rs. 2 154 308
To Indirect Expenseas 3,750 By Transfer to Finished
Stock a/c @ Rs. 2 38,960 | 77,920
43,460 78,663 43,460 | 78,663
Note : Cost per unit = Rs. 78663 — 435 / 43,460 — 4,346
=78,228 /39,114
=Rs. 2
Abnormal Loss = 154 x Rs. 2 = Rs. 308
Abnormal Wastage Account
Particulars Units ﬁ‘gnount Particulars Units Amount Rs.
To Process X a/c 480 456.00 By Cash a/c (sales)
To Process Z a/c 154 308.00 @ Re 0.10 480 48.00
By Cash a/c (Sales)
@ Re 0.10 154 15.40
By P.& La/c 700.60
634 764.00 634 764.00
Abnormal Effectives Account
Particulars Units ﬁ‘gnount Particulars Units Amount Rs.
To Normal Wastage By Process Y a/c 692 1,038
a/c (shortfall of
Sales @ Re. 0.25) 692 173
Top.&L. a/c 865
692 1,038 692 1,038
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gl (QUESTION)

1. What is represented by excess of actual wastage over normal wastage?

(AT &9 WR IRAdd & BT AR T Ghe HRdl 57)
What is meant by abnormal effectives?
(AT g9 | RT3 2?)

Differentiate between abnormal wastage and abnormal effectives.

(ST &7 AT AW dad H U IR 9a1gy |)

Explain normal wastage and abnormal wastage, and abnormal effectives. How should these
be dealt within process accounts?

(AT &9, MG & dT M 99d &l FHeNgy | Ufshar @il | ga Al &l
FJagR fHar Sar 87)

. The product of a manufacturing concern passes through two processes X and Y and then to
finished stock. It is ascertained that in each process normally 5% of the total weight is lost
and 10 % is scrap which from processes X and Y realizes Rs:.160 per tonne and Rs. 400 per
tonne respectively.

(Tep foHTor R T IcdTe a1 Uil Ua 3R ‘ars-H A [oR wR AfHd Wi @ §
ugadr & | 9 uiRa g1 2 % gs ufshar § gem=iar aeot | 5 uferd @ &H B @
3R 10 wfrerd 3raey IEaT & Ty Uad &R a8 | HH9l 160 . Ul 1 400 %. Uf
Il BIAT T )

The following are the figures relating to both processes:

(FreafoRed s @1 ghpael < <Gdfd 2):

Process X Process Y
Material in tones 1,000 70
Cost of materials per tonne 250 400
Wages Rs. 56,000 20,000
Manufactruring expenses Rs. 16,000 10,500
Output in tonnes 830 780

There was no stock or work-in-progress in any process. Prepare Process Accounts showing
cost per tonne of each process. Also prepare Abnormal Wastage and Abnormal Effectives
Account.

(fopeh ) ufshar o 1g wie a1 Ag—MfHd 7t 71 o1 gfa = T fe@rd ge ufshar
GId. IR HINY | IR &g U4 IR 99d @ral W TR HIfoTy |)

Rajashtan Chemiclas Ltd. manufacture and sell their chemicals produced by three
consecutive processes. The product of these processes are dealt with as under:

R Bfided foIffics 9 oFaR Ufharell gRT Sdrfed 3H A & Fffd ava
I B | 39 UhIRIl & SRl &I FueRT siferRad fhar ST 2):
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Process | Process Il Process Il
Transfer to next process 662/3% 60% -
Transfer to warehouse for sale 331/3% 40% 100%

In each process 4 % of the weight put is lost and 6% is scrap which realized from process | Rs
3 per tonne, from process Il Rs. 5 per tonne and from process Il Rs. 6 per tonne. The

following particulars relate to the month of July, 2009:

(9 ufpar § STl T 99 BT 4 YR A€ B AHAT 2 SR 6 YT JEL & oI §
Srast ufshar |9 3 % ufd e, ufhar 11 9 5 . °fd e 3R ufshar 1l 9 6 . ufaqy e

et BIaT ¥ | fferRad faaxvr G, 2009 AE & e ?)

Process | Process I Process Il
Materials used in tones 1,400 160 1,260
Rate per tonne Rs. 10 16 7
Wages and other expenses Rs. 5,152 3,140 2,898

Prepare process accounts showing cost per tonne of each product.

(U ITE B Ul e anTa e gy ufhar @ g91sy |)
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THIgd oE

[Integrated Accounts]

ST fe M 9 @ W € P udled od |1 T ofem usfadl — AT oRaTee el
O oramha— &1 THIHROT 2| IR ol YoTell R MnRd I8 ugfd @ma wd facia gHf
UhR B Gog IuAel BRI © | Udlhd Gl Ugld 3 dRtd @rdr 981 e d o
3MATIHAT &1 BIe & AT are faftedll 59 @ & a1 & @ &) 9 ¥ 399 Aafeva @
e fadg ggfd & 9 @ W 9d ' dfe O geR @ gEeg T g1 9. den ]red
gfafedt «ff g1 &1 9 | arTa den fadfi yeR @ gEg Ut 81 e do qresr ufafedt o g
B Y | ARTG a7 fIda ol &7 e & Av—g1e @rar JaR A ST g |

T[T H, ORI B g8 USfd S WY TIeN] oGl UUTTell R IMIRA. BB} USRIH g
e el & IRIRG a1 RIS IT SHT YSR & 59 Bl dAT &9 Bl 999 BT H FeId
g, S [Od vd aa @l 7 gue—gud wd q UKRd HRA W qAT SaRad] dHriford spa
D T =g el HRAT USdT © | AN ol@rh &1 goidr d I of@ie &1 IuIINREAr ol grRop
PR dTell I§ Ybidhd YoTell = |

UPIgd @ Ugfd @ @ (Advantages of Integrated Accounts)

AT UG I ol & TR & HoRdwt I8 odl Uefd 7 dad I8d, 919 9 €49 &1 99d
PRA © I THIBR BT H 8 & HRUT Afder 3 Garail &1 Ui &1 91 | 2| 396 T9d
oy fereforlRaa 2

1. fAaef¥ar (Economical): avma den faciia oai &1 31—l T &= &I g9l Udh &l
G gD H W W UH B S BN IR T8 BT gsal & foraw fofera @i |
gad Bl 2|

2. @™ @ smawgedr 81 (Reconciliation not required): 39 Ugfd @& I=id g T
B AT—8I GTdT 91T ST 2 S9olY o A7 eI @Y ]I U & Bl 2 S99 aNTd
g fady oikal & ATv—a1 - & A= &) Mavgydhdr T8 gl |

3. D=radrvl (Centralisation): 9 YR @7 AT WA BT BTG TH & Q9T § &1
ST & R vemafe @3t | o s9a 8l g

4. a9 (Combined Knowledge): @mTa oRard qern fofig oiamd ugfoai @ o
BT HYh P JBaR URVIM U< b I & |

5. Jifder et (Information without delay): o/@i # @ggERl &1 @A AR & Y|
yfafic & g&Idi & @1 Il 8 f9 sfawad gaang sifde e ured 81 SRl & |

UdIhd dWIdh HI SUYaddl  (Utility of Integrated Accounting)

UahIgd ol Usfd BIC JGERI | AUAE SRl & d 3 Jq9Rl & foly Iugad g1
FHESH O €| SHPT BRI I ¢ & 99 Jaardl H foqd ana ga fad el @ oRfTdR
HTEFIBATAT DI YU PR H g Ugfd a9l 81 39 Ugld BT gaa A el T8 & HMifd T
JIARI & fIY ITYh T BF & HRUT BIC JIAR-T 4 $H HH 8 B H oid 2|
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Accounting Entries Under Different Systems

Non-Integrated Accounting

Transaction Financial Cost Integrated Accounting
Accounting Accounting
1. Material Purchases a/c Dr. | Stores Ledger Stores Ledger
Purchased for To Cash a/c Control a/c  Dr. Control a/c Dr.
stock on Cash To Cost Ledger To Cash a/c
Control a/c
2. Material Purchases a/c Dr. | Stores Ledger Stores Ledger
Purchased for To Creditor a/c Control a/c Dr. Control a/c Dr.
stock on Credit To Cost Ledger Control a/c To Creditors a/c
3. Material Pruchases a/c Dr. | W.I.P. Ledger W.I.P. Ledger
Purchased for To Cashor Control a/c Dr. Control a/c Dr.
Specific Jobs Creditors a/c To Cost Ledger Control a/c To Cash or Creditors a/c
4, Material Creditorsa/c Dr. | Cost Ledger Creditors a/c Dr.
Returned to To Purchsases Control a/c Dr. To Stores Ledger
Supplier Return a/c To Stores Ledger Control a/c
Control a/c
5. Payment to Creditors a/c  Dr. No Entry Creditors a/c Dr.
Creditors To Bank a/c To Bank a/c
6. Issue'of Direct Work-in-Progress Ledger W.I.P. Ledger
Material to Control a/c Dr.
. No Entry Control a/c Dr.
Production To Stores Ledger
To Stores Ledger Control a/c
Control a/c
7. Issue of Factory Overhead Factory Overhead Control
Indirect Material No Entry Control a/c Dr. a/c Dr.
to Productiion To Stores Ledger To Stores Ledger
Control a/c Control a/c
8. Return of Direct Stores Ledger Stores Ledger
Materials from No Entry Control a/c Dr. Control a/c Dr.
Production to Store To W.I.P. Ledger To W.I.P. Ledger
Control a/c Control a/c
9. Return of Indirect Stores Ledger Stores Ledger
Material Control a/c Dr. Control a/c Dr.
No Entry
To Factory Overhead To Factory Overhead
Control a/c Control a/c
10. Transfer of No. Entry but in W.I.P. Ledger the Entry:
material from one | No Entry Transfer Job | a/c Dr.
job to another To Tranfer Job Il a/c
Relating to Labour:
1. Wages Paid Wages a/c Dr. Wages Control a/c Dr Wages Controla/c  Dr.
To Cash a/c To Cost Ledger To Cash a/c
Control a/c.
2. Allocation to No Entry W.I.P. Led. Cont. a/c Dr W.I.P. Led. Cont a/c Dr.
Direct wages To Wages Cont. a/c. To Wages Control a/c
3. Allocation to indirect | No Entry Factory Overh. Cont. a/c | Factory Overh. Cont. a/c
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wages as factory, Dr. Dr.
admn.. Selling and dist. Adm. Overh. Cont. a/c| Adm. Overh. Cont a/c
Overh. Dr. Dr.
S&D Overh. Cont. a/c Dr. S &D Overh. Cont. a/c Dr.
To Wages Control a/c To Wages Control a/c
Relating to Direct Expenses:
1. Direct Expenses Expensesa/c  Dr. | W.I.P. Ledg. Conta/c Dr. | W.I.P. Ledg. Cont. a/c Dr.
Incurred To or | To Cost Led. Cont. a/c To Cash or Creditor a/c
Creditors a/c
Relating to Overhead :
1. Indirect Expenses Expenses a/c  Dr. | Respective Overhead Respective Overhead
incurred or | Control a/c Dr. Control a/c Dr.
Creditors a/c To cost Led. Cont. a/c To Cash or Creditor a/c
2. Absorption of W.I.P. Led. Cont. a/c Dr. W.I.P. Led Cont. a/c Dr.
Production Overhead | No Entry To Factory Overhead To Cash or Creditor a/c
Control a/c
Finished Goods Finished Goods Cont. a/c
Cont. a/c Dr. Dr. To Adm. Overhead
To Adm. Overhead Control a/c
Control a/c
4. Absorption of S& D No Entry Cost of Sales a/c Dr. Cost of Sales a/c Dr.
Overheads To S & DControl a/c To S & D Control a/c
5. Over Absorption of Respective Overhead Respective Overhead
Overheads Control a/c Dr. Control a/c Dr.
No Entry . .
To Overhead Adj. a/c or To Overhead Adj. a/c or
Costing P.& L. a/c P.& L. a/c
6. Under Absorption of Overhead Adj. a/c or Overhead Adj. a/c or
Overheads No Entry Costing P.& La/c  Dr. P.&L.a/c Dr.
To Respective Overhead To Respective Overhead
Control a/c Control a/c
Other Transactions:
1. Finished goods Finished Goods Finished Goods
Produced Cont. a/c Dr. Cont. a/c Dr.
No Entry
To W.I.P. Ledg. To W.I.P. Ledg.
Control a/c Control a/c
2. Regsrding Cost of 1. Cost of Sales a/c 1. Cost of Sales a/c  Dr.
Goods Slod To Finished Goods To Finished Goods
No Entry Control a/c Control a/c
2. CostingP. & L.a/c Dr. |2.P.&L.a/c Dr.
To Costing P. & L. a/c To Cost of Sales a/c
3. Regarding Sales Cash or Cost Ledger Cash or Debtors a/c Dr.
Debtorsa/c  Dr. | Control a/c Dr. To Cost of Sales a/c
To Sales a/c To Costing P. & L a/c (Sales] (Sales)
4. Abnormal Wastage No Entry CostingP. & L.a/c  Dr. P.&L.a/c Dr.
To W.I.P. Ledg. Cont. a/c To W.I.P. Ledg. Cont a/c

——
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[llustration 1: Jounalise the following transactions assuming that cost and Financial transactions
are integrated:

ArTd Ud A gaeRl @1 gaiehd AFd gy Ffalad ederl &1 Sa gfaftedl S

Rs.
Raw Material purchased 2,00,000
Direct Material Issued to Production 1,50,000
Wages Paid (40% indirect) 1,20,000
Wages charged to production 84,000
Manufacturing expenses incurred 84,000
Manufacturing overhead charged to Production 92,000
Selling and Distribution costs 20,000
Finished Products (at cost) 2,00,000
Sales 2,90,000
Closing Stock Nil
Receipts from Debtors 89,000
Payment to Creditors 1,30,000
Solution:
Jorunal
Dr. Cr.
D .
ate Particulars Rs. Rs.
Store Ledger Control a/c Dr. 2,00,000
To Creditors a/c 2,00,000
(Material purchased.)
Work —in-Progress Ledger Control a/c  Dr. 1,50,000
To Store ledger Control a/c 1,50,000
(Material issued to production.)
Wages Control a/c Dr. 1,20,000
ToBank a/c 1,20,000
(Wages paid.)
Factory Overhead Control a/c Dr. 48,000
To Wages Contol a/c 48,000
(40% of wages paid being indirect charges to
overheads.)
Work-in-progress Ledger Control a/c  Dr. 84,000
To Wages Control a/c 84,000
( Direct wages charged to production.)
Factory Overhead Control a/c Dr. 84,000
To Bank a/c 84,000
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(Manufacturing overhead incurred.)

Work-in-Progress Ledger Control a/c  Dr. 92,000

To Factory Overhead Control a/c 92,000
(Manufacturing overhead charged to
production)

Selling and Distr. Overhead Control a/c Dr. 20,000
To Bank a/c 20,000
(Selling and Distyribution costs incurred.)

Finished Goods Ledger Control a/c  Dr. 2,00,000
To Work-in-progress Led. Cont. a/c 2,00,000
(Cost of Goods Finished)

Cost of Sales a/c Dr. 2,20,000
To Finished Stock Led. Cont. a/c 2,00,000
To Selling and Distr. Cont. Overh a/c 20,000

(Cost of Goods sold)

Sundry Debtors a/c Dr. 2,90,000
To Sales a/c 2,90,000
(Finished Stock sold)

Bank a/c Dr. 89,000
To Sundry Debtors a/c 89,000
(Receipts from Debtors.)

Sundry Creditors a/c Dr. 1,30,000
To Bank a/c 1,30,000
(Payment made to Creditors.)

Illustration 3 : Ravi Enterprises operates an integral system of accounting. You are required to pass
the Journal Entries for the following transactions-that took place for the year ended 30" June, 2009
(Narrations are not required)

Y TeuTEoIe Udldd ol Ugfd TR oRd Y@ § 1 30 S, 2009 ®I FHAC B drel a9
% foru ffeRaa aaert @1 o+ wfaffedt S | (faexer & snagadar &l 7 1)

Rs.
Raw material purchased ( 60% on Credit) 5,00,000
Material issued to production 4,00,000
Wages paid (70% Direct) 2,00,000
Wages charged to production 1,40,000
Factory overhead incrurred 1,00,000
Factory overhead charged to production 1,40,000
Selling and Distribution overhead incurred 50,000
Finished goods at cost 5,00,000
Sales (40% Credit) 6,50,000
Closing Stock Nil
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Receipts from Debtors 2,00,000
Payment to Creditors 2,00,000
Solution:
Jorunal
. Dr. Cr.
Date Particulars Re. Rs.
StorelLedger Control a/c Dr. 5,00,00
To Sundry Creditors a/c 3,00,000
To Bank a/c 2,00,000
Work—in-ProgressLedgerControla/c Dr. 4,00,000
To Store ledger Control a/c 4,00,000
WagesControl a/c Dr. 2,00,000
To Bank a/c 2,00,000
Work-in-progressLedgerControl a/c  Dr. 1,40,000
To Wages Control a/c 1,40,000
FactoryOverheadControl a/c Dr. 60,000
To wages Con troll a/c 60,000
FactoryOverheadControl a/c Dr 1,00,000
To Bank a/c 1,00,000
Work-in-ProgressLedgerControla/c  Dr. 1,40,000
To Factory Overhead Control a/c 1,40,000
Selling&DistributionControl a/c Dr. 50,000
To Bank a/c 50,000
FinishedStockLedgerContro a/c Dr. 5,00,000 5,00,000
To Work-in-Progress Led. Cont. a/c
Costof Sales a/c Dr. 5,50,000
To Finished Stock Ledger Control a/c 5,00,000
To Selling Dist. Overhead Control a/c 50,000
SundryDebtorsa/c Dr. 2,60,000
Bank a/c Dr. 3,90,000
To Sales a/c 6,50,000
Bank a/c Dr 2,00,000
To Sundry Debtors a/c. 2,00,000
SundryCrerditors a/c Dr 2,00,000
ToBank a/c. 2,00,000

gl (QUESTION)

1. “Define Integrated accounting?

2. What is integrated accounting? State its advantages.

(TareRrd oraids & g BT )

(TPhIRd @ FT 2?2 379 @ JaTsy |)

——
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3. Dutta Enterprises operates an integral system of Accounting. You are required to pass the
Journal Entries for the following transations that took place for the year 31.03.20009.
(Narratiions are not required)

(G SeRUTEOIS UdHlghd of@l UghT U © | 31.03.2009 B FATG B dlel ay & fofy
forforRad =aeRt & STHe gfaftedt fRTe (faaxer @ smagadar 8 8 )

Rs.
Raw material purchased ( 50% on Credit) 6,00,000
Material issued to production 4,00,000
Wages paid (50% Direct) 2,00,000
Wages charged to production 1,00,000
Factory overhead incrurred 80,000
Factory overhead charged to production 1,00,000
Selling and Distribution overhead incurred 40,000
Finished goods at cost 5,00,000
Sales (50% Credit) 7,50,000
Closing Stock Nil
Receipts from Debtors 2,00,000
Payment to Creditors 2,00,000

(C.A. Inter Nov. 1990)
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A—gHThfId @ JUdT dNrd Fa—=or o

[Non-Integral Accounts or Cost Control Accounts]

gfe fed) e # fadg sifesl @ WU—ar gRey siide Wl OR 89 & 4 Udh

R U g8 Sou=1 Bl & b 9 SHl YR & 3ifhel & @b bl BIadl W&oy U0
Sd? Ife aRTd IR fId FaeRi &l FaIhfold dx folal 9dT & 3R SF UhR & JdeRi &

foTT U & UBR B oRIT YIB! BT SUANT BT & O 59 A &I FHblerd okar Al (Integral

Accounting System) ®&d g1 s9@ fawRid afe ama iR foifio 8RRl & o eda @ forg
UIH—YUH J&ID @ Il § a1 39 IR—AASferd o fafy wed 21 39 fafYy & sria |
gfafe &1 @ e @ i ara e @l o W fear o &1 gafe g9 anrd
fore=or o fafer ) aec 2|

IN—aguarefed d@t @ falreane

(Characteristics of Non-integral Accounts)

IR—garRferd ordl & fa=forRag faRya ars o 2

1.

2.

9 fafyr & srfd orrd SR fada w@rar & @ies & foly Jaa—gos @rar afgal el
ST 2 |

STRTT oIRGTUTT TTd oIl I oIl hedl & 3R I oeamaTel fadia ol &7 oikgTdh
BT B |

3. QT & YR B Gl H v UfAfte Jorell & MR R i@ fHar S 2 |

FRHIT WA dadl I qeddl H @l 9 2, URegy Yl # 8! | uRegy gl 4
QT Ufdfte qui ke & fofg AR @ar 981 W9 @i (General Ledger Adjustment
Account) 3feTaT HTHTNI WTAT d8l MI=vT W1 (General Ledger Control Account) aTel
ST & |

. IR <@l &1 QT Ufdffe Sad e ¥ @NTd ol 98! (Cost Ledger) § & QU &

fear <rar &1 o 9fRdt dae TRumel (Memorandum) Bl ® 3R S99 forg T arag Ry
P e T T oikgr 981 § Maege =T @ @idl forv 9 2

HB FIER W g1l 8 e ot uRey qraet § € fear sirar 8, fade geaet #§ 79
SN — 9USR g ¥ ol SUBr R AT BT T | U 2d8Ri BT ARG FaesT el
ST & | 37! URME oRgT TRUM gl H R SIar & iR g1 qex] of@l dnid
wrar 987 # acgee) frg=or @rdi @ gerrdr 3 fear Sidar 2

e & JedTdh- BT R W aRe ol IR fOdf ol % gue—qrd 81 G 3| 1
UHR SURSTAT BT raenyur Y uRET oGl & ofid aR<idd Wdl W HH (Under-
absorption) 31dT 21f&fH (Over-absorption) & FHAT & | 3 Hd HRON H AR @l g
IR T I 9T fAd @ gRT 99 T ot H 3R SR IR s9d folv g
faaroT (Reconciliation Statement) S99 &1 ATIHAT BT STIAY |

IR—gHrierd okar Ay & s fada gxael d T wRome Wrar @il Sdar & o

ANTT QT 981 =1 WA (Cost Ledger Control Account) ®8d & | I8 W@rar fad

qRTepl H T ol §81 1 Yfdf+ifeed &ra & |
(
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9. TN oI\l 98 ¥ QT ol YUl &’ & oy U ARIRRhd @il @iar oar 8 o
A ETAT 9o GHEe  (rraT 0T) @rar iUid General Ledger Adjustment (or
Control) Account 84 | I8 &M B & Mg o€l § 5y 99 arel o=iRe agags)
Haedl oRal T 9 WA W Y9 8] gedl & | I8 W@l 90 gRIel 9 @il S drel!
HHE @IAT 981 (General Ledger) T T q¥ddi H UM &_am & | o 59 asR
@1 gfafie fadfia g&el T drTd Yddl, a1 H 81 @127 I8 FdeRi dI Cost Ledger
Control Account & AT ¥ faciig geaal # foram ST 2 3R General Ledger Adjustment
Account & HETH H NI i@l J&idl H foram S & |

10.9Rfe ufafedi & forv omra oRal # uRa SI9ial (Cost Journal) @@ o or@ar & fadi
STHet (Financial Journal) @Tell I B 1 99al § gfaftedi S fafr & @) ol @ o fafer &
e eraie # srgae far 51 gar 2|

IR—aurafad d@l & svia fadia geasl o o
(Accounting Entries in Financial Books under Non-Integral Accounting System)
ol wrar 9fedlt ugw w9 | fefafed 8 &

1. TSR WAl 981 (Debtor’s Ledger)

2. JFER @Ml 981 (Creditor’s Ledger)

3. WM @il 981 (General Ledger)

IhTd @ dadl fad qddl H Wil Skt 8l IR—FATROId @l @ =aiid 9

QRID] H oGl HRA D U1 B IIEROI gRT A FHSS S & 2 |
YaIRavl 1 : Raw Material purchases Rs. 10,000 on Credit
I fadi gl # g9a] Sie ufdfte frfoRad grf:
Purchases a/c Dr. Rs. 10,000
To Creditors a/c Rs. 10,000

(Being Credit Purchases.)

9 FAER P oRIT AN oldl GxIdl H W 8N 3R AN oRdl 981 &1 gfafiea fada
YIhT § Cost Ledger Control Account BRAT & | 3T IR—FHTRIGTT i@l & 3l A o+l
¥ 39 Fder &1 gfafte A gnf:

Purchases a/c Dr. Rs. 10,000

Cost Ledger Control-a/c Dr. (Memorandum)
To Creditorsa/c Rs. 10,000

(Being Credit Purchases.)

Ig ey axdl & & 59 Jaer @) ufaftcy Wefdd @ & amrg o 981 § ff Sfae v «)
AR

SQIN8Yl 2 : Paid cash to creditors Rs. 10,000

9 FAER B oGl AN @l YD H T8l B 7, o fad gRadl § gHd!
Iy gfafte € @ S

Creditors a/c Dr. Rs. 10,000




To Cash a/c Rs. 10,000
(Payment made.)

¥qIREYl 3 : Materials issued to Production Department Rs. 5,000

I RS FdeR g fras) ufafe dad oTd orgi & iy 21 ora: fadg o &
sAP! Pl gfafe T2} B8Rl |

SqIN8Yl 4 : Wages paid Rs. 10,000

9 FaER & yfafte fad den o <M1 gRael | gnft | fade el J s
gfafe 59 geR 2rf:

Wages a/c Dr. Rs. 10,000

Cost Ledger Control a/c Dr.(Memorandum)

To Cash a/c Rs. 10,000
(Wages paid.)

¥qREYl 5 : Miscellaneous Indirect Expenses paid Rs. 2,000.

9 FIER @1 UfAfte ff arra den facdfig <M gl § 'rh | o fad gwael |
sHa yfdfte g9 UdbR B

Miscellaneors Expenses Dr. Rs.2,000
Cost Ledger Control a/c Dr.(Memorandum)
To Cash a/c Rs. 2,000

(Miscellaneous Expenses paid.)

IR—aHTaferd dEl & IA=<Fid dRTd o sl d o
(Accounting Entries in Costing Books under Non-Integral Accounting System)

1. 9= Y&da : aNTd T 981 (Cost Ledger):

AN oRdl & Hae W dhad Ud & 9a9 AsdyYl JRId Bl O dNd @rr g8
(Cost Ledger) @ed 2| 3 Ixdd # WFRd aeRl @ arewr ufafe gof & omeft 2
I | g&Id WRomef B B | U ISP YRIb & ey H el o ufafie gof
IR & foIg ATTa orET 98 H qYS—qIE E=v @ @l 9 2 |

2. 9qgE ¥R} g¥da (Main Memorandum Books):
AN ofdl & Hag ¥ UHE SR g FEfeiRad &

|. |l @rar 991 (Store Ledger): 39 §Wid H YUSR Y8 I UH AU B

Ha9g H UP JUd Gl @il Sl 8 9l WUSR T[E H o9 UTd Bkl ® al $9
6 ¥ 6T AT @ @ B Sfde aR eI S1dar 71 39 @dER & dey H
AR e § fEfeled ufafe &1 S &

Stores Ledger Control a/c Dr.

To General Ledger Adjustment a/c

(Being Purchse of Stores)
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I M @ ANTG @rar 981 (Cost Ledger) # el 81 © | Store Ledger Control

a/c It @rar 981 &1 ufafeeT #Rar ® iR General Ledger Adjustment a/c
O g&el § @il S arell W @l 981 1 URE dRal § | 96s iR
SYR ST YR & $HI P day & Ig gfafte gl |

ll. frforefi At @mar 91 (Work-in-Progress Ledger): 39 g&® 4 Ud®
Sifg (Job) s Iusrl & Hag H U YAE @IAT Wil Sl & | I8 Wl FRone
qWId Bl B S ad ofdl @ Wy H R agRi &1 or g6l ' 9
IR TdERl BT AN & 3T 2] I FdeR 3R o6 ddel & of@l §9 TR
BIT:

a) WUSR I[E ¥ Gild W Ad HoH U

gad forw Work-in-Progress Ledger # &fda Sife &1 @rar sfde 8rm iR
Stores Ledger # Waferd ARl &1 @TaT Hfee SNIT| AT ATl AT F UgA
IJg 9ArT ST gl @ b Store Ledger # ARl & @i ¥l & ‘T’ Shape #
B W 9§ sfed T fAaRor (Statement) © ©9 H I O ® | 39H AT
& Hdg H A9 UgE dfeM B o Wi (Receipt), FREA (Issue) iR 2
(Balance) | wiftd &1 e Sfde Al &I AT AT &1 BiaH Hfse #al &f
The Rl 2 |

39 ISR BT AN SHdl H QIesl o9l ufdfte 39 YBR s
Work-in-Progress Ledger Control a/c. Dr.
To Stores Ledger Control a/c

(Being the issue of materials to jobs.)
b) fel Wit @ fav W faflree @Rl @l -

AERITIT 519 AT A RIS O 7 98 Ugel YUSR 8 H 37 AU SR F8l | S
Sifg wR ffae 8 =Ry |

9 Ufthar 7 o<l Ao & wa B | o dii—at faury uRRerat # fody drmft &t
ERIE B A B . W 99T feIr Siar g1 U Rerfa # Store Ledger # ®18 wfafte w8
g oIfd Work-in-Progress Ledger % Job a/c # Sfic ueg w ufafie srava &Ffi| 59

9rd &1 wise vl Creditors a/c fadfa gl # 2 1 Cost Journal # @@ ared
ufafte 59 yaR B

Work-in-Progress Ledger Control a/c  Dr.
To General Ledger Adjustment a/c
(Being special purchases.)
c) fod oifs @ fog g fafllee v @ ¥es wr -

HOIGRT BT A B W AT geasdr § &1 9 arell uffafte a#ens om gt § 39
g W AN WAl 981 H Ud Auiqyl aed @ (Wages Control Account)
QI ST 2 3R HoIgy! T YIae &R+ R Ffoiad Se gfafte @ i e

Wages Control a/c Dr.
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To General Ledger Adjustment a/c

(Being payment of wages.)
g Sifd & fou Aol g@e 15 8 9@ 9T @i Work-in-Progress

Ledger % Sfdec &R fSam S| @FG o@l § 3@ oMd Ufdfte 39 UBR
IKIIE

Work-in-Progress Ledger Control a/c Dr.

To Wages Control a/c

(Being the amount transferred to concerned jobs.)

9 UHR Wages Control a/c g & ST |

d) Sifg @1 IuRer™ (Overhead) =S &R IR $HGT AT 9uiF AN fohar 137 2 |

1)
2)
3)
4)
5)
6)

. fafifa wra @mar 9 (Finished Stock Ledger): Y@ Sifg ST got &1 SITar &

T gD Icdre forael T qul 81 S & WP Hee H i@ Finished
Stock Ledger # @ Sirar g AR At WG A1 9991 UH IR S
UfshdT & | 31d: SAHI ol Wl Sl ANTd ofEl geddi H & '8rm | fmivRiE A
| A AT 81 I 81 ST R 31erar R ST Sitd @ gof 81 oM W Work-in-
Progress Ledger H§ WdafSId ATl @IAT IT Sifd @Il Hfee HR QAT ST @R
Finished Stock Ledger ¥ Sdfeld ATl Wrgr-AT Sifd Wil sfde &x fadm SIraem |
AT SHe # ufafe 39 yeR Erl:

Finished Stock Ledger Control a/c Dr.

To Wages —in-Progress Ledger Control a/c

(Being transfer of finished goods.)
Y ST @i Cost Ledger d Yol X&d & ST81 $7H WAl Hx & el |

[llustration 1: The following transactions took place in the month of January,
2009, in Hari Ltd:

(8R ferfics H STa%), 2000 # FrforRad gaeR gu):

Materials purchased on Credit Rs. 9,000 and for cash Rs. 2,000
Goods purchased on credit for special jobs Rs. 500

Goods returned to suppliers Rs. 1,000.

Materials issued to productction Rs. 5,000

Materials returned from production to stores Rs. 500
Materials transferred from Job No. 101 to Job No. 105 Rs. 100.

Passjournal entries in cost and financial books under non-integral accounting system.

I FATD T okl fafd & =i oI SiR e o gRiapl 3 Sieier ufaftedl STy |
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Solution:

Financial Books

(1)

(2)

(3)

Purchases a/c Dr.

Cost Ledger Control a/c Dr. (Memorandum)

To Creditors a/c

To Cash a/c

(Being credit purchases Rs. 9,000 and Cash
Purchases Rs. 2,000.)

Purchases a/c Dr.

Cost Ledger Control a/c Dr.(Memorandum)
To Creditors a/c

(Being purchase for special jobs.)

Creditors a/c Dr.

To purchases Returns

To Cost Ledger Control a/c(Memorandum)
(Being goods returned to suppliers.)

Rs.
11,000

500

1,000

Rs.
9,000
2,000

500

1,000

FAER FRT 4, 5 9 6 I [Id G&@I § Hg vfafie 78 erfl ®IfF I F9 MRS

AR | §IhT oIl Hael AN oIl YD § &1 8N |

Cost Books

(1)

(2)

(3)

(4)

(5)

(6)

Stores Ledger Control a/c Dr.
To General Ledger Adjustment a/c
(Being Credit and cash purchases )

Work-in-progress Ledger Control a/c Dr.
To General Ledger Adjustment a/c
(Being purchases for Special jobs.)

General Ledger Adjustment a/c Dr.
To Stores Ledger Controla/c
(Being purchases returns-to suppliers.)

Work-in-Progress Ledger Control a/c Dr.
To Stores Ledger Control a/c
(Being issue of materials to production.)

Stores Ledger Control a/c Dr.
To Work-in-Progress Ledger Control a/c
(Being return of materil from production to stores.)

Job-No. 105 a/c Dr.

To Job No. 101 a/c
(Being transfer of material from Job No.101 to Job No.
105)

Rs.
11,000

500

1,000

5,000

500

100

Rs.
11,000

500

1,000

5,000

500

100

feoof: Sf9 d@m 101 | 105 B REFARD Al B gfafie daa Work-in-
Progress Ledger # &I rfl, Cost Ledger # 2! &Rl @ifd T @ I8 sfde

3R mfse BT T |
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lllustration 4 : From the following information, make entries in the cost journal. (Fr=ferRad

AR AN STl | gfaftedl STy |):

Purchases Rs. 3,90,000: Carriage Inwards Rs. 5,850; Stores issued Rs. 3,58,800, Productive Wages; Rs.
3,46,320; Works oncost Rs. 3,48,400; Unproductive Laour Rs. 1,21,680! Nateruaks ysed ub
repairs Rs. 3,120. Cost of completed jobs Rs. 12,80630.

Cost Jornal

Stores Ledger Control a/c Dr. Rs. Rs.
To General Ledger Control a/c 3,90,000 3,90,000
(Being purchases of raw material )

Stores Ledger Control a/c Dr. 5,850
To General Ledger Control a/c 5,850
(Being Carriage inwards paid)

Work-in-progress Ledger Control a/c Dr. 3,58,800

To General Ledger Control a/c 3,58,800

(Being issue of stores to production.)

Wages Control a/c Dr. 3,46,3200
To General Ledger Control a/c 3,46,3200

(Being productive wages)

Work-in-progress Ledger Control a/c Dr. 3,46,3200

To General Ledger Control a/c 3,46,3200

(Being productive wages allocated.)

Works Overhead a/c Dr. 3,48,400
To General Ledger Control a/c 3,48,400
(Being work on cost incurred.)

Works Overhead a/c Dr. 1,121,680 1,121,680
To General Ledger Control a/c

(Being unproductive labour-incurred.)

Works Overhead a/c Dr. 3,120
To Stores Ledger Control a/c 3,120
(Being materials used in repairs.)
Finished Stock Ledger Control a/c Dr. 12,80,63
To Work-in-Progress Ledger Control a/c 12,80,63

(Being cost of completed jobs transferred.)

gl=a (QUESTION)
1.- What is integral accounting system ?

( FHTRfora o fafdy fry wed 2 ?)

2. Make necessary journal entries from the following particulars under the cost ledger
system:
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(ATTd @Tar 981 Ugfd @ raid AfeRad fdavoll & forg emavas SHa ufaftedt

Qfr)

Purchase of materials 60,000
Materials issued to production 30,000
Indirect material used 6,000
Materials returned from productin 1,200
Materials transferred form Job X to Job Y 160
Gross wages paid 24,000
Direct wages paid 19,500
Indirect wages 4,500
Indirect production expenses incurred 18,000
Production overheads absorbed 27,000
Sales expenses incurred 7,500
Cost of finished goods 60,000
Goods sold (including profit 25% on cost) 65,000
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ofTd ol &1 fadig el 9 e

[Reconciliation of Cost and Financial Accounts]

@oed 9 3Ib & HE § & T o UPIhd ol Ugfd WX Y O ¥, 98 ARG ol U
e orar 3ot 9 FEl X W, o1d: AN @ FHEIT S el Bl | R TRl ol o]
ud el ol Sl el | RW W 8, g8f i@l Pl AR AeH 8l SNl 2 |

ord @@l uqd fadia dwn grr geflfa ol §—s=av & dIRor

(Reasons for difference in profits discloses by financial accounts

and cost accounts):

1.

2.
3.

7.

ggel Al § oY (Difference in direct expenses)

SuRei & ar=ixX (Difference in overheads):

Clh HedTha & ARIRI H 37 Difference in bases of sotck valuation):

(i) wear A1t (ii) T =7 (iii) o ¥ =71

HJod—8™ o faf¥=1 MR # or<R (Difference due to different bases of calculating
depreciation):

AT BIAT (Abnormal losses):

Pad o ol § afefara &1 S arell 9< (Items included in financial accounts
only)

() =g @1 w1 (i) ema &1 7 (i) o e @ A
dad T ol | Affaferd A (Items included in cost accounts Only):

Jurear faavor 11 @ Sl

(Objects of preparing Reconciliation Statement):
waTET faaver g9 @ S:la ffafaa @

1. AN oIl $Y gedl B S

2. SuRHl & AATARINTY] 3faT IAIIYNTOT BT S BT
3. IR & BRI BT A:

4. 3T=IR® fra=or F gfaen

[llustration: 1 The net profit of Ram Ltd. Appeared at Rs. 81,000 as per the financial records for
the year ended 3o™ June, 2009. The cost books nowever, showed a net profit of Rs. 3,55,000 for
the same period. A scrutiny of the figures from both sets of the accounts revealed the following

facts:

(30 5[, 2009 BN FAT B dTel ¥ & forg M foafics &1 fodfg oRkal & MR R o™
81,000 %. | I A BT AN oWl & ABR W ¥ 3,35000 B, AT TFI oA@T J&KIDI B
Sitg § freferRad dea =i gu):
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Depreciation recovered in cost accounts 2,25,000
Depreciation charged in financial accounts 3,00,000

Overheads recovered in cost Accounts:

Factory Expenses 10,00,000
Administrative Expenses 6,00,000
Selling and Distribution Expenses 2,30,000

Overheads Charged in finiancial accounts:

Factory Expenses 11,00,000

Administrative Expenses 6,00,000

Selling and Distribution Expenses 2,00,000
Income tax provided in Financial Accounts 1,25,000
Donations 20,000
Dividends received 15,000
Fee charged on transfer of shares 1,000

Prepare a statement showing the reconciliation of profit between cost accounts and
financial accounts.

(ARTT <@l iR A ol & arl &1 FHe - fS@d 8¢ Ush f9aRoT U 9918y |)

Solution: Reconciliation Statement as at.30'" June, 2009

Profit as per Cost accounts Rs. Rs.
Add: (i) Selling and distribution Exp. Over 3,35,000
recovered in cost accounts 30,000

(ii) Dividends received but not included in cost accounts 15,000
(iii) Fee charged on transfer of shares not

included in cost accounts 1,000 46,000
Less: (i) Depreciation under-recovered in cost
accounts 75,000 4,01,000
(ii) Factory expenses-under-recovered in
cost accounts 1,00,000 3,20,000
(iii) Income tax not'charged in cost accounts 1,25,000
(iv) Donations not charged in cost accounts 20,000
Profit as perFinancial Accounts 81,000

feaqofy : T oral # IR fadia ol H w9 @1 ufdfe |9E i 9 g8 B o
SAGT G faavor & aftafad & fear Tar 2

ol gHreT= wrdar

(Memorandum Reconciliation Account):
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T ol vd Ol ol gRT usRid M &1 el SR g SR fdeRer uF & e
TR ERUMY FHR @7 I9-T Sl Fddl © dfd 396 Wwd G & A ©, offd 3ddb] &l
QIE™T ol RIga WR menRd =81 8, of: 39 RO WHEE Wi & AW | SIHT ST © |

39d 994 &1 fe=felRad ufhar 2

(i) SaUeM oFd oRd §RT USRI Ml &1 JER AFd gY $° 39 WK & Hiec U8 W
fagrT =nfav |

(i) U 0 A< 9d SR AR A BT o H A a™ 96 80 © IR e e
T ™ faaRer o5 § MR A (@I d™) # SISt STaT 8, S 94 Jal Bl 3 @ b
wfsc uer # fe@mr =nfav |

(iii) A N w2l 3 e SR AR Ml @ go J fad o™ ge gu o' dur el
FHRIE AT ™ fJavor o # MR o™ (AFTd o) H 9 geiT Sl 8, S9 941 Ja1 &l
39 O & sfde g iR e @y |

(iv) @& & I 9ell &1 AN o oF T 91fey GFi Uell &1 SR fadia oRkal gRT oIt U
BT |

39 YR FERIE fdavor § 97 72 o A4 SiS! Wkl ©, d YR WHRE Wi b Bise
Te] IR fexgrs oIl ® 9o U A3 S g fqaRer | "ers ol @ 9 SR qH |9 B
Sfee et W fewrE 9 21

Rs. Rs.

To Items of expenses under
recovred in cost books

By Profit as per cost books
By Over-recovery of

To Items of expenses

Recorded in financial

Books but not in cost books

To Abnormal losses

To Over-valuation of closing
Stock in cost accounts

To Under-valuation of
Opening stock in cost
accounts

To profit as per financial
books

Expenses in cost books

By Items of income
Recorded in financial
Books but not in cost books
By over valuation of opening stock
in cost books
By Items of expenses

Recorded in cost books

But not in financial books
By under Valuation of closing
stock in cost accounts

lllustration 2: Prepare Memorandum Reconciliation Account on the basis of the following
information obtained for the books of a manufacturing unit for the year 2008-09

(T IS Sblg @ a9 2008—09 P Y&l H UK {71 Fomeil & AR TR FROM FHEE

LCIGICRIER)E

1  Profit as per cost records-estimted 3,44,800
2  Profit as per financial books actual 2,57510
3+ Works overhead under-absorbed in cost accounts 6,240

4  Administrative overhead recovered less in cost accounts 5,000

(
{
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5 Selling overhead recovered less in cost accounts 1,600
6 Depreciation absorbed in cost accounts 25,000
7  Depreciation charged in financial books 22,400
8 Loss due to obsolescence charged in financial books 11,400
9 Interest on Investments not included in cost accounts 16,000
10 Income tax provided in financial books 80,600
11 Bank interest and transfer fees accounted in financial books only 1,500
12 Stores adjustment credited in financial books only 950
13 Loss due to depreciation in stock values
Accounted for in financial books only 13,500
Solution: Memorandum Reconciliation Account
Rs. Rs.
To Works overhead under By Profit as.per cost records
absorbed in cost a/cs 6,240 (estimated) 3,44,800
To Selling overhead recovered By Administrative overhead over
less in cost a/cs 1,600 absorbed in cost a/cs 5,000
To Loss due to obsolescence By Depreciation over absorbed
charged in financial books 11,400 in cost a/cs Rs. (25,000-
22,400 2,600
To Income Tax provided in By Interest on investment
financial books 80,600 recorded in financial accounts
but not in cost a/cs 16,000
To To loss due to depreciation in By Bank interest and transfer fee
stock values recovered in accounted for in financial
financial books 13,500 books 1,500
To Profit as per financial books By Stores adjustment credited in
2,57,510 financial books 950
3,70,850 3,70,850

gl (QUESTION)

1. Explain two reasons for difference in profits as per cost books and financial books.

(. aTa el ud fad oral gRT YRR Ml H IR @ &I U

PRI IdATSY ?)

2. From the following figures, prepare a Reconciliation Statement:

(fFrafaRaa sfer 9 e axmE fJaRforeT g9r8v):

Net Profit as per financial records

(

{

]

Rs.
1,28,755
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Net Profit as per costing records 1,72,400

Works overheads under-recovered in costing 3,120
Administrative overhead recovered in excess in costing 1,700
Depreciation Charged in financial records 11,200
Depreciation recovered in costing 12,500
Interest received but not included in costing 8,000
Obsolescence loss charged in financial records 5,700
Income tax provided in financial books 40,300
Bank interest credited in financial books 750
Stores adjustment (credited in financial books) 475
Depreciation of stock values charged in financial books 6,750

fopar uv 3meEnRa onTd d@ie &1 3ref

(Meaning of Activity Based Costing)

fopar SR ATd olRgih | AU JfUIE AN Bl A= ST e FERAl WR T g
JIRRIT &1 FIATT JAdT SEH § FH~ AT Dol R a6l HRAT 2 | 39 YR fhar smenlRa arra
G- & I IYUH YL AN Bl A= HeT W I B TS AR AT P ST B
TUAT IR (3UcTeT orTa) @l fAfT Aql R & 31 73 IRMET &7 3d S8R R W
faf=r fopaie & sfed fhar <A 21 9 ¥ AP fohaT &) aRTd &1 S ScUTQT 10T AT Heal
R It fpar odr & e forr agwfad fhar I/= &7 9l 81 39 YR fhar smenRd ofid
TRITh-T SURIIAT Bl IS AT AT D=l WX Tel—As! aTSl B DI Hal Sl ¢ |

grcs sRecyge Afep. AdoHe sl dw<d o 9 Ay & amwe fhien

ISTEROM MY T IATYAT B b JMYIRd B I YT oIl & IR TR T ShIsdT R
T AT B Y Tblh d wd § GRIMT fhar 2|

AT & ITAR, TR T VAl Ugfd & ST fhameil &R Jed anTd avgell & w4 H &M
Bivad BT & T 3 bR &1 NG Bl i g9 AT 3 AN a3l DI ATl Dbl
TP PR B BT H GANT PR 2 |

fepar SIEmRa oTd i ®1 Aell—wifd wHse & ford b SR o oemed &
T ugad 89 arel e vt 9 oRfd 8 enaveds ©

(i) omTd oleg

EsRICERSIEE]

(iii) AT dTceAd 31T AT Bidb+] aTed]
(iv) A T ATeld

(v) fear / wrfcrfater
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(vi)
(vii)
(viii)

(i)

(i)

(iii)
(iv)

(v)

(vi)

(vii)

(viii)

AT 8
ERIRINGRCIRED
ERIRSINGRCIGE

AN &g : AIRTd olgd 1A T dvg 0 drcdd foeddt fafdre Seure Jar favmr
T IUSRVT fohaT SUBR ey ugla ufshar anfe & & RTaa] |a Rt sfra
Gfel SITTe ST e ] oed BIial © |

GHEE AN - AN B UAd AG bl HARE Ud I9 A8 R FY g IR DI
AN HEd © | WAl | dead A= yeR o aEiEl A= geedn o angdr
qrel AR #T9 g9 AT IR YH1el JRAAd (HRiAT fe &g @l qawd 9.
fSTTepT ATavTRIch R §RT SN fhar STl & |

ST Tl 31T THTd g+ dTell : oTNTd Aol o dIdd oIRTd ) g4Tfad he-
P for IaReER HN$ 3fa] BRI BidT © |

G AN ATedd . TR G Bl ARG Bl YHERT R b ol IaRar)
RS B IH AERH BT FAEA AN ATd Hed & | Iae & ford fagad W
Y I AR & o) IR BRUT 9od TJFaATge Mg [ Iudrvr & fhetiare
31eraT fperere sreraT freare e B 2|

frar ,/ wfafafer - Qe aaafie e 7 Scnfad &M dTell aegell 3ferar Jarsil
@ G 9 Sl R BT B © S BRI & YRV GO g8 Ugdd A
faftre wfafafy @1 frar w'ad 21 SN O1g SUW A SAfed axgell & fom
fesmafi, sfem #eifr dfesy BARET difalRe UfeT onfe ggre—que wu 4
UEAr S drell foham 81 Hahdl © | 39l UBR YIS UBHRM HFaER H olEd
SUINHT gHfeT TIfed dIR &A1 fUfeT asfOs anfe fhaig gos wu o
UEA] ST Hehell & |

AR HgE - fAf= AEeEl Ry’ g8 IR Bl HERA AR dreh] & AR
R A= fharell | FRfd R R GRS fha1 IR [T gg A= S o
3T ANTAT @ AT BT AN AHE BT Il 2 |

fopar amTa areTs - AfY= AIRTT BT J1dT AIRTd el gRT fhdl fohar @Y | &
A9 Bl 9 fhaT S AT aTid Hel Sl 2 | 59 YbR Uh oigl Ifaf Ycdd
fhaT B THRT ARTT AR BT AT AT AT bl §RT bl s HET BT AN
FrfRrd fham &1 g @Teid 8IdT 2 |

fhaT NTd ATt &% IS haT &1 AN FHE DI AN el AT AR deal
W AN AT YIS [HAT B ARG Add &R BT URGAT [HAT S 2|
URERTTG SURGY JGeNYT & FaE 8 I8 &% Al SuRegy @eiyor &% HEl Sff
AHA B

fopar wx smaRa o d@iee @ falrerany

1. 39 A ¥ SURSY ANTA! &1 Uid o)A & oY Ugad dNTd el &1 Gl
¥ gfg B I 2| SRl @ W aNTd ardd fhanet iRk ot 21 g9
UHR Uhdl HHA & IITAR AHE 3@l 9T G9gl 4 IuRST ARTdl &l
THT B & M R AR fharell & iR Tafyd @ ot 2

2. I UHET M GINTd 3feqal Yoyl ©el 37T HefE ©el W SEIRG UHhey &) &
WM W ARG e fharll & U H IURSI AFTal &l A= Susrl o

IR U ATl hYal 2 |
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3. A9 YR ARTAT HT U2l d2d &l Sildl & oD helemt ga & forg
ghTs INTd i 3MfeIh HE UId e ¢ |

4. PN © SR AFTT &1 UgdaE dl S9d BRI ITB AT IS BT 7 dad
3IfF FE ARTT @ 0T HRA H WS B 2, 3G Aed # gfg T R aren
fopareil @ wara ff HR T B eI H g T B ATl foranel @ FAra @
IR Id 2| ed H gfg T B arell fhamel & wWifd ¥ AR B AN HH
B T B | I8 IRdd ¥ fhar orra o fafdr &1 9 2

SATGHAT BT 3ref
(Meaning of Productivity):

IATEHAT 3Tl b IMolfad A9 a8 a9hx I8 T © | §B AN B 3fe 7 Iaaradhdl
UgEh g HAADl © d Ud Ioide W 8| &l Wild U9 4ed gl HIave 8 I8 W Uh
gt vy 21 & Al ISURHAT B 30 TS § ARAT HAT 21 3 db IAGHdT DI
PIg AGIH IRINT T8 e 9E ' T & fedl Wit dee @1 faer 8 urn g R
IATEHAT BT ol ©T H 7Y fHIT S I | AT ®U H SAGHar o1 3 s1fie Sdredar |
forr ST 8| Ry SUTRHAT BT I8 A SARHAl & IR H GHad gedo b1 IRaTd 2 |
ITd /ST ST S SATed & 3 AaeIh Al § I ffd. Teh 9 919 8 O daRdfds
Sia & TR W 3Ttd URuey § 81 X S ghdl | 5l fie & Sded & o fHoiae arm
2 J81 e B IUEHAT & JHR TR IATGHA] BT HYT IR Serdl ol Ihdl & | aRdd ¥
S BH SUCIHAT @ Bl HYANT PR & A 89 IE S dred & [ qrnfl s/ Yol gy a1
3O UPR & BT 3 I & AR ¥ SdTed HRA B &HaT b I I A g d1erar
SUH SIS B P el feg A do rdfifed 2

Hol 3feraT FHU IATahdT ¢ (Total or-Overall Productivity) Het 3feraT F#ul IcdTadhdl o
AT BCTh] &1 SUTCHAT ¥ © | G0 Tch] &1 ISATGhdT BT A0+ JefY Uedhd WRdl 2 ud+g
UE 9 /L H (AN B Fhdl © (b (P GCh B GRIGIAAR G TCh DI ARG Bl
THRAIRTT B <l & | TRUTERGST Ua=dh. grRdfde Refa ¥ gRfra &) 81 urdr 21 39 I8 o4 &)
TE B Uil ® fF PH-dF A gch ST gfg F FEART ) W T 997 W B F gTH 2
e Sareandr § Afigfy Fomerd W& 7| o UT MEYId & fF arafas Refy @ SHeR)
2] YD TTH B SATGHAT PJ AU TeT—3Tel T fhar S |

gedh SdlEdhdal . (Factor Productivity): SA® 3Id UAH Sk @I SUTGHAT Bl
JICNT—3TTT AT fHaT ST 8 | O IUTGHAT & AU9 Udh Hicd BRI & Hifd aRdfdd w9 |
U Hch Pl IUGHA] Ok UCh Bl Iaadhdl I gaIfad g 491 981 8 |l | ITeRume
AT B IERHAT H FH 3D SRV F B Ghdl &, O AFEN &1 VY0l awerl F=I9 qy
GRS Y= 3|

STEH, SWTahAl dAT AT&™IddT (Production, Productivity and Profitability): S<ate afir
SATEHAT B TART N3N 3rff 7 fhar ST a1fgu | fodl e § SdeT ged &1 I8 3ef
T8I {5 g8l IRHAT W1 9¢ | IATEH d&+ & daule Sqedhdl ReR I8 Fahdl o |

ATIERIGAT 3Md =Rl BT Afdferd IR Bl & S Sod SAedhdl & HRY 96 Tl 2 |
AMERIGA 7 gfg IUEHAT H Jhg & PROT & g8 8l VAT AP 78l © olibd Scarsadhdl d
glg 3T ARG deKT € |

IATEhdl H199 | 7 dTell BhicAsaTn:
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1. IR BT M : IATadhdT A0 & foy fwer A1 Ay &1 g1 &ai 9 fear o 39 e
¥ A9 Afdd reT YUl G U 9 89 B HR Bl 2 |

2. FTa @ #1091 4 STl : A9A &1 gfe 9 oM IR FRid & #1099 9 3 HiSrsal ardl
2| TP AelehR | 31qar §F1 vordl & ffq &1 Ae &9 fosar o | awg fmfor &
AT 3F®  UHR & Udb o dod Ald Ud el &1 IuanT fhar Siar g1 U &l
JHR & AT G AR &1 9N R 3Fd JHR & Ide IR [Hd S Fa6d 2 |

SATETHAT 99 & 339 (Objects of Productivity Measurement):

IATCHAT A0 BT Iq2T IUGT DI IR WR UK I & AF—A &I DI FHS T
ST HRAT & | 390 foly I8 3Mawdd ¢ fo o &1 fAaerh yamr fear S| faer @ faaerh
AT far SR | e & e ST @ oy yeeed Srigeerdr deT Jiavad 7 | A
@ IUINT S HRIAAT a_adl STRAT Yaeeres I & Al Icaradhdl UTd R o Fhel Bl |

Cblchggloidl + YHIAIUTQhdl = SHTqhd]

fofi wverm # f91 SAcdar @ &R (Causes of Low. Productivity in an
Organisation)

1. WRAT & HHAIRAT BT 14 FFTa qAT AR BT HHY |

2. TEIT MERY 7 G & | AT BT FEANT Tl forar ST

3. YA ¥ fage™l &1 Hal ¥9g R fIgelvor FE1 far SEr o fdued @ ) R b
UM BT A A 8T |

gEel g8 dPbIIdl DI TANT 7 a1 S|

TS TRAT H HHATRAT BT AT BISH ST JUT HHATRAT BT AR & |

T § YT AT TOTeAl BT <I9gol 84T |

AT H MY UG IS AR BT HHI |

N o ok

A= falldzror
(Value Analysis)

q1 fagetvor v U1 RIS vemTe e @ e sraiia sFe Surdl gRT avg I
AR H BHI B BT TN fBa1 Siar 2 a1 9%g @ ot 7 91 gfg iy awg & o0 # gfg
B TN D] b H IR B1-9a fbar SIam & | fgefiy fava gg & a9y dgad sy JARD]
& AR S fed 7 §dYeH 39 ddbAid B SUANT 3ME IR b IR b (oY MaeIH
I3 P WM W I fddheul B TARTN Vg I3l & WL H A[egd GRac R b folg
fpar S 9% & Sl vy IO Bl BIIH A Y SAD! UG AN H HHI TR Bl
HPH! AR AU T 3D FRAT P I9ed odrd 7 941 gfg B3 g 9 o 7 gfg |@wa 81
FH! | A9 [Ieeyor Uss HIf3d YA © Sl FTEaedd ANl 6T Ifd S BRIl & |

q & gRHTIIm

el ff G & A BT IHD! B UsT oAl e I AT SRl § st T & | a%g
@ A BT IFDT STARIAT G ARG & AT & wU F IRINT fam S et 2|

serfd A9 (Value)= Suaifirar(worth)

orrd (Cost)

¥ @I SYIIRET g1 9l W) AHR el =:
1, 9] ¥ °® T bR U
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o=

o=

—_

q&] P! g9aC I fa@rae ¥ FRid U deroT Sl fb IuHiad 9 a%] H drsdl § IR e
foTg @8 @IHd a1 B dIR 2|

a4 fallaeror & s y@ a@t R faar fear srar 2

q&] AT HaT §RT UG &I S drell IR &7 9+ |

9 YR oA &1 T ST $1 difgd wu 7 aRaid fear S |

=IATH AT TR STEhad SYARAT UTd B BT G |

I AT AT BT I AN BT A Sl JAEAID © A bl HH B F 9% bl SYAE IR
Ui uwra 81 g |

O BT 9T dik R IR YerRl 8 faurfora fear s godr 2 -
T 99 A1 HRIEE

A fallazor @ s<la (Objects of Value Analysis):

S Y
SUGICEK]
I& DI ITARET 7 glhg BT

A fATelvor & SUANT : §9 qdb-ld BT YART 9] &I IUIINCT 98 & oy 98] & T &
Ao 9 olax gaal Al 9@ & faxgd e ® e S A& 21 g9a STt fad N
gfors= A e W fureT 9 ot & fa foar o ¥edr §1 39 dedie @ SUANT W ddfodd
RIS b fabrd A Aerar Herdl 8 SR A & adee ax] @l ard A [ gfg fRY swel
SUARET e ¥ AT fAerdr 2|
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